0000000000000000 (2,3,5,7,11,13,17
0Joooooooo)

gooooood

00 20170 120 80

goon

00 20170 120 80

2,3,5,7,11,13,170 00000000

2,3,5,7,11,13,1700000000000510510n+Q 000

Q=3516830000
P = 510510n + 351683

2P + 1 = 2(510510n + 351683) + 1 = 10210201 + 703366 + 1 = 10210201 + 703367
0000010210200 20 2003,5,7,11,13,17000000 10000000

703367 =7 x 89 x 1129 x 1

oooo
2P + 1 = 7(145860n + 100481)

o0obOooOOoovy0oo00obO0oO0oO00o0obO0oDOOoDOO0oO0bOOobOODOOobDOobO0oOobOobDOobDOn
goo

Q=13516910000
P = 510510n + 351691

2P 4+ 1 =2(510510n + 351691) + 1 = 10210201 + 703382 + 1 = 10210201 + 703383

0000010210200 20 2003,5,7,11,13,17000000 10000000

703383 = 3 x 234461 x 1



oooo
2P + 1 = 3(340340n + 234461)

000000003 000000000000DO000O000OO0DO0ODOO0ODOO0ODO0OO0ODOODOODODn
goo

Q=3516970000
P = 5105101 + 351697

2P + 1 =2(510510n 4+ 351697) + 1 = 1021020n + 703394 + 1 = 1021020n + 703395

0000010210200 20 2003,5,7,11,13,17000000 10000000

703395 =3 x3xHxTx7Tx11x29x1

0ooo
2P + 1 = 1155(884n + 609)

O0O00bOO00oDb11s0b00b0o0b0ooboooboo0boboboboooboobOooDbOoo
googno

Q=3517070000
P = 510510n + 351707

2P + 1 = 2(510510n + 351707) 4+ 1 = 10210201 + 703414 + 1 = 10210201 + 703415
0000010210200 20 2003,5,7,11,13,17000000 10000000

703415 = 5 x 140683 x 1

oooo
2P + 1 = 5(204204n + 140683)

oboobobooosOobUobUobOOobobo0obO0obDOobOobObOobUbDobDOobObOOobOobDOobDOoo
goo

Q=3517090000
P = 510510n + 351709

2P 4+ 1 =2(510510n + 351709) + 1 = 1021020n + 703418 + 1 = 10210201 + 703419

oo000010210200 20 2003,5,7,11,13,17000000 10000000

703419 = 3 x 234473 x 1

oooOo
2P + 1 = 3(340340n + 234473)

gooooooOo3soUobooobooUoboOoU0oOoU0bOoUbDOoUbDOoUbDbOUDbDOoOobDbOUODoOO
oono



Q=13517190000
P =510510n + 351719

2P + 1 =2(510510n + 351719) + 1 = 1021020n + 703438 + 1 = 1021020n + 703439

0000010210200 20 2003,5,7,11,13,17000000 10000000

703439 = 11 x 63949 x 1

oooo
2P + 1 = 11(92820n + 63949)

goboooooobonooooobooooooboooboobo0obDOooboboooobOoboDbOoo
goog

Q=3517210000
P = 510510n + 351721

2P + 1 =2(510510n + 351721) + 1 = 1021020n + 703442 + 1 = 1021020n + 703443

0000010210200 20 2003,5,7,11,13,17000000 10000000

703443 =3 x 13 x 17 x 1061 x 1

oooo
2P + 1 = 663(1540n + 1061)

o0obOobOobes300000O00O0O0OO0ODODODODOOUOODODODODODODOOO
good

Q=3517270000
P = 510510n + 351727

2P 4+ 1 =2(510510n + 351727) + 1 = 1021020n + 703454 + 1 = 10210201 + 703455

0000010210200 20 2003,5,7,11,13,17000000 10000000

703455 =3 x 5 x 23 x 2039 x 1

oooo
2P + 1 = 15(68068n + 46897)

00000000150 000000000000000000000000000000000
oooo
Q=13517310000

P = 510510n + 351731

2P + 1 =2(510510n + 351731) + 1 = 1021020n + 703462 + 1 = 1021020n + 703463



0000010210200 20 2003,5,7,11,13,17000000 1000000

703463 = 703463 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 192953

goboobooobooboboobboobbooboooboon

Q=3517330000
P = 510510n + 351733

2P + 1 = 2(510510n + 351733) 4+ 1 = 10210201 + 703466 + 1 = 10210201 + 703467
0000010210200 20 2003,5,7,11,13,17000000 10000000

703467 = 3 x 3 x 78163 x 1

oooOo
2P + 1 = 3(340340n + 234489)

obooboooo3obobobooooobobooooboboboobDobooobUobDOoooo
goo

Q=2351737 0000
P = 510510n + 351737

2P + 1 = 2(510510n + 351737) + 1 = 10210201 4 703474 + 1 = 10210200 + 703475
0000010210200 20 2003,5,7,11,13,17000000 10000000

703475 =5 x 5 x 19 x 1481 x 1

oooo
2P + 1 = 5(204204n + 140695)

ooooooboOs0OO0bOOO0bOOO0bOO0DOOO0DbDOO0ODOODOODOODOODbOODOO
goo

Q=3517390000
P = 510510n + 351739

2P + 1 =2(510510n + 351739) + 1 = 1021020n + 703478 + 1 = 10210201 + 703479

0000010210200 20 2003,5,7,11,13,17000000 10000000

703479 =3 x 7 x 139 x 241 x 1

oooo
2P + 1 = 21(48620n + 33499)

4



go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=13517490000
P = 510510n + 351749

2P + 1 =2(510510n + 351749) + 1 = 1021020n + 703498 + 1 = 1021020n + 703499
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

703499 = 703499 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 192989

oooboobooobooboboobboobboobooobooo

Q=13517510000
P = 510510n + 351751

2P + 1 = 2(510510n + 351751) 4+ 1 = 10210201 + 703502 + 1 = 10210201 + 703503
0000010210200 20 2003,5,7,11,13,17000000 10000000

703503 = 3 x 3 x 78167 x 1

good
2P + 1 = 3(340340n + 234501)

o0obobooo30bobobooooobobooDoOoboboboDobODobooobOobDOooDOoo
goo

Q=13517610000
P = 5105100 + 351761

2P + 1 = 2(510510n + 351761) 4+ 1 = 10210201 + 703522 + 1 = 10210201 4 703523
0000010210200 20 2003,5,7,11,13,17000000 1000000
703523 = 43 x 16361 x 1
0000 10210200000000000000
2P + 1 = 510510m + 193013

gbobooboooboobboobboobobooobuoonoboon

Q=3517630000
P = 510510n + 351763

2P + 1 =2(510510n + 351763) + 1 = 10210201 + 703526 + 1 = 1021020n + 703527

5



0000010210200 20 2003,5,7,11,13,17000000 10000000

703527 =3 x 11 x 21319 x 1

oooOo
2P + 1 = 33(30940n + 21319)

O0b0o0obO0oOoo33boooooooooboboooboobDo0obooboooooboOooDbOoo
good

Q=3517730000
P = 510510n + 351773

2P + 1 = 2(510510n + 351773) 4+ 1 = 10210201 4 703546 + 1 = 10210200 + 703547
0000010210200 20 2003,5,7,11,13,17000000 10000000

703547 =13 x 13 x 23 x 181 x 1

oooo
2P + 1 = 13(78540n + 54119)

goodoOobo0oyoobooOooobOoboobooOooOUoOoOoDOOobDOoOoDLDOobDOoboooboOooo
googo

Q=3517790000
P = 510510n + 351779

2P + 1 = 2(510510n + 351779) 4+ 1 = 10210201 + 703558 + 1 = 10210201 + 703559
0000010210200 20 2003,5,7,11,13,17000000 1000000

703559 = 703539 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 193049

goboobooobooboboobboobboobooobooo

Q=3517870000
P = 510510n + 351787

2P 4+ 1 =2(510510n + 351787) + 1 = 1021020n + 703574 + 1 = 1021020n + 703575

0000010210200 20 2003,5,7,11,13,17000000 10000000

703575 =3 x3x5xHxbH3xh9x1

oooo
2P + 1 = 15(68068n + 46905)

6



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=3517970000
P = 510510n + 351797

2P + 1 = 2(510510n + 351797) 4+ 1 = 10210201 4 703594 + 1 = 10210201 + 703595
0000010210200 20 2003,5,7,11,13,17000000 10000000

703595 = 5 x 109 x 1291 x 1

oooo
2P + 1 = 5(204204n + 140719)

g00ob0obOO00Os000D0000000D00ODODOOODOODODODOOOODDODODOD
goo

Q=13518030000
P = 510510n + 351803

2P 4+ 1 = 2(510510n + 351803) + 1 = 10210201 + 703606 + 1 = 10210201 + 703607
0000010210200 20 2003,5,7,11,13,17000000 1000000

703607 = 31 x 22697 x 1

Ooooo 10210200 000000000000

2P 4+ 1 = 510510m 4+ 193097

gbbogbogobogbbgobbooboooobuoonobagn

Q=3518090000
P = 510510n + 351809

2P 4+ 1 =2(510510n + 351809) + 1 = 1021020n + 703618 + 1 = 10210201 + 703619

0000010210200 20 2003,5,7,11,13,17000000 10000000

703619 = 7 x 100517 x 1

oooo
2P + 1 = 7(145860n + 100517)

o00ob0o0O0o0Ovy0O00bO00O0O0O000O0ODOO0DOO0OO0OO0ODOODOODOOO0OODODODOn
goo

Q=3518110000
P = 510510n + 351811

2P 4+ 1 =2(510510n + 351811) + 1 = 1021020n + 703622 + 1 = 10210201 + 703623

7



0000010210200 20 2003,5,7,11,13,17000000 10000000

703623 = 3 x 234541 x 1

oooo
2P + 1 = 3(340340n + 234541)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=23518170000
P = 510510n + 351817

2P +1 = 2(510510n + 351817) 4+ 1 = 10210201 4 703634 + 1 = 10210201 + 703635
0000010210200 20 2003,5,7,11,13,17000000 10000000

703635 =3 x 5 x 61 x 769 x 1

oooo
2P + 1 = 15(68068n + 46909)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=3518210000
P = 510510n + 351821

2P + 1 = 2(510510n + 351821) 4+ 1 = 10210201 + 703642 + 1 = 10210201 + 703643
0000010210200 20 2003,5,7,11,13,17000000 1000000

703643 = 703643 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 193133

goboobooobooboboobboobboobooobooo

Q=3518230000
P = 510510n + 351823

2P + 1 =2(510510n + 351823) + 1 = 10210201 + 703646 + 1 = 1021020n + 703647

0000010210200 20 2003,5,7,11,13,17000000 10000000

703647 =3 X3 x3x3IxTx17TxT7T3x1

oooo
2P +1 = 357(2860n + 1971)

8



OO00Oo0oOooOo3rogobodooooooobooooodooobo0ooooooDoooDoog
goog

Q=3518290000
P = 510510n + 351829

2P 4+ 1 =2(510510n + 351829) + 1 = 1021020n + 703658 + 1 = 10210201 + 703659
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

703659 = 3 x 11 x 21323 x 1

ooo0o
2P + 1 = 33(30940n + 21323)

0000000033 000000000boo0oo0o0oo0Do0oDbD0o0obOobDoOooDbOooODbOon
good

Q=23518330000
P = 510510n + 351833

2P +1 = 2(510510n + 351833) + 1 = 1021020n + 703666 + 1 = 1021020n + 703667
0000010210200 20 2003,5,7,11,13,17000000 1000000

703667 = 101 x 6967 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 193157

gboobgobogoobogbooboobbooboooboooboon

Q=13518390000
P = 510510n + 351839

2P + 1 = 2(510510n + 351839) 4+ 1 = 10210201 + 703678 4+ 1 = 10210201 + 703679
0000010210200 20 2003,5,7,11,13,17000000 1000000
703679 = 703679 x 1
0000 10210200000000000000
2P + 1 = 510510m + 193169

gbobogobooobooboboobboobbooobuooooboon

Q=3518470000
P = 510510n + 351847

2P 4+ 1 =2(510510n + 351847) + 1 = 1021020n + 703694 + 1 = 10210201 + 703695

9



0000010210200 20 2003,5,7,11,13,17000000 10000000

703695 =3 x 5 x 43 x 1091 x 1

oooo
2P + 1 = 15(68068n + 46913)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=13518510000
P = 5105100 + 351851

2P + 1 = 2(510510n + 351851) 4+ 1 = 10210201 + 703702 + 1 = 10210201 + 703703
0000010210200 20 2003,5,7,11,13,17000000 10000000

703703 =7x 11 x 13 x 19 x 37 x 1

oooo
2P +1 =1001(1020n + 703)

gooobooolloolboOoboOoOoU0OoOoOobOOoDOO0bOoOOoOobOUOOOoUOOoDOobboOoboO
googn

Q=3518530000
P = 510510n + 351853

2P 4+ 1 =2(510510n + 351853) + 1 = 10210201 + 703706 + 1 = 1021020n + 703707
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

703707 =3 x 127 x 1847 x 1

oooo
2P + 1 = 3(340340n + 234569)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=13518590000
P = 5105100 + 351859

2P 4+ 1 =2(510510n + 351859) + 1 = 1021020n + 703718 + 1 = 1021020n + 703719

0000010210200 20 2003,5,7,11,13,17000000 10000000

703719 =3 x 3 x 78191 x 1

oooo
2P + 1 = 3(340340n + 234573)

10



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3518630000
P = 510510n + 351863

2P + 1 =2(510510n + 351863) + 1 = 1021020n + 703726 + 1 = 1021020n + 703727
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

703727 = 149 x 4723 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 193217

oooboobooobooboboobboobboobooobooo

Q=3518770000
P = 510510n + 351877

2P + 1 = 2(510510n + 351877) 4+ 1 = 10210201 + 703754 + 1 = 10210201 + 703755
0000010210200 20 2003,5,7,11,13,17000000 10000000

703755 =3 x3x 3 xHx13 x401 x 1

oooo
2P + 1 = 195(5236n + 3609)

ooobobgoolysoooooooooobobooooobooobobUoboboooDoooo
googd

Q=23518810000
P = 510510n + 351881

2P + 1 = 2(510510n + 351881) 4 1 = 10210201 + 703762 + 1 = 10210201 + 703763
0000010210200 20 2003,5,7,11,13,17000000 1000000
703763 = 703763 x 1
0000 10210200000000000000
2P + 1 = 510510m + 193253

gbobogobooobooboboobboobbooobuooooboon

Q=3518870000
P = 510510n + 351887

2P 4+ 1 =2(510510n + 351887) + 1 = 1021020n + 703774 + 1 = 1021020n + 703775

11



0000010210200 20 2003,5,7,11,13,17000000 10000000

703775 =5 x 5 x 28151 x 1

oooo
2P + 1 = 5(204204n + 140755)

ooobOoobooos0b0b0obOOoO0b0o0b0ObDOobOUOoObO0ObUObDOobDOobObOObOobDOobDOoo
goo

Q=351889 0000
P = 510510n + 351889

2P + 1 = 2(510510n + 351889) 4 1 = 10210201 + 703778 4+ 1 = 10210201 + 703779
0000010210200 20 2003,5,7,11,13,17000000 10000000

703779 =3 x 19 x 12347 x 1

oooo
2P + 1 = 3(340340n + 234593)

000000003 000000000000DO000O0000DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3518930000
P = 510510n + 351893

2P +1 = 2(510510n + 351893) + 1 = 1021020n + 703786 + 1 = 1021020n + 703787
0000010210200 20 2003,5,7,11,13,17000000 10000000

703787 =7 x 7T x 53 x271 x1

oooo
2P + 1 = 7(145860n + 100541)

goooooogvyoUoooOoooUobOoU0oOOoU0bOoU0UDOOoUbDOoUbObOUDbDOUOobDbOUODbOO
goo

Q=351899 0000
P = 510510n + 351899

2P 4+ 1 =2(510510n + 351899) + 1 = 1021020n + 703798 + 1 = 1021020n + 703799

0000010210200 20 2003,5,7,11,13,17000000 1000000

703799 = 103 x 6833 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 193289

12



gboboobogobogoboboobboobooobooooboon

Q=1351907 0000
P = 5105100 + 351907

2P + 1 =2(510510n 4 351907) + 1 = 1021020n + 703814 + 1 = 1021020n + 703815

0000010210200 20 2003,5,7,11,13,17000000 10000000

703815 =3 x5 x7x6703 x1

oooO
2P + 1 = 105(9724n + 6703)

goooooboolesb0ooboOoboOo0oOoOOoobDOoOobOOoUOobOOobOOo0oOOoOoDOoODOO
good

Q=3519130000
P = 510510n + 351913

2P + 1 =2(510510n + 351913) + 1 = 10210201 + 703826 + 1 = 1021020n + 703827

0000010210200 20 2003,5,7,11,13,17000000 10000000

703827 =3 x 3 x 78203 x 1

oooo
2P + 1 = 3(340340n + 234609)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=3519190000
P = 510510n + 351919

2P 4+ 1 =2(510510n + 351919) 4+ 1 = 1021020n + 703838 + 1 = 10210201 + 703839

0000010210200 20 2003,5,7,11,13,17000000 10000000

703839 = 3 x 234613 x 1

oooo
2P + 1 = 3(340340n + 234613)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=3519290000
P = 5105100 + 351929

2P 4+ 1 =2(510510n + 351929) + 1 = 10210201 + 703858 + 1 = 10210201 + 703859

13



0000010210200 20 2003,5,7,11,13,17000000 10000000

703859 = 13 x 29 x 1867 x 1

oooo
2P 4+ 1 = 13(78540n + 54143)

oboobooboooooobooooobobooobooboobooboboooobOoobOoo
goog

Q=13519310000
P = 5105100 + 351931

2P + 1 = 2(510510n + 351931) 4+ 1 = 10210201 4 703862 + 1 = 10210201 + 703863
0000010210200 20 2003,5,7,11,13,17000000 10000000

703863 =3 x 3 x 3 x 131 x 199 x 1

oooo
2P + 1 = 3(340340n + 234621)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3519370000
P = 510510n + 351937

2P +1 = 2(510510n + 351937) + 1 = 1021020n + 703874 + 1 = 1021020n + 703875
0000010210200 20 2003,5,7,11,13,17000000 10000000

703875 =3 x5 x5 xHx 1877 x 1

oooo
2P + 1 = 15(68068n + 46925)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=3519410000
P = 5105100 + 351941

2P 4+ 1 =2(510510n + 351941) + 1 = 1021020n + 703882 + 1 = 10210201 + 703883

0000010210200 20 2003,5,7,11,13,17000000 1000000

703883 = 703883 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 193373

14



gboboobogobogoboboobboobooobooooboon

Q=3519430000
P = 5105100 + 351943

2P + 1 =2(510510n + 351943) + 1 = 1021020n + 703886 + 1 = 1021020n + 703887

0000010210200 20 2003,5,7,11,13,17000000 10000000

703887 = 3 x 234629 x 1

oooo
2P + 1 = 3(340340n + 234629)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=3519470000
P = 510510n + 351947

2P + 1 =2(510510n + 351947) + 1 = 1021020n + 703894 + 1 = 10210201 + 703895

0000010210200 20 2003,5,7,11,13,17000000 10000000

703895 = 5 x 140779 x 1

oooo
2P + 1 = 5(204204n + 140779)

obobobooosOobobUobOOobobo0obOobOobOUobObUObUObDOobDOobObOobOobDOooOoo
goo

Q=3519590000
P = 5105101 + 351959

2P 4+ 1 =2(510510n + 351959) + 1 = 1021020n + 703918 + 1 = 10210201 + 703919

0000010210200 20 2003,5,7,11,13,17000000 10000000

703919 = 17 x 47 x 881 x 1

oooo
2P + 1 = 17(60060n + 41407)

oooooooolyoooooooooobooooboobooooOoboOoooOObOOoooObOOooDObOn
oooo

Q=3519610000
P = 510510n + 351961

2P 4+ 1 =2(510510n + 351961) + 1 = 10210201 + 703922 + 1 = 10210201 + 703923

15



0000010210200 20 2003,5,7,11,13,17000000 10000000

703923 =3 x 11 x 83 x 257 x 1

oooo
2P + 1 = 33(30940n + 21331)

o00o0obO0oOoo33booooooooobobooobooobDo0oboobooooobOoobOoo
good

Q=3519710000
P = 510510n + 351971

2P + 1 = 2(510510n + 351971) 4+ 1 = 10210201 + 703942 + 1 = 10210201 + 703943
0000010210200 20 2003,5,7,11,13,17000000 1000000

703943 = 703943 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 193433

gboboobogobooboboobboobbooobuoonooboon

Q=13519730000
P = 5105100 + 351973

2P + 1 = 2(510510n + 351973) 4+ 1 = 10210201 4 703946 + 1 = 10210201 + 703947
0000010210200 20 2003,5,7,11,13,17000000 10000000

703947 = 3 x 461 x 509 x 1

oooo
2P + 1 = 3(340340n + 234649)

oooooooo3sooooooooobooooboOobooboobDOoobboODoOobDboOoDboO
goo

Q=3519770000
P = 510510n + 351977

2P + 1 =2(510510n + 351977) + 1 = 1021020n + 703954 + 1 = 10210201 + 703955

0000010210200 20 2003,5,7,11,13,17000000 10000000

703955 =5 x 7 x 20113 x 1

oooo
2P + 1 = 35(29172n + 20113)

16



Oo0oOdoOooOOo3o00b0b00ooob0dbooboo0oooo0oDoobDUooDOobDoboooooog
goog

Q=13519790000
P = 510510n + 351979

2P 4+ 1 =2(510510n + 351979) + 1 = 1021020n + 703958 + 1 = 10210201 + 703959

0000010210200 20 2003,5,7,11,13,17000000 10000000

703959 = 3 x 234653 x 1

good
2P + 1 = 3(340340n + 234653)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=13519830000
P = 510510n + 351983

2P 4+ 1 =2(510510n + 351983) + 1 = 10210201 + 703966 + 1 = 1021020n + 703967

0000010210200 20 2003,5,7,11,13,17000000 10000000

703967 = 11 x 63997 x 1

oooo
2P + 1 = 11(92820n + 63997)

goooooboOolnoobooO0ooobO0bOobOoU0oOoU0oOoOoDOobDOoOoDOobDOobDobOoboOoooO
good

Q=3519910000
P = 510510n + 351991

2P + 1 = 2(510510n + 351991) 4+ 1 = 10210201 + 703982 + 1 = 10210201 + 703983
0000010210200 20 2003,5,7,11,13,17000000 10000000

703983 =3 X 7 x 7x 4789 x 1

oooo
2P + 1 = 21(48620n + 33523)

oboobOoobo21000b0b00ob00oob0booo0booo0b0o0oboobUobDooobOoobOoo
good

Q=1351997 0000
P = 5105100 + 351997

17



2P + 1 =2(510510n 4 351997) + 1 = 1021020n + 703994 + 1 = 1021020n + 703995

0000010210200 20 2003,5,7,11,13,17000000 10000000

703995 = 3 x 5 x 46933 x 1

oooo
2P + 1 = 15(68068n + 46933)

obooooooloooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q =3520030000
P = 510510n + 352003

2P + 1 = 2(510510n + 352003) + 1 = 10210201 4 704006 + 1 = 10210201 + 704007
0000010210200 20 2003,5,7,11,13,17000000 10000000

704007 =3 x 3 x 19 x 23 x 179 x 1

good
2P + 1 = 3(340340n + 234669)

o00ob0ooO0oo30b00b0obooo0ooboobooDoOobOobobDobDobOoobOobDOobDOon
goo

Q=3520070000
P = 510510n + 352007

2P + 1 = 2(510510n + 352007) 4+ 1 = 10210201 4 704014 + 1 = 10210201 + 704015
0000010210200 20 2003,5,7,11,13,17000000 10000000

704015 =5 x 13 x 10831 x 1

oooo
2P + 1 = 65(15708n + 10831)

gOooOdoOoboOde 000000 0ODOOOOOOUOOUOOODODOODODObDODDOOObOO
good

Q=3520130000
P = 510510n + 352013

2P 4+ 1 =2(510510n + 352013) + 1 = 1021020n + 704026 + 1 = 1021020n + 704027

0000010210200 20 2003,5,7,11,13,17000000 1000000

704027 = 704027 x 1

18



0000 102102000000000000000

2P 4+ 1 =510510m + 193517

gbobooobogobooboboobboobboooboooboon

Q=3520210000
P = 510510n + 352021

2P + 1 = 2(510510n + 352021) 4+ 1 = 10210201 4 704042 + 1 = 10210201 4 704043
0000010210200 20 2003,5,7,11,13,17000000 10000000

704043 =3 x 3 x 137 x 571 x 1

oooo
2P + 1 = 3(340340n + 234681)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
oono

Q=3520310000
P = 510510n + 352031

2P + 1 = 2(510510n + 352031) 4 1 = 10210201 4 704062 + 1 = 10210201 + 704063
0000010210200 20 2003,5,7,11,13,17000000 1000000

704063 = 347 x 2029 x 1
oooo 10210200 000000000000
2P 4+ 1 =510510m + 193553

goboobooobooboboobboobbooboooboon

Q=3520390000
P = 5105101 + 352039

2P 4+ 1 =2(510510n + 352039) + 1 = 10210201 + 704078 + 1 = 10210201 + 704079

0000010210200 20 2003,5,7,11,13,17000000 10000000

704079 =3 x 3 x 3 x 8 x 293 x 1

oooOo
2P + 1 = 3(340340n + 234693)

gbooboooo3oboboboooooboboooobobobooboDobooobUobobooo
goo

19



Q=13520430000
P = 510510n + 352043

2P + 1 = 2(510510n + 352043) 4+ 1 = 10210201 4 704086 + 1 = 10210201 + 704087
0000010210200 20 2003,5,7,11,13,17000000 1000000

704087 = 704087 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m 4+ 193577

gbobooobogobooboboobboobooobuoooboon

Q=3520490000
P = 5105100 + 352049

2P + 1 =2(510510n + 352049) + 1 = 1021020n + 704098 + 1 = 1021020n + 704099

0000010210200 20 2003,5,7,11,13,17000000 10000000

704099 =11 x 11 x 11 x 23 x 23 x 1

oooo
2P + 1 = 11(92820n + 64009)

goooooboonooooooobobooooobooooDobDOooDOobDOobooboOoboo
good

Q=3520570000
P = 510510n + 352057

2P 4+ 1 =2(510510n + 352057) + 1 = 1021020n + 704114 + 1 = 1021020n + 704115

0000010210200 20 2003,5,7,11,13,17000000 10000000

704115 =3 x 3 x 5 x 15647 x 1

oooo
2P + 1 = 15(68068n + 46941)

ooboooooolibhooooboooooboboooboobooboobooooobOooboo
good

Q=3520610000
P = 510510n + 352061

2P 4+ 1 =2(510510n + 352061) + 1 = 1021020n + 704122 + 1 = 10210201 + 704123

20



0000010210200 20 2003,5,7,11,13,17000000 10000000

704123 =7 x 17T x 61 x 97 x 1

oooo
2P + 1 = 119(8580n + 5917)

obooboboobollyooooooootboobobobooooooobobUobUobooooooo
good

Q =3520630000
P = 510510n + 352063

2P + 1 = 2(510510n + 352063) + 1 = 10210201 + 704126 + 1 = 10210200 + 704127
0000010210200 20 2003,5,7,11,13,17000000 10000000

704127 =3 x 79 x 2971 x 1

oooo
2P + 1 = 3(340340n + 234709)

gooooooo3sooooooooobooooo0bOo0obOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=3520670000
P = 510510n + 352067

2P 4+ 1 =2(510510n + 352067) + 1 = 1021020n + 704134 + 1 = 1021020n + 704135
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

704135 = 5 x 140827 x 1

oooo
2P + 1 = 5(204204n + 140827)

ooobobooos0b0b0ObOOoO0b0o0Ob0ObDOobOUOObO0ObUObDOobDOobObOObOobDOobDOC
goo

Q=3520600000
P = 5105100 + 352069

2P + 1 =2(510510n + 352069) + 1 = 1021020n + 704138 + 1 = 1021020n + 704139

0000010210200 20 2003,5,7,11,13,17000000 10000000

704139 = 3 x 234713 x 1

oooo
2P + 1 = 3(340340n + 234713)

21



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3520730000
P = 510510n + 352073

2P + 1 =2(510510n + 352073) + 1 = 10210201 + 704146 + 1 = 1021020n + 704147
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

704147 = 37 x 19031 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 193637

oooboobooobooboboobboobboobooobooo

Q=3520810000
P = 510510n + 352081

2P + 1 = 2(510510n + 352081) 4 1 = 10210201 + 704162 + 1 = 10210201 + 704163
0000010210200 20 2003,5,7,11,13,17000000 10000000

704163 = 3 x 234721 x 1

ogooo
2P + 1 = 3(340340n + 234721)

g0obobooo30boboboooooboobooDoobobooDobDobooobUobDOobDOoo
goo

Q=13520010000
P = 5105100 + 352091

2P + 1 = 2(510510n + 352091) 4+ 1 = 10210201 + 704182 + 1 = 10210201 + 704183
0000010210200 20 2003,5,7,11,13,17000000 1000000
704183 = 704183 x 1
0000 10210200000000000000
2P + 1 = 510510m + 193673

gbobooboooboobboobboobobooobuoonoboon

Q=3520970000
P = 510510n + 352097

2P 4+ 1 =2(510510n + 352097) + 1 = 1021020n + 704194 + 1 = 1021020n + 704195

22



0000010210200 20 2003,5,7,11,13,17000000 10000000

704195 = 5 x 140839 x 1

oooo
2P + 1 = 5(204204n + 140839)

o0dobOooOOo0os000b0b00O0O00ObO0ODbDObOOObOO0ObDObDObDObOOODbDObDODbDOn
goo

Q=13521030000
P = 510510n + 352103

2P + 1 = 2(510510n + 352103) 4+ 1 = 10210201 4 704206 + 1 = 10210201 + 704207
0000010210200 20 2003,5,7,11,13,17000000 10000000

704207 = 7 x 29 x 3469 x 1

oooo
2P + 1 = 7(145860n + 100601)

goooooogvoUoooOoooOooOOoU0OOoU0bDOU0UDOoUobDOoUbDOUODbDOOobDOUODOO
oono

Q=3521090000
P = 510510n + 352109

2P + 1 = 2(510510n + 352109) 4+ 1 = 10210201 + 704218 + 1 = 10210201 + 704219
0000010210200 20 2003,5,7,11,13,17000000 1000000

704219 = 704219 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 193709

goboobooobooboboobboobboobooobooo

Q=3521110000
P =510510n + 352111

2P + 1 =2(510510n + 352111) + 1 = 1021020n + 704222 + 1 = 10210201 + 704223

0000010210200 20 2003,5,7,11,13,17000000 10000000

704223 =3 x 3 x 13 x 13 x 463 x 1

oooo
2P + 1 = 39(26180n + 18057)

23



oo0oOdoOooOo3ooooooobdboobooU0ooUooooDOobDooDOobDOoboooooog
goog

Q=3521170000
P = 510510n + 352117

2P 4+ 1 =2(510510n + 352117) + 1 = 1021020n + 704234 + 1 = 1021020n + 704235

0000010210200 20 2003,5,7,11,13,17000000 10000000

704235 =3 x5 x T7Tx 19 x 353 x1

oooo
2P + 1 = 105(9724n + 6707)

go0obOobOools0ob0oo0oo0o0oooboobooOooOob0oobOobOobOoDOooboDOoboon
good

Q=23521230000
P = 510510n + 352123

2P 4+ 1 =2(510510n + 352123) + 1 = 10210201 + 704246 + 1 = 1021020n + 704247

0000010210200 20 2003,5,7,11,13,17000000 10000000

704247 = 3 x 234749 x 1

oooo
2P + 1 = 3(340340n + 234749)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=3521270000
P = 510510n + 352127

2P + 1 = 2(510510n + 352127) + 1 = 10210201 + 704254 + 1 = 10210200 + 704255
0000010210200 20 2003,5,7,11,13,17000000 10000000

704255 =5 x 83 x 1697 x 1

oooo
2P + 1 = 5(204204n + 140851)

g0oboboOoos0b0b0obO0ob0U0o0b0bOobOUoO0bO0OobOobOOobDOobO0oobUobDOobDOoo
goo

Q=3521290000
P = 510510n + 352129

24



2P + 1 =2(510510n + 352129) + 1 = 1021020n + 704258 + 1 = 1021020n + 704259

0000010210200 20 2003,5,7,11,13,17000000 10000000

704259 = 3 x 3 x 17 x 4603 x 1

oooo
2P + 1 = 51(20020n + 13809)

gbogoooooslboooobooooobobooobooboobooboboooobOobobOoon
goog

Q=3521330000
P = 510510n + 352133

2P + 1 = 2(510510n + 352133) + 1 = 10210201 + 704266 + 1 = 10210201 + 704267
0000010210200 20 2003,5,7,11,13,17000000 1000000

704267 = 739 x 953 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 193757

gboboobooobooboboobboobboobooobooo

Q=3521390000
P = 510510n + 352139

2P + 1 = 2(510510n + 352139) + 1 = 10210201 + 704278 + 1 = 10210201 + 704279
0000010210200 20 2003,5,7,11,13,17000000 1000000
704279 = 704279 x 1
0000 10210200000000000000
2P + 1 = 510510m + 193769

gbooboobooobooboboobboobboooboooboon

Q=3521410000
P = 5105100 + 352141

2P + 1 =2(510510n + 352141) + 1 = 1021020n + 704282 + 1 = 10210201 + 704283

0000010210200 20 2003,5,7,11,13,17000000 10000000

704283 =3 x 23 x 59 x 173 x 1

25



oooo
2P + 1 = 3(340340n + 234761)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3521470000
P = 510510n + 352147

2P 4+ 1 = 2(510510n + 352147) + 1 = 10210200 + 704294 + 1 = 10210201 + 704295
0000010210200 20 2003,5,7,11,13,17000000 10000000

704295 =3 x3x3x3xHx37Tx47x1

oooo
2P + 1 = 15(68068n + 46953)

ooooooOoolooooooooooooooobooooboooooOobooooobooooDoobOn
oooo

Q=3521510000
P = 510510n + 352151

2P + 1 = 2(510510n + 352151) 4+ 1 = 10210201 + 704302 + 1 = 10210201 + 704303
0000010210200 20 2003,5,7,11,13,17000000 1000000
704303 = 704303 x 1
0000 10210200000000000000
2P + 1 = 510510m + 193793

gboboobogobogbooboobboobbooobuoooboon

Q=3521530000
P = 510510n + 352153

2P + 1 =2(510510n + 352153) + 1 = 1021020n + 704306 + 1 = 1021020n + 704307

0000010210200 20 2003,5,7,11,13,17000000 10000000

704307 = 3 x 234769 x 1

oooo
2P + 1 = 3(340340n + 234769)

gooooooOo3sooooooooobooooo0bOoUobDOooDbOoUobbOObDOoOobboUODoO
goo

26



Q=23521590000
P = 510510n + 352159

2P + 1 = 2(510510n + 352159) 4+ 1 = 10210201 + 704318 + 1 = 10210201 + 704319
0000010210200 20 2003,5,7,11,13,17000000 10000000

704319 =3 x 7 x 11 x 3049 x 1

oooo
2P + 1 = 231(4420n + 3049)

OO000o0d0oOOo23l000o00d0oo00oo00oDooooodoo0bo0ooooooDOooDoo
goog

Q=3521690000
P = 510510n + 352169

2P + 1 = 2(510510n + 352169) + 1 = 10210201 + 704338 + 1 = 10210201 + 704339
0000010210200 20 2003,5,7,11,13,17000000 1000000

704339 = 41 x 41 x 419 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 193829

goboobooobooboboobboobboobuoooboon

Q=3521710000
P = 5105100 + 352171

2P + 1 =2(510510n + 352171) + 1 = 1021020n + 704342 + 1 = 10210201 + 704343

0000010210200 20 2003,5,7,11,13,17000000 10000000

704343 = 3 x 234781 x 1

oooo
2P + 1 = 3(340340n + 234781)

obooboobooo3obobooooooboboooobobobDoboDobooobUoboooo
goo

Q=352181 0000
P = 510510n + 352181

2P 4+ 1 =2(510510n + 352181) + 1 = 1021020n + 704362 + 1 = 10210201 + 704363

27



0000010210200 20 2003,5,7,11,13,17000000 10000000

704363 = 11 x 64033 x 1

oooo
2P + 1 = 11(92820n + 64033)

oboobOoobolnoooooobooobObooobooobo0oboobUobDoooDbOoobOoo
googd

Q=3521930000
P = 510510n + 352193

2P + 1 = 2(510510n + 352193) 4+ 1 = 10210201 4 704386 + 1 = 10210200 + 704387
0000010210200 20 2003,5,7,11,13,17000000 1000000

704387 =19 x 131 x 283 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 193877

gboboobogobooboboobboobbooobuoonobaon

Q=3521990000
P = 510510n + 352199

2P 4+ 1 =2(510510n + 352199) + 1 = 1021020n + 704398 + 1 = 1021020n + 704399
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
704399 = 704399 x 1
o000 10210200 000000000000
2P +1 = 510510m + 193889

ooboobooobooboboobboobboobooobooo

Q=23522010000
P = 510510n + 352201

2P + 1 =2(510510n + 352201) + 1 = 10210201 + 704402 + 1 = 10210201 + 704403

0000010210200 20 2003,5,7,11,13,17000000 10000000

704403 =3 x 3 x 3 x T x 3727 x 1

oooo
2P + 1 = 21(48620n + 33543)

28



go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=23522070000
P = 510510n + 352207

2P + 1 = 2(510510n + 352207) 4+ 1 = 10210201 4 704414 + 1 = 10210200 + 704415
0000010210200 20 2003,5,7,11,13,17000000 10000000

704415 =3 x5 x 151 x 311 x 1

oooo
2P + 1 = 15(68068n -+ 46961)

o00o0obO0ooobooobooobOoooOoooObO0ooDOO0o0obO0oOobUobDoooDbOoboDbOoo
good

Q=23522110000
P = 510510n + 352211

2P 4+ 1 = 2(510510n + 352211) 4+ 1 = 10210200 4 704422 + 1 = 1021020n + 704423
0000010210200 20 2003,5,7,11,13,17000000 1000000

704423 = 53 x 13291 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 193913

gbbogbogobogbbgobbooboooobuoonobagn

Q=3522130000
P = 510510n + 352213

2P + 1 =2(510510n + 352213) + 1 = 10210201 + 704426 + 1 = 1021020n + 704427

0000010210200 20 2003,5,7,11,13,17000000 10000000

704427 = 3 x 234809 x 1

oooo
2P + 1 = 3(340340n + 234809)

o00b0o0O0o03000b0000000b00bO0oOD0oO0b00obO0oDOOobODOoOOoOobOobDOoDbDOn
goo

Q=3522170000
P = 510510n + 352217

2P 4+ 1 =2(510510n + 352217) + 1 = 1021020n + 704434 + 1 = 1021020n + 704435

29



0000010210200 20 2003,5,7,11,13,17000000 10000000

704435 = 5 x 89 x 1583 x 1

oooo
2P + 1 = 5(204204n + 140887)

oboobOoooosOb0obOobOUobObo0obO0obOobOUobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=3522290000
P = 510510n + 352229

2P + 1 = 2(510510n + 352229) + 1 = 10210201 + 704458 + 1 = 10210201 + 704459
0000010210200 20 2003,5,7,11,13,17000000 10000000

704459 =7 x 157 x 641 x 1

oooo
2P + 1 = 7(145860n + 100637)

goooooobogvyooooOoooOobOoOooOOoO0obOo0obDOoOoDOoOobDOUODOOobDbOUODboOO
goo

Q=3522370000
P = 510510n + 352237

2P 4+ 1 =2(510510n + 352237) + 1 = 1021020n + 704474 + 1 = 1021020n + 704475
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

704475 =3 x3 x5 x5Hx31x101 x1

oooo
2P + 1 = 15(68068n + 46965)

oobooboooobooooooooobobooobooboobUoobobooooboobOoo
googd

Q=2352241 0000
P = 510510n + 352241

2P + 1 =2(510510n + 352241) + 1 = 1021020n + 704482 + 1 = 1021020n + 704483

0000010210200 20 2003,5,7,11,13,17000000 10000000

704483 = 13 x 47 x 1153 x 1

oooo
2P + 1 = 13(78540n + 54191)

30



go0oOdo0obO0o3oooo0ooobo0obooOooU0ooUooooOOobDOoUoDOobDOoboooooog
goog

Q=3522430000
P = 510510n + 352243

2P + 1 = 2(510510n + 352243) + 1 = 10210201 4 704486 + 1 = 10210200 + 704487
0000010210200 20 2003,5,7,11,13,17000000 10000000

704487 = 3 x 7 x 33547 x 1

oooo
2P + 1 = 21(48620n + 33547)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=23522490000
P = 510510n + 352249

2P 4+ 1 = 2(510510n + 352249) + 1 = 10210201 4 704498 + 1 = 1021020n + 704499
0000010210200 20 2003,5,7,11,13,17000000 10000000

704499 = 3 x 234833 x 1

good
2P + 1 = 3(340340n + 234833)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=23522590000
P = 510510n + 352259

2P + 1 = 2(510510n + 352259) 4+ 1 = 10210201 4 704518 + 1 = 10210201 + 704519
0000010210200 20 2003,5,7,11,13,17000000 1000000
704519 = 59 x 11941 x 1
0000 10210200000000000000
2P + 1 = 510510m + 194009

gbooboobooobooboboobboobboooboooboon

Q=23522670000
P = 510510n + 352267

2P 4+ 1 =2(510510n + 352267) + 1 = 1021020n + 704534 + 1 = 1021020n + 704535

31



0000010210200 20 2003,5,7,11,13,17000000 10000000

704535 =3 x5 x 13 x 3613 x 1

oooo
2P + 1 =195(5236n + 3613)

oboobobgoolysooooooooooboboboooobooobobobobooooooo
good

Q=2352271 0000
P = 510510n + 352271

2P + 1 = 2(510510n + 352271) 4+ 1 = 10210201 + 704542 + 1 = 10210201 + 704543
0000010210200 20 2003,5,7,11,13,17000000 10000000

704543 = 7 x 100649 x 1

oooo
2P + 1 = 7(145860n + 100649)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=3522730000
P = 510510n + 352273

2P 4+ 1 =2(510510n + 352273) + 1 = 10210201 + 704546 + 1 = 1021020n + 704547
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

704547 = 3 x 3 x 78283 x 1

oooo
2P + 1 = 3(340340n + 234849)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=3522770000
P = 5105100 + 352277

2P 4+ 1 =2(510510n + 352277) + 1 = 1021020n + 704554 + 1 = 1021020n + 704555

0000010210200 20 2003,5,7,11,13,17000000 10000000

704555 =5 x 29 x 43 x 113 x 1

oooo
2P + 1 = 5(204204n + 140911)

32



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=23522790000
P = 510510n + 352279

2P + 1 = 2(510510n + 352279) + 1 = 1021020n + 704558 + 1 = 1021020n + 704559
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

704559 = 3 x 23 x 10211 x 1

good
2P + 1 = 3(340340n + 234853)

o00b0o0O0o03000b0000000b00obO0oODoO0bO0obOoDOOobODOoO0oOobOobDOoDOn
goo

Q=23522830000
P = 510510n + 352283

2P + 1 = 2(510510n + 352283) + 1 = 1021020n + 704566 + 1 = 1021020n + 704567
0000010210200 20 2003,5,7,11,13,17000000 1000000

704567 = 704567 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 194057

gboobgobogoobogbooboobbooboooboooboon

Q=13523010000
P = 5105100 + 352301

2P + 1 = 2(510510n + 352301) 4+ 1 = 10210201 + 704602 + 1 = 10210201 + 704603
0000010210200 20 2003,5,7,11,13,17000000 1000000
704603 = 704603 x 1
0000 10210200000000000000
2P + 1 = 510510m + 194093

gbobogobooobooboboobboobbooobuooooboon

Q=3523070000
P = 510510n + 352307

2P 4+ 1 =2(510510n + 352307) + 1 = 1021020n + 704614 + 1 = 1021020n + 704615

33



0000010210200 20 2003,5,7,11,13,17000000 10000000

704615 =5 x 19 x 7417 x 1

oooo
2P + 1 = 5(204204n + 140923)

oboobOoooosOb0obOobOUobObo0obO0obOobOUobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=3523090000
P = 510510n + 352309

2P + 1 = 2(510510n + 352309) 4 1 = 10210201 + 704618 + 1 = 10210201 + 704619
0000010210200 20 2003,5,7,11,13,17000000 10000000

704619 =3 x 3 x 3 x 3 x 8699 x 1

oooo
2P + 1 = 3(340340n + 234873)

gooooooo3sooooooooobooooo0bOo0obOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=23523210000
P = 510510n + 352321

2P 4+ 1 =2(510510n + 352321) + 1 = 1021020n + 704642 + 1 = 10210201 + 704643
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

704643 = 3 x 193 x 1217 x 1

oooo
2P + 1 = 3(340340n + 234881)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=1352327 0000
P = 5105100 + 352327

2P 4+ 1 =2(510510n + 352327) + 1 = 1021020n + 704654 + 1 = 1021020n + 704655

0000010210200 20 2003,5,7,11,13,17000000 10000000

704655 =3 x 3 x5 x T x2237 x 1

0ooo
2P + 1 = 105(9724n + 6711)

34



gooooOooOoles0dOoboO0O0oO00DOO00ODOoU0ODOOUDOObDO0O0OOOUODOUODOO
goog

Q=3523330000
P = 510510n + 352333

2P + 1 = 2(510510n + 352333) + 1 = 10210201 4 704666 + 1 = 10210201 + 704667
0000010210200 20 2003,5,7,11,13,17000000 10000000

704667 = 3 x 17 x 41 x 337 x 1

oooo
2P + 1 = 51(20020n + 13817)

O0000O0O0oOsl 0000000000000 b00oo0bO0o0ob0o0obUobDoOoDbOobODbOoo
good

Q=13523370000
P = 510510n + 352337

2P 4+ 1 = 2(510510n + 352337) + 1 = 10210200 + 704674 + 1 = 10210201 + 704675
0000010210200 20 2003,5,7,11,13,17000000 10000000

704675 =5 x5 x 71 x 397 x 1

oooo
2P + 1 = 5(204204n + 140935)

obooboobooosOobUobOobOOobObo0ob0obDOobOobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=3523430000
P = 510510n + 352343

2P + 1 = 2(510510n + 352343) 4+ 1 = 10210201 + 704686 + 1 = 10210201 + 704687
0000010210200 20 2003,5,7,11,13,17000000 1000000
704687 = 704687 x 1
0000 10210200000000000000
2P + 1 = 510510m + 194177

gbooboobooobooboboobboobboooboooboon

Q=13523490000
P = 510510n + 352349

2P 4+ 1 =2(510510n + 352349) + 1 = 10210201 + 704698 + 1 = 10210201 + 704699

35



0000010210200 20 2003,5,7,11,13,17000000 1000000

704699 = 331 x 2129 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 194189

gboobgobogobooboboobboobbooobooooboon

Q=23523510000
P = 5105100 + 352351

2P + 1 = 2(510510n + 352351) 4+ 1 = 10210201 + 704702 + 1 = 10210201 + 704703
0000010210200 20 2003,5,7,11,13,17000000 10000000

704703 = 3 x 467 x 503 x 1

ooo0o
2P + 1 = 3(340340n + 234901)

gboobobooo3obobooooooboboooobOobobooboDoboboobOobobooo
goo

Q=3523570000
P = 510510n + 352357

2P + 1 = 2(510510n + 352357) 4+ 1 = 10210201 4 704714 + 1 = 10210200 + 704715
0000010210200 20 2003,5,7,11,13,17000000 10000000

704715 =3 x 5 x 11 x 4271 x 1

0ooo
2P + 1 = 165(6188n + 4271)

oooooooolesoooooooooobobooooooooboboooooooooobobbOooo
oooo

Q=3523610000
P = 510510n + 352361

2P + 1 =2(510510n + 352361) + 1 = 1021020n + 704722 + 1 = 1021020n + 704723

0000010210200 20 2003,5,7,11,13,17000000 1000000

704723 =31 x 127 x 179 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 194213

36



gboboobogobogoboboobboobooobooooboon

Q=1352367 0000
P = 5105100 + 352367

2P + 1 =2(510510n 4 352367) + 1 = 1021020n + 704734 + 1 = 1021020n + 704735

0000010210200 20 2003,5,7,11,13,17000000 10000000

704735 =5 x 17 x 8291 x 1

oooo
2P + 1 = 85(12012n + 8291)

ooooooboOosooboooooboboobooobooooDoobooDobDOoboooboooboo
good

Q=3523690000
P = 510510n + 352369

2P 4+ 1 =2(510510n + 352369) + 1 = 10210201 + 704738 + 1 = 10210201 + 704739

0000010210200 20 2003,5,7,11,13,17000000 10000000

704739 =3 x 7 x 37 x 907 x 1

oooo
2P + 1 = 21(48620n + 33559)

obooboooobo21o00obobo0oooobobooobo0ob0oob0ooboboooobOoobOoo
good

Q=3523790000
P = 5105100 + 352379

2P 4+ 1 =2(510510n + 352379) + 1 = 1021020n + 704758 + 1 = 10210201 + 704759

0000010210200 20 2003,5,7,11,13,17000000 10000000

704759 =11 x 79 x 811 x 1

oooo
2P + 1 = 11(92820n + 64069)

oooooooolloooooooooooooobooboooobooooOob0OoooboboOoooDObOn
oooo

Q=3523810000
P = 510510n + 352381

2P 4+ 1 =2(510510n + 352381) + 1 = 1021020n + 704762 + 1 = 10210201 + 704763

37



0000010210200 20 2003,5,7,11,13,17000000 10000000

704763 = 3 x 3 x 78307 x 1

oooo
2P + 1 = 3(340340n + 234921)

obooboobooo3oboboboooooboboooOobOobUoboDoboDobooobOobDoooo
goo

Q=1352397 0000
P = 5105100 + 352397

2P + 1 = 2(510510n + 352397) 4+ 1 = 10210201 4 704794 + 1 = 10210200 + 704795
0000010210200 20 2003,5,7,11,13,17000000 10000000

704795 =5 x 7 x 13 x 1549 x 1

oooo
2P + 1 = 455(2244n + 1549)

00000000455 0000000000000000000000000000D000O00O0
good

Q=3523990000
P = 510510n + 352399

2P + 1 = 2(510510n + 352399) + 1 = 1021020n + 704798 + 1 = 1021020n + 704799
0000010210200 20 2003,5,7,11,13,17000000 10000000

704799 = 3 x 3 x 78311 x 1

oooo
2P + 1 = 3(340340n + 234933)

gooooooOo3soooooooUooboUooU0boOUDbDOoUobOoUbbOUDbDOoUObDboUDboOoO
goo

Q =3524030000
P = 510510n + 352403

2P + 1 =2(510510n + 352403) + 1 = 10210201 + 704806 + 1 = 1021020n + 704807

0000010210200 20 2003,5,7,11,13,17000000 1000000

704807 = 704807 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 194297

38



gboboobogobogoboboobboobooobooooboon

Q=3524090000
P = 5105100 + 352409

2P + 1 = 2(510510n + 352409) 4+ 1 = 10210201 + 704818 + 1 = 10210201 + 704819
0000010210200 20 2003,5,7,11,13,17000000 1000000

704819 = 704819 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 194309

gbbogbogobogbbgobbooboooobuoonobagn

Q=3524110000
P =510510n + 352411

2P + 1 = 2(510510n + 352411) 4+ 1 = 10210201 + 704822 + 1 = 10210201 + 704823
0000010210200 20 2003,5,7,11,13,17000000 10000000

704823 = 3 x 7 x 33563 x 1

oooo
2P + 1 = 21(48620n + 33563)

obo0obO0oobo210000b00ob000obObooo0b00oo0bD0o0ob0oobUobDUoooDbOobobOoo
good

Q=3524210000
P = 5105100 + 352421

2P + 1 = 2(510510n + 352421) 4+ 1 = 10210201 + 704842 + 1 = 10210201 + 704843
0000010210200 20 2003,5,7,11,13,17000000 1000000
704843 = 19 x 37097 x 1
0000 10210200000000000000
2P + 1 = 510510m + 194333

gbobooboooboobboobboobobooobuoonoboon

Q=3524230000
P = 5105100 + 352423

2P 4+ 1 =2(510510n + 352423) + 1 = 10210201 + 704846 + 1 = 1021020n + 704847

39



0000010210200 20 2003,5,7,11,13,17000000 10000000

704847 =3 x 11 x 13 x 31 x b3 x 1

oooo
2P + 1 = 429(2380n + 1643)

000000004290 00000000000000000000O0O000O00DOO00DOOOd
good

Q=13524330000
P = 510510n + 352433

2P + 1 = 2(510510n + 352433) 4+ 1 = 10210201 4 704866 + 1 = 10210201 + 704867
0000010210200 20 2003,5,7,11,13,17000000 1000000

704867 = 704867 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 194357

gboboobogobooboboobboobbooobuoonooboon

Q=3524390000
P = 5105100 + 352439

2P + 1 = 2(510510n + 352439) 4+ 1 = 10210201 + 704878 + 1 = 10210201 + 704879
0000010210200 20 2003,5,7,11,13,17000000 10000000

704879 = 7 x 101 x 997 x 1

oooo
2P + 1 = 7(145860n + 100697)

ooooooobogovyooooOoooOoobooOoooOOobOo0oDbDOooDbDOoobDbOODOoOoDbboODboO
goo

Q=3524410000
P = 510510n + 352441

2P + 1 =2(510510n + 352441) + 1 = 1021020n + 704882 + 1 = 10210201 + 704883

0000010210200 20 2003,5,7,11,13,17000000 10000000

704883 = 3 x 234961 x 1

oooo
2P + 1 = 3(340340n + 234961)

40



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3524470000
P = 5105100 + 352447

2P 4+ 1 =2(510510n + 352447) + 1 = 10210201 + 704894 + 1 = 1021020n + 704895

0000010210200 20 2003,5,7,11,13,17000000 10000000

704895 = 3 x 5 x 46993 x 1

oooo
2P + 1 = 15(68068n + 46993)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=23524530000
P = 510510n + 352453

2P 4+ 1 =2(510510n + 352453) + 1 = 10210201 + 704906 + 1 = 1021020n + 704907

0000010210200 20 2003,5,7,11,13,17000000 10000000

704907 =3 x 3 X 7 x 67 x 167 x 1

oooo
2P + 1 = 21(48620n + 33567)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=3524590000
P = 510510n + 352459

2P + 1 = 2(510510n + 352459) + 1 = 10210201 + 704918 + 1 = 10210201 + 704919
0000010210200 20 2003,5,7,11,13,17000000 10000000

704919 =3 x 19 x 83 x 149 x 1

good
2P + 1 = 3(340340n + 234973)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=3524630000
P = 5105100 + 352463

41



2P + 1 =2(510510n + 352463) + 1 = 1021020n + 704926 + 1 = 1021020n + 704927

0000010210200 20 2003,5,7,11,13,17000000 1000000

704927 = 23 x 30649 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 194417

gboboobogobogoboboobboobooobooooboon

Q=3524770000
P = 5105100 + 352477

2P + 1 = 2(510510n + 352477) 4+ 1 = 10210201 4 704954 + 1 = 10210200 + 704955
0000010210200 20 2003,5,7,11,13,17000000 10000000

704955 = 3 x 5 x 46997 x 1

oooo
2P + 1 = 15(68068n + 46997)

goooooboOobhoobooooobobooooobooooDoobDOooDOobDOobooboOooboo
good

Q=352481 0000
P = 510510n + 352481

2P + 1 = 2(510510n + 352481) 4+ 1 = 10210201 + 704962 + 1 = 10210201 + 704963
0000010210200 20 2003,5,7,11,13,17000000 10000000

704963 = 7 x 7 x 14387 x 1

oooo
2P + 1 = 7(145860n + 100709)

gOooooooOgvyoUooOoO0OOoO0OOo0OO0ODOO0DOO0O0DDOOO0DOOUODOODOOUODOOO
goo

Q =3524830000
P = 510510n + 352483

2P 4+ 1 =2(510510n + 352483) + 1 = 10210201 + 704966 + 1 = 1021020n + 704967

0000010210200 20 2003,5,7,11,13,17000000 10000000

704967 = 3 x 234989 x 1

42



oooo
2P + 1 = 3(340340n + 234989)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q =352487 0000
P = 510510n + 352487

2P 4+ 1 = 2(510510n + 352487) + 1 = 10210200 + 704974 + 1 = 10210201 + 704975
0000010210200 20 2003,5,7,11,13,17000000 10000000

704975 =5 x 5 x 163 x 173 x 1

oooo
2P + 1 = 5(204204n + 140995)

oooooooobso0oooobobooooooobooooooobooOoboboooooobobOBbOoOn
ooo

Q=2352489 0000
P = 510510n + 352489

2P + 1 = 2(510510n + 352489) + 1 = 10210201 + 704978 + 1 = 10210201 + 704979
0000010210200 20 2003,5,7,11,13,17000000 10000000

704979 =3 x 3 x 11 x 7121 x 1

oooo
2P + 1 = 33(30940n + 21363)

gbooboooo3dboooobooooooboooboooboobDooboboooobOoobOoo
goog

Q=3524930000
P = 510510n + 352493

2P + 1 =2(510510n + 352493) + 1 = 1021020n + 704986 + 1 = 1021020n + 704987

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

704987 = 587 x 1201 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 194477

ooboobooobooboboobboobbooobooobooo

43



Q=3525010000
P = 510510n + 352501

2P + 1 =2(510510n + 352501) + 1 = 10210201 + 705002 + 1 = 1021020n + 705003

0000010210200 20 2003,5,7,11,13,17000000 10000000

705003 = 3 x 13 x 18077 x 1

oooo
2P + 1 = 39(26180n + 18077)

ooo0OdoOooOo3oooo0ooobodbooooU0ooUooooOobDooDOobDOoboooooog
goog

Q=3525070000
P = 510510n + 352507

2P 4+ 1 =2(510510n + 352507) + 1 = 1021020n + 705014 + 1 = 1021020n + 705015

0000010210200 20 2003,5,7,11,13,17000000 10000000

705015 =3 x 3 x 5 x 15667 x 1

oooo
2P + 1 = 15(68068n + 47001)

oboobOoooiboooboooooobooooObooobOo0oboobUobDoooDbOobobOoo
good

Q=3525110000
P = 510510n + 352511

2P 4+ 1 =2(510510n + 352511) + 1 = 10210201 + 705022 + 1 = 10210201 + 705023

0000010210200 20 2003,5,7,11,13,17000000 10000000

705023 = 11 x 107 x 599 x 1

oooo
2P + 1 = 11(92820n + 64093)

goooooboOolnoobooOooobO0boobOoUOoOoUoOoOoDOobDOoOoDOobDOobOobOoboOooboog
gogo

Q=3525190000
P = 510510n + 352519

2P 4+ 1 =2(510510n + 352519) + 1 = 10210201 + 705038 + 1 = 10210201 + 705039

44



0000010210200 20 2003,5,7,11,13,17000000 10000000

705039 = 3 x 235013 x 1

oooo
2P + 1 = 3(340340n + 235013)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q=3525230000
P = 5105100 + 352523

2P + 1 = 2(510510n + 352523) + 1 = 10210201 4 705046 + 1 = 10210201 + 705047
0000010210200 20 2003,5,7,11,13,17000000 10000000

705047 =7 x 47 x 2143 x 1

oooo
2P + 1 = 7(145860n + 100721)

goooooobogvyooooOoooOobOoOooOOoO0obOo0obDOoOoDOoOobDOUODOOobDbOUODboOO
goo

Q=3525310000
P = 510510n + 352531

2P 4+ 1 =2(510510n + 352531) + 1 = 10210201 + 705062 + 1 = 10210201 + 705063
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

705063 = 3 x 197 x 1193 x 1

oooo
2P + 1 = 3(340340n + 235021)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=1352537 0000
P = 5105100 + 352537

2P 4+ 1 =2(510510n + 352537) + 1 = 10210201 + 705074 + 1 = 1021020n + 705075

0000010210200 20 2003,5,7,11,13,17000000 10000000

705075 =3 x5 x5 x7Tx17Tx 79 x 1

oooo
2P + 1 =1785(572n + 395)

45



OO00oO0DOooo1vsh 0000000000 b0oooboUooooooDOoboooog
googo

Q=3525430000
P = 510510n + 352543

2P + 1 =2(510510n + 352543) + 1 = 10210201 + 705086 + 1 = 10210201 + 705087

0000010210200 20 2003,5,7,11,13,17000000 10000000

705087 =3 x 3 x 157 x 499 x 1

oooo
2P + 1 = 3(340340n + 235029)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=13525490000
P = 510510n + 352549

2P 4+ 1 =2(510510n + 352549) + 1 = 10210201 + 705098 + 1 = 10210207 + 705099

0000010210200 20 2003,5,7,11,13,17000000 10000000

705099 = 3 x 61 x 3853 x 1

oooo
2P + 1 = 3(340340n + 235033)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=3525530000
P = 510510n + 352553

2P + 1 = 2(510510n + 352553) 4+ 1 = 10210201 + 705106 + 1 = 10210201 + 705107
0000010210200 20 2003,5,7,11,13,17000000 10000000

705107 =13 x T3 x 743 x 1

oooo
2P + 1 = 13(78540n + 54239)

oboobooobooooooooooboboooboooboobooboboooobOoobOoo
googd

Q=13525500000
P = 5105100 + 352559

46



2P 4+ 1 =2(510510n + 352559) + 1 = 1021020n + 705118 + 1 = 10210201 + 705119

0000010210200 20 2003,5,7,11,13,17000000 1000000

705119 = 705119 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 194609

gboboobogobogoboboobboobooobooooboon

Q=1352567 0000
P = 5105100 + 352567

2P + 1 = 2(510510n + 352567) + 1 = 10210201 4 705134 + 1 = 10210201 + 705135
0000010210200 20 2003,5,7,11,13,17000000 10000000

705135 =3 x 5 x 29 x 1621 x 1

oooo
2P + 1 = 15(68068n + 47009)

goooooboobhooboooooboboooooooooDoobDOooDOobDOoboooboOoboo
good

Q=3525710000
P = 510510n + 352571

2P + 1 = 2(510510n + 352571) 4+ 1 = 10210201 4 705142 + 1 = 10210201 + 705143
0000010210200 20 2003,5,7,11,13,17000000 10000000

705143 = 17 x 41479 x 1

oooo
2P + 1 = 17(60060n + 41479)

goo0OdoOooOOo1yoo0ooO0oOo0obOO0OOoO0OoOU0OOU0oOoO0oDOOoDOOOoDOobDOobOooooodg
good

Q=3525770000
P = 510510n + 352577

2P 4+ 1 =2(510510n + 352577) + 1 = 1021020n + 705154 + 1 = 1021020n + 705155

0000010210200 20 2003,5,7,11,13,17000000 10000000

705155 =5 x 11 x 12821 x 1

47



0ooo
2P + 1 = 55(18564n + 12821)

oboooboooosboboobobooooboboooboobooboobobooooboLobOoo
good

Q=3525790000
P = 510510n + 352579

2P 4+ 1 = 2(510510n + 352579) 4+ 1 = 10210201 4 705158 + 1 = 1021020n + 705159
0000010210200 20 2003,5,7,11,13,17000000 10000000

705159 =3 x3x3xT7Tx7x13x41 x1

ooono
2P + 1 = 273(3740n + 2583)

oooooooo23obooooooooobooooooooooboooooooooobobBOoOo
oooo

Q=352580 0000
P = 510510n + 352589

2P + 1 = 2(510510n + 352589) 4+ 1 = 10210201 4 705178 4+ 1 = 10210201 + 705179
0000010210200 20 2003,5,7,11,13,17000000 1000000
705179 = 307 x 2297 x 1
0000 10210200000000000000
2P + 1 = 510510m + 194669

gboboobogobogbooboobboobbooobuoooboon

Q=23525010000
P = 5105100 + 352591

2P + 1 =2(510510n + 352591) + 1 = 1021020n + 705182 + 1 = 1021020n + 705183

0000010210200 20 2003,5,7,11,13,17000000 10000000

705183 = 3 x 37 x 6353 x 1

oooo
2P + 1 = 3(340340n + 235061)

gooooooOo3sooooooooobooooo0bOoUobDOooDbOoUobbOObDOoOobboUODoO
goo

48



Q=13526010000
P = 510510n + 352601

2P + 1 = 2(510510n + 352601) 4 1 = 10210201 4 705202 + 1 = 10210201 + 705203
0000010210200 20 2003,5,7,11,13,17000000 1000000

705203 = 23 x 30661 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 194693

gbooboobogobooboboobboobooobuooooboon

Q=13526030000
P = 5105100 + 352603

2P + 1 =2(510510n + 352603) + 1 = 1021020n + 705206 + 1 = 1021020n + 705207

0000010210200 20 2003,5,7,11,13,17000000 10000000

705207 = 3 x 235069 x 1

oooo
2P + 1 = 3(340340n + 235069)

gooooooo3soooooooooboooooboobooDbOoobboObDoobboUOoDboO
goo

Q=3526070000
P = 510510n + 352607

2P 4+ 1 =2(510510n + 352607) + 1 = 1021020n + 705214 + 1 = 1021020n + 705215

0000010210200 20 2003,5,7,11,13,17000000 10000000

705215 =5 x 7 x 20149 x 1

oooo
2P + 1 = 35(29172n + 20149)

oboooooo3boooobooooobobooobooboobooboboooobOoobOoo
good

Q=23526090000
P = 510510 + 352609

2P 4+ 1 = 2(510510n + 352609) + 1 = 1021020n + 705218 + 1 = 10210201 + 705219

49



0000010210200 20 2003,5,7,11,13,17000000 10000000

705219 =3 x 31 x 7583 x 1

good
2P + 1 = 3(340340n + 235073)

ooobobooo3obobobooooobobooDoobobooDoboDobooobUobDOooDOoo
goo

Q=3526130000
P = 510510n + 352613

2P + 1 = 2(510510n + 352613) 4+ 1 = 10210201 4 705226 + 1 = 10210200 + 705227
0000010210200 20 2003,5,7,11,13,17000000 1000000

705227 = 59 x 11953 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 194717

gboboobogobooboboobboobbooobuoonobaon

Q=3526190000
P = 510510n + 352619

2P 4+ 1 =2(510510n + 352619) + 1 = 1021020n + 705238 + 1 = 10210201 + 705239
oo000gl10210200 20 2003,5,7,11,13,170 00000 1000000
705239 = 821 x 859 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 194729

oooboobooobooboboobboobboobooobooo

Q=23526210000
P = 510510n + 352621

2P + 1 =2(510510n + 352621) + 1 = 10210201 + 705242 + 1 = 10210201 + 705243

0000010210200 20 2003,5,7,11,13,17000000 10000000

705243 =3 x 7Tx 11 x43 x 71 x 1

oooo
2P + 1 = 231(4420n + 3053)

50



OO000o0o0ooOo23l1000o000o0o00oo00obooooogoo0bo0o0oooooDoUoDoO
goog

Q=3526330000
P = 510510n + 352633

2P + 1 =2(510510n + 352633) + 1 = 10210201 + 705266 + 1 = 1021020n + 705267

0000010210200 20 2003,5,7,11,13,17000000 10000000

705267 =3 x 3 x 3 x I x 8707 x 1

good
2P + 1 = 3(340340n + 235089)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=13526370000
P = 510510n + 352637

2P 4+ 1 =2(510510n + 352637) + 1 = 1021020n + 705274 + 1 = 1021020n + 705275

0000010210200 20 2003,5,7,11,13,17000000 10000000

705275 =5 x 5 x 28211 x 1

oooo
2P + 1 = 5(204204n + 141055)

goooooo0ds0U0bO00bOO0ObOO0OO0ODOU0UDOODOUODOUODOUODOUODOO
ooo

Q=3526430000
P = 510510n + 352643

2P + 1 = 2(510510n + 352643) + 1 = 10210201 + 705286 + 1 = 10210201 + 705287
0000010210200 20 2003,5,7,11,13,17000000 10000000

705287 =11 x 97 x 661 x 1

oooo
2P + 1 =11(92820n + 64117)

oboobooobolnoooooobooobOboobobooobo0oboobUoboDoooDbOoobOoo
googd

Q=1352657 0000
P = 5105101 + 352657

o1



2P + 1 =2(510510n 4 352657) + 1 = 1021020n + 705314 + 1 = 1021020n + 705315

0000010210200 20 2003,5,7,11,13,17000000 10000000

705315 =3 x5 x 13 x 3617 x 1

oooo
2P + 1 = 195(5236n + 3617)

gOo0ooOoOooosoooooooooo0oobooooogooobo0ooooooDooDoo
goog

Q=3526610000
P = 510510n + 352661

2P + 1 = 2(510510n + 352661) 4+ 1 = 10210201 + 705322 + 1 = 10210201 + 705323
0000010210200 20 2003,5,7,11,13,17000000 1000000

705323 =41 x 17203 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 194813

goboobooobooboboobboobboobuoooboon

Q=3526630000
P = 510510n + 352663

2P + 1 = 2(510510n + 352663) + 1 = 10210201 + 705326 + 1 = 10210200 + 705327
0000010210200 20 2003,5,7,11,13,17000000 10000000

705327 = 3 x 7 x 33587 x 1

oooo
2P + 1 = 21(48620n + 33587)

obooboooobo21o0ogbobo0oooobobooob0oo0booboobooooobOoobOoo
good

Q=3526690000
P = 5105101 + 352669

2P 4+ 1 = 2(510510n + 352669) + 1 = 10210201 + 705338 + 1 = 10210201 + 705339

0000010210200 20 2003,5,7,11,13,17000000 10000000

705339 =3 x 3 x 109 x 719 x 1

92



oooo
2P + 1 = 3(340340n + 235113)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3526730000
P = 510510n + 352673

2P 4+ 1 = 2(510510n + 352673) + 1 = 10210200 + 705346 + 1 = 10210200 + 705347
0000010210200 20 2003,5,7,11,13,17000000 10000000

705347 = 17 x 41491 x 1

ooono
2P + 1 = 17(60060n + 41491)

oooooooolyooooooooooobooooboobooooOobooooOoObOOoooboobOOoooDObOn
oooo

Q=3526790000
P = 5105101 + 352679

2P + 1 = 2(510510n + 352679) 4 1 = 10210201 + 705358 + 1 = 10210201 + 705359
0000010210200 20 2003,5,7,11,13,17000000 1000000
705359 = 401 x 1759 x 1
0000 10210200000000000000
2P + 1 = 510510m + 194849

gboboobogobogbooboobboobbooobuoooboon

Q=1352687 0000
P = 5105100 + 352687

2P + 1 =2(510510n 4 352687) + 1 = 1021020n + 705374 + 1 = 1021020n + 705375

0000010210200 20 2003,5,7,11,13,17000000 10000000

705375 =3 x3x3xHxHxbHhx1lx19x1

oooo
2P +1 = 165(6188n + 4275)

goooooboOoles0obOOOO00ODOO0ODOODOUODOODbDOOOOOUODOUODOO
good

93



Q=13526910000
P = 510510n + 352691

2P + 1 =2(510510n + 352691) + 1 = 1021020n + 705382 + 1 = 1021020n + 705383

0000010210200 20 2003,5,7,11,13,17000000 10000000

705383 = 7 x 100769 x 1

oooo
2P + 1 = 7(145860n + 100769)

goooooogvyoUooOOoO0OOoO0OOoU0OOoU0ODOOU0UDOOoODOoOUObOOUODOUODOOUODbDOO
goo

Q=3526970000
P = 510510n + 352697

2P 4+ 1 =2(510510n + 352697) + 1 = 10210201 + 705394 + 1 = 1021020n + 705395

0000010210200 20 2003,5,7,11,13,17000000 10000000

705395 = 5 x 141079 x 1

oooo
2P + 1 = 5(204204n + 141079)

g0obOobOo0os0b00b0bO0OO0U00bO0ODbDOobOU0oObO0ObDObDOobDOobOUOODbObDOoDbDOn
goo

Q=3527110000
P = 510510n + 352711

2P 4+ 1 =2(510510n + 352711) + 1 = 1021020n + 705422 + 1 = 10210201 + 705423

0000010210200 20 2003,5,7,11,13,17000000 10000000

705423 = 3 x 47 x 5003 x 1

oooo
2P + 1 = 3(340340n + 235141)

gooooooOo3oUobooooooboo0oOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUDboO
oono

Q=3527170000
P = 510510n + 352717

2P 4+ 1 =2(510510n + 352717) + 1 = 1021020n + 705434 + 1 = 1021020n + 705435

o4



0000010210200 20 2003,5,7,11,13,17000000 10000000

705435 =3 x 5 x 131 x 359 x 1

oooo
2P + 1 = 15(68068n + 47029)

oooooooolooooooooooooooobooooboooooboboooobooboOoooDbOn
oooo

Q=3527210000
P = 510510n + 352721

2P 4+ 1 = 2(510510n + 352721) 4+ 1 = 10210201 4 705442 + 1 = 1021020n + 705443
0000010210200 20 2003,5,7,11,13,17000000 1000000

705443 = 67 x 10529 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 194933

gbboobogoboobboobboobbooobuoonboob

Q=3527270000
P = 510510n + 352727

2P + 1 = 2(510510n + 352727) 4+ 1 = 10210201 4 705454 + 1 = 10210201 + 705455
0000010210200 20 2003,5,7,11,13,17000000 10000000

705455 =5 x 199 x 709 x 1

oooo
2P + 1 = 5(204204n + 141091)

oooooooobosoooooobobooooooobooooooobooOobobooooobboBbOoOn
ooo

Q=3527390000
P = 5105100 + 352739

2P 4+ 1 =2(510510n + 352739) + 1 = 1021020n + 705478 + 1 = 1021020n + 705479

0000010210200 20 2003,5,7,11,13,17000000 1000000

705479 = 23 x 37 x 829 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 194969

95



gboboobogobogoboboobboobooobooooboon

Q=3527410000
P = 510510n + 352741

2P 4+ 1 =2(510510n + 352741) + 1 = 10210201 + 705482 + 1 = 10210201 + 705483

0000010210200 20 2003,5,7,11,13,17000000 10000000

705483 =3 x 3 x 3 x 17 x29 x 53 x 1

oooo
2P + 1 =51(20020n + 13833)

gooooooOosilbobobooboob0obobooobooooDobDOooDOobDOoboboboOoboO
good

Q=3527470000
P = 510510n + 352747

2P 4+ 1 =2(510510n + 352747) + 1 = 1021020n + 705494 + 1 = 10210201 + 705495

0000010210200 20 2003,5,7,11,13,17000000 10000000

705495 =3 x5 x 7 x 6719 x 1

oooo
2P + 1 = 105(9724n + 6719)

oboobobgoolesobooboooooboobobobooooooobOobUoboboDooOoooo
good

Q=3527530000
P = 510510n + 352753

2P 4+ 1 =2(510510n + 352753) + 1 = 10210201 + 705506 + 1 = 10210201 4 705507

0000010210200 20 2003,5,7,11,13,17000000 10000000

705507 =3 x 11 x 21379 x 1

oooo
2P + 1 = 33(30940n + 21379)

oooooooos3booooooooooooooooooboooooOoboOooooboOoooDoobOn
oooo

Q=3527570000
P = 5105100 + 352757

2P 4+ 1 =2(510510n + 352757) + 1 = 1021020n + 705514 + 1 = 10210201 + 705515

o6



0000010210200 20 2003,5,7,11,13,17000000 10000000

705515 =5 x 149 x 947 x 1

oooo
2P + 1 = 5(204204n + 141103)

ooobOobooos0b0b0obO0ob0U0o0b0bOobOUoO0bO0ObOobODOobDOobO0oOobUobDOobDOoo
goo

Q=13527630000
P = 510510n + 352763

2P + 1 = 2(510510n + 352763) 4+ 1 = 10210201 4 705526 + 1 = 10210201 + 705527
0000010210200 20 2003,5,7,11,13,17000000 1000000

705527 =19 x 71 x 523 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 195017

gboboobogobooboboobboobbooobuoonobaon

Q=3527690000
P = 510510n + 352769

2P 4+ 1 = 2(510510n + 352769) + 1 = 1021020n + 705538 + 1 = 10210201 + 705539
oo000gl10210200 20 2003,5,7,11,13,170 00000 1000000
705539 = 683 x 1033 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 195029

oooboobooobooboboobboobboobooobooo

Q=13527710000
P = 510510n + 352771

2P + 1 =2(510510n + 352771) + 1 = 10210201 + 705542 + 1 = 10210201 + 705543

0000010210200 20 2003,5,7,11,13,17000000 10000000

705543 = 3 x 235181 x 1

0ooo
2P + 1 = 3(340340n + 235181)

o7



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3527770000
P = 510510n + 352777

2P 4+ 1 =2(510510n + 352777) + 1 = 10210201 + 705554 + 1 = 1021020n + 705555

0000010210200 20 2003,5,7,11,13,17000000 10000000

705555 = 3 x 3 x 5 x 15679 x 1

oooo
2P + 1 = 15(68068n + 47037)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=23527830000
P = 510510n + 352783

2P 4+ 1 =2(510510n + 352783) + 1 = 10210201 + 705566 + 1 = 1021020n + 705567

0000010210200 20 2003,5,7,11,13,17000000 10000000

705567 = 3 x 479 x 491 x 1

oooo
2P + 1 = 3(340340n + 235189)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=3527870000
P = 510510n + 352787

2P + 1 = 2(510510n + 352787) + 1 = 10210201 + 705574 + 1 = 10210201 + 705575
0000010210200 20 2003,5,7,11,13,17000000 10000000

705575 =5 x5 x 13 x 13 x 167 x 1

good
2P +1 = 65(15708n + 10855)

O0oobO0ogoboe 000000000 bObOOObO0OO0ODOO0ODO0ODbDUODUOODbDObODbDOC
good

Q=1352789 0000
P = 5105100 + 352789

o8



2P + 1 =2(510510n + 352789) + 1 = 1021020n + 705578 + 1 = 1021020n + 705579

0000010210200 20 2003,5,7,11,13,17000000 10000000

705579 = 3 x 7 x 33599 x 1

oooo
2P + 1 = 21(48620n + 33599)

go0oOdoOoboOo210000000bO0b000OoO0oO0oOo0oDOO0obDO00oDOobDOobOoOooOooOg
goog

Q=3527990000
P = 510510n + 352799

2P + 1 = 2(510510n + 352799) + 1 = 10210201 + 705598 + 1 = 10210201 + 705599
0000010210200 20 2003,5,7,11,13,17000000 1000000

705599 = 29 x 29 x 839 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 195089

goboobooobooboboobboobboobuoooboon

Q=23528110000
P = 510510n + 352811

2P + 1 = 2(510510n + 352811) 4 1 = 10210201 4 705622 + 1 = 10210201 + 705623
0000010210200 20 2003,5,7,11,13,17000000 1000000
705623 = 151 x 4673 x 1
0000 10210200000000000000
2P + 1 = 510510m + 195113

gbooboobooobooboboobboobboooboooboon

Q=13528130000
P = 510510n + 352813

2P + 1 =2(510510n + 352813) + 1 = 10210201 + 705626 + 1 = 1021020n + 705627

0000010210200 20 2003,5,7,11,13,17000000 10000000

705627 =3 x 3 x 13 x 37 x 163 x 1

99



oooo
2P + 1 = 39(26180n + 18093)

oboooooo3oooooooooobooobooobooboobooooobOoobOoo
good

Q=3528170000
P = 510510n + 352817

2P 4+ 1 = 2(510510n + 352817) + 1 = 10210200 + 705634 + 1 = 10210201 + 705635
0000010210200 20 2003,5,7,11,13,17000000 10000000

705635 =5 x 7 x 20161 x 1

oooo
2P + 1 = 35(29172n + 20161)

oooooooosoooooooooooooobooooboooooboboooooboOoooDobOn
oooo

Q=3528190000
P = 510510n + 352819

2P + 1 = 2(510510n + 352819) 4+ 1 = 10210201 + 705638 + 1 = 10210201 + 705639
0000010210200 20 2003,5,7,11,13,17000000 10000000

705639 = 3 x 11 x 21383 x 1

oooo
2P + 1 = 33(30940n + 21383)

gbooboooo3dboooobooooooboooboooboobDooboboooobOoobOoo
goog

Q=3528230000
P = 510510n + 352823

2P + 1 =2(510510n + 352823) + 1 = 1021020n + 705646 + 1 = 1021020n + 705647

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

705647 = 353 x 1999 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 195137

ooboobooobooboboobboobbooobooobooo

60



Q=13528290000
P = 510510n + 352829

2P + 1 = 2(510510n + 352829) 4 1 = 10210201 4 705658 + 1 = 10210201 + 705659
0000010210200 20 2003,5,7,11,13,17000000 1000000

705659 = 311 x 2269 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 195149

gbobooobogobooboboobboobooobuoooboon

Q=23528310000
P = 5105100 + 352831

2P + 1 =2(510510n + 352831) + 1 = 1021020n + 705662 + 1 = 1021020n + 705663

0000010210200 20 2003,5,7,11,13,17000000 10000000

705663 =3 x 3 X 7 x 23 x 487 x 1

oooo
2P + 1 = 21(48620n + 33603)

goooooboOo21000b0000ob0obooooobooooDobDOooDOobDOoboOoboOoboO
good

Q=3528370000
P = 510510n + 352837

2P + 1 =2(510510n + 352837) + 1 = 1021020n + 705674 + 1 = 1021020n + 705675

0000010210200 20 2003,5,7,11,13,17000000 10000000

705675 =3 X H xHx 97T x 97 x 1

oooOo
2P + 1 = 15(68068n + 47045)

ooboooooolibooooboooooboboooboooboobooboboooobOoobOoo
good

Q=3528410000
P = 510510n + 352841

2P 4+ 1 =2(510510n + 352841) + 1 = 10210201 + 705682 + 1 = 10210201 + 705683

61



0000010210200 20 2003,5,7,11,13,17000000 10000000

705683 = 11 x 64153 x 1

oooo
2P + 1 =11(92820n + 64153)

o0oobOoobolnoooooobO0oobobooobO0oob0o0ob0oOobUoboooobOobobOoo
good

Q=13528430000
P = 510510n + 352843

2P + 1 = 2(510510n + 352843) 4+ 1 = 10210201 4 705686 + 1 = 10210201 + 705687
0000010210200 20 2003,5,7,11,13,17000000 10000000

705687 =3 x 17 x 101 x 137 x 1

oooo
2P + 1 = 51(20020n + 13837)

gbooooooslboboooboooooobobooobooboobooboboooobOoobOoon
googo

Q=3528530000
P = 510510n + 352853

2P + 1 = 2(510510n + 352853) + 1 = 10210201 + 705706 + 1 = 10210201 + 705707
0000010210200 20 2003,5,7,11,13,17000000 1000000

705707 = 79 x 8933 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 195197

goboobooobooboboobboobboobooobooo

Q=3528610000
P = 510510n + 352861

2P + 1 =2(510510n + 352861) + 1 = 1021020n + 705722 + 1 = 10210201 + 705723

0000010210200 20 2003,5,7,11,13,17000000 10000000

705723 = 3 x 235241 x 1

oooo
2P + 1 = 3(340340n + 235241)

62



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3528670000
P = 510510n + 352867

2P + 1 = 2(510510n + 352867) 4+ 1 = 10210201 4 705734 + 1 = 10210201 + 705735
0000010210200 20 2003,5,7,11,13,17000000 10000000

705735 =3 x 3 x 5 x 15683 x 1

oooo
2P + 1 = 15(68068n + 47049)

o00o0obO0ooobooobooobOoooOoooObO0ooDOO0o0obO0oOobUobDoooDbOoboDbOoo
good

Q=23528710000
P = 510510n + 352871

2P 4+ 1 = 2(510510n + 352871) 4+ 1 = 10210201 4 705742 + 1 = 1021020n + 705743
0000010210200 20 2003,5,7,11,13,17000000 1000000

705743 = 227 x 3109 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 195233

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3528730000
P = 510510n + 352873

2P 4+ 1 =2(510510n + 352873) + 1 = 10210201 + 705746 + 1 = 1021020n + 705747

0000010210200 20 2003,5,7,11,13,17000000 10000000

705747 =3 X 7T x 7 x 4801 x 1

oooo
2P + 1 = 21(48620n + 33607)

0000000021 0000000000000O000DODO00DO00ObOObDOoODObOObODbDOn
good

Q=23528790000
P = 510510n + 352879

2P 4+ 1 =2(510510n + 352879) + 1 = 1021020n + 705758 + 1 = 10210201 + 705759

63



0000010210200 20 2003,5,7,11,13,17000000 10000000

705759 = 3 x 43 x 5471 x 1

good
2P + 1 = 3(340340n + 235253)

ooobobooo3obobobooooobobooDoobobooDoboDobooobUobDOooDOoo
goo

Q =3528830000
P = 510510n + 352883

2P + 1 = 2(510510n + 352883) + 1 = 10210201 4 705766 + 1 = 10210201 + 705767
0000010210200 20 2003,5,7,11,13,17000000 1000000

705767 = 239 x 2953 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 195257

gboboobogobooboboobboobbooobuoonobaon

Q=352880 0000
P = 510510n + 352889

2P 4+ 1 =2(510510n + 352889) + 1 = 1021020n + 705778 + 1 = 1021020n + 705779
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
705779 = 705779 x 1
o000 10210200 000000000000
2P +1 = 510510m + 195269

ooboobooobooboboobboobboobooobooo

Q=3528070000
P = 510510n + 352897

2P 4+ 1 =2(510510n + 352897) + 1 = 1021020n + 705794 + 1 = 1021020n + 705795

0000010210200 20 2003,5,7,11,13,17000000 10000000

705795 =3 x5 x 211 x 223 x 1

oooo
2P + 1 = 15(68068n + 47053)

64



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=3529010000
P = 510510n + 352901

2P 4+ 1 =2(510510n + 352901) + 1 = 10210201 + 705802 + 1 = 10210201 + 705803

0000010210200 20 2003,5,7,11,13,17000000 10000000

705803 = 7 x 100829 x 1

oooo
2P + 1 = 7(145860n + 100829)

o0obOooOOoovy0oo00obO0oO0oO00o0obO0oDOOoOD0oO0bOOobOODOOobODOobO0oOobOobDOobDOn
goo

Q=13529070000
P = 510510n + 352907

2P 4+ 1 =2(510510n + 352907) + 1 = 1021020n + 705814 + 1 = 10210201 + 705815

0000010210200 20 2003,5,7,11,13,17000000 10000000

705815 =5 x 11 x 41 x 313 x 1

oooo
2P + 1 = 55(18564n + 12833)

OOooOdDoOooOs0obbo0oboob0oboboo0obooo0oDooboobDOobDobooboOooog
good

Q=23529090000
P = 510510n + 352909

2P + 1 = 2(510510n + 352909) + 1 = 10210201 + 705818 + 1 = 10210201 + 705819
0000010210200 20 2003,5,7,11,13,17000000 10000000

705819 = 3 x 235273 x 1

good
2P + 1 = 3(340340n + 235273)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=3529210000
P = 510510n + 352921

65



2P + 1 =2(510510n + 352921) + 1 = 1021020n + 705842 + 1 = 1021020n + 705843

0000010210200 20 2003,5,7,11,13,17000000 10000000

705843 = 3 x 3 x 78427 x 1

oooo
2P + 1 = 3(340340n + 235281)

gooooooOo300boo0ooU0ooU0ooU0bOoUDOOoUoDOoUbObOUDOoObDbOUDoOO
goo

Q=2352927 0000
P = 510510n + 352927

2P + 1 = 2(510510n + 352927) + 1 = 10210201 + 705854 + 1 = 10210201 + 705855
0000010210200 20 2003,5,7,11,13,17000000 10000000

705855 = 3 x & x 47057 x 1

oooOo
2P + 1 = 15(68068n + 47057)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOoboDbOoo
good

Q=13529310000
P = 510510n + 352931

2P + 1 = 2(510510n + 352931) 4+ 1 = 10210201 + 705862 + 1 = 10210201 + 705863
0000010210200 20 2003,5,7,11,13,17000000 1000000
705863 = 705863 x 1
0000 10210200000000000000
2P + 1 = 510510m + 195353

gbobogobooobooboboobboobbooobuooooboon

Q=3529390000
P = 5105101 + 352939

2P 4+ 1 =2(510510n + 352939) + 1 = 10210201 + 705878 + 1 = 10210201 + 705879

0000010210200 20 2003,5,7,11,13,17000000 10000000

705879 =3 x 3 x 107 x 733 x 1

66



oooo
2P + 1 = 3(340340n + 235293)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3520430000
P = 510510n + 352943

2P 4+ 1 = 2(510510n + 352943) + 1 = 10210200 + 705886 + 1 = 10210200 + 705887
0000010210200 20 2003,5,7,11,13,17000000 10000000

705887 = 7 x 13 x 7757 x 1

oooo
2P + 1 = 91(11220n + 7757)

oooooooo9gooooooooooooooboobooooboooooOobooooboboOoooDoobOn
oooo

Q=3520490000
P = 5105100 + 352949

2P + 1 = 2(510510n + 352949) + 1 = 10210201 + 705898 + 1 = 10210201 + 705899
0000010210200 20 2003,5,7,11,13,17000000 1000000
705899 = 705899 x 1
0000 10210200000000000000
2P + 1 = 510510m + 195389

gboboobogobogbooboobboobbooobuoooboon

Q=2352051 0000
P = 5105100 + 352951

2P + 1 =2(510510n + 352951) + 1 = 1021020n + 705902 + 1 = 1021020n + 705903

0000010210200 20 2003,5,7,11,13,17000000 10000000

705903 = 3 x 11 x 21391 x 1

oooo
2P + 1 = 33(30940n + 21391)

goooooboOo33booboooooboboobooobooooDoobpDooDobDOobobooboooboo
good

67



Q=13529670000
P = 510510n + 352967

2P 4+ 1 =2(510510n + 352967) + 1 = 1021020n + 705934 + 1 = 10210201 + 705935

0000010210200 20 2003,5,7,11,13,17000000 10000000

705935 =5 x 59 x 2393 x 1

oooo
2P + 1 = 5(204204n + 141187)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=3529690000
P = 510510n + 352969

2P + 1 =2(510510n + 352969) + 1 = 10210201 + 705938 + 1 = 10210201 + 705939

0000010210200 20 2003,5,7,11,13,17000000 10000000

705939 =3 x 13 x 23 x 787 x 1

oooo
2P + 1 = 39(26180n + 18101)

oboobooo3oooooooooboboobobooobo0oboobUobDUoooDbOobobOoo
good

Q=13529730000
P = 510510n + 352973

2P 4+ 1 =2(510510n + 352973) + 1 = 10210201 + 705946 + 1 = 1021020n + 705947

0000010210200 20 2003,5,7,11,13,17000000 10000000

705947 =11 x 29 x 2213 x 1

oooo
2P + 1 = 11(92820n + 64177)

goooooboOolnoobooOooob0obOobooU0ooOUoOoOoDOobDOo0oDOobDOobooOoboOoooO
googo

Q=3529810000
P = 510510n + 352981

2P 4+ 1 =2(510510n + 352981) + 1 = 10210201 + 705962 + 1 = 10210201 + 705963

68



0000010210200 20 2003,5,7,11,13,17000000 10000000

705963 = 3 x 31 x 7591 x 1

oooo
2P + 1 = 3(340340n + 235321)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=13529870000
P = 510510n + 352987

2P + 1 = 2(510510n + 352987) + 1 = 10210201 4 705974 + 1 = 10210201 + 705975
0000010210200 20 2003,5,7,11,13,17000000 10000000

705975 =3 x5 x b x 9413 x 1

oooo
2P + 1 = 15(68068n + 47065)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=3529910000
P = 510510n + 352991

2P + 1 = 2(510510n + 352991) 4+ 1 = 10210201 + 705982 + 1 = 10210201 + 705983
0000010210200 20 2003,5,7,11,13,17000000 1000000

705983 =19 x 73 x 509 x 1
Ooooo 10210200 0000000000000
2P +1 = 510510m + 195473

gooboobooobooboboobboobboobuooobooo

Q=3529930000
P = 510510n + 352993

2P + 1 =2(510510n + 352993) + 1 = 10210201 + 705986 + 1 = 1021020n + 705987

0000010210200 20 2003,5,7,11,13,17000000 10000000

705987 = 3 x 3 x 47 x 1669 x 1

oooo
2P + 1 = 3(340340n + 235329)

69



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3529970000
P = 510510n + 352997

2P + 1 = 2(510510n + 352997) + 1 = 10210201 4 705994 + 1 = 10210201 + 705995
0000010210200 20 2003,5,7,11,13,17000000 10000000

705995 = 5 x 141199 x 1

oooo
2P + 1 = 5(204204n + 141199)

g00ob0obO0o0Os000D000000000DODOO0ODODOODODODOOOODODODOD
goo

Q=13529990 000
P = 510510n + 352999

2P 4+ 1 = 2(510510n + 352999) + 1 = 10210201 4 705998 + 1 = 1021020n + 705999
0000010210200 20 2003,5,7,11,13,17000000 10000000

705999 = 3 x 7 x 33619 x 1

oooo
2P + 1 = 21(48620n + 33619)

oboobooobo21000obobo0o0oooboboooboobo0obooboboooobOoobOoo
good

Q=23530090000
P = 510510 + 353009

2P + 1 = 2(510510n + 353009) 4 1 = 10210201 4 706018 + 1 = 10210201 4 706019
0000010210200 20 2003,5,7,11,13,17000000 1000000
706019 = 706019 x 1
0000 10210200000000000000
2P + 1 = 510510m + 195509

gbooboobooobooboboobboobboooboooboon

Q=13530110000
P = 510510n + 353011

2P 4+ 1 =2(510510n + 353011) 4+ 1 = 1021020n + 706022 + 1 = 10210201 + 706023

70



0000010210200 20 2003,5,7,11,13,17000000 10000000

706023 =3 x 3 x 3 x 79 x 331 x1

oooo
2P + 1 = 3(340340n + 235341)

booboooo3obobobooooobobooooboboboobDobooobUobOobooo
goo

Q=1353021 0000
P = 5105100 + 353021

2P + 1 = 2(510510n + 353021) 4 1 = 10210201 + 706042 + 1 = 10210201 + 706043
0000010210200 20 2003,5,7,11,13,17000000 10000000

706043 = 13 x 54311 x 1

0ooo
2P + 1 = 13(78540n + 54311)

gooooOobo0oyooooOooobOobooooooooooDOobDOoOoDOobDOoboboboOooo
good

Q=3530270000
P = 510510n + 353027

2P 4+ 1 =2(510510n + 353027) 4+ 1 = 1021020n + 706054 + 1 = 1021020n + 706055
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

706055 =5 x 7 x 20173 x 1

oooo
2P + 1 = 35(29172n + 20173)

obooboooosboooboboooooboboooboooboobooboboooobOoobOoo
googd

Q=13530290000
P = 5105101 + 353029

2P 4+ 1 =2(510510n + 353029) + 1 = 10210201 + 706058 + 1 = 10210201 + 706059

0000010210200 20 2003,5,7,11,13,17000000 10000000

706059 = 3 x 3 x 19 x 4129 x 1

oooo
2P + 1 = 3(340340n + 235353)

71



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3530330000
P = 510510n + 353033

2P + 1 = 2(510510n + 353033) + 1 = 10210201 + 706066 + 1 = 10210201 + 706067
0000010210200 20 2003,5,7,11,13,17000000 1000000

706067 = 706067 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 195557

oooboobooobooboboobboobboobooobooo

Q=3530470000
P = 510510n -+ 353047

2P + 1 = 2(510510n + 353047) 4+ 1 = 10210201 + 706094 + 1 = 10210201 + 706095
0000010210200 20 2003,5,7,11,13,17000000 10000000

706095 =3 x 3 xHx 13 x17x 71 x1

ogooo
2P + 1 = 3315(308n + 213)

o00o0ob0oob33h0boobooboooboooboobobobobooobUoobOooDbOoo
googno

Q=23530510000
P = 5105100 + 353051

2P + 1 = 2(510510n + 353051) 4+ 1 = 10210201 4+ 706102 + 1 = 10210201 4 706103
0000010210200 20 2003,5,7,11,13,17000000 1000000
706103 = 43 x 16421 x 1
0000 10210200000000000000
2P + 1 = 510510m + 195593

gbobooboooboobboobboobobooobuoonoboon

Q=3530530000
P = 510510 + 353053

2P + 1 =2(510510n + 353053) + 1 = 1021020n + 706106 + 1 = 10210201 4 706107

72



0000010210200 20 2003,5,7,11,13,17000000 10000000

706107 = 3 x 235369 x 1

good
2P + 1 = 3(340340n + 235369)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=1353057 0000
P = 5105101 + 353057

2P + 1 = 2(510510n + 353057) 4+ 1 = 10210201 4 706114 + 1 = 10210201 + 706115
0000010210200 20 2003,5,7,11,13,17000000 10000000

706115 =5 x 141223 x 1

oooo
2P + 1 = 5(204204n + 141223)

gboobobooosbobobUoboobobo0oboboboobobOobobDobDobobOOobOobOobooo
oono

Q=3530630000
P = 510510n + 353063

2P + 1 = 2(510510n + 353063) + 1 = 10210201 + 706126 + 1 = 10210201 + 706127
0000010210200 20 2003,5,7,11,13,17000000 1000000

706127 = 191 x 3697 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 195617

goboobooobooboboobboobboobooobooo

Q=3530690000
P = 510510n + 353069

2P 4+ 1 =2(510510n + 353069) + 1 = 10210201 + 706138 + 1 = 10210201 + 706139

0000010210200 20 2003,5,7,11,13,17000000 10000000

706139 =7 x 7 x 14411 x 1

oooo
2P + 1 = 7(145860n + 100877)

73



goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=3530710000
P = 510510n + 353071

2P 4+ 1 =2(510510n + 353071) + 1 = 1021020n + 706142 + 1 = 1021020n + 706143

0000010210200 20 2003,5,7,11,13,17000000 10000000

706143 = 3 x 41 x 5741 x 1

oooo
2P + 1 = 3(340340n + 235381)

o00ob0ooO0oo030b00b0obooo0ooboobDooOo0obobobODobDobOoobOobDOoDOon
goo

Q=2353077 0000
P = 5105100 + 353077

2P 4+ 1 =2(510510n + 353077) + 1 = 1021020n + 706154 + 1 = 10210201 + 706155

0000010210200 20 2003,5,7,11,13,17000000 10000000

706155 =3 x 5 x 179 x 263 x 1

oooo
2P + 1 = 15(68068n + 47077)

goodoOooOoboobooOooobOobooooUooUooOoDOobDOoOoDOobDOoboooboooboo
good

Q=353081 0000
P = 510510n + 353081

2P + 1 = 2(510510n + 353081) 4 1 = 10210201 + 706162 + 1 = 10210201 + 706163
0000010210200 20 2003,5,7,11,13,17000000 10000000

706163 = 17 x 41539 x 1

oooo
2P +1 = 17(60060n + 41539)

ooboobooobo1ivyoooboo0obOo0oobObooobooobOo0oboobUobooooDbOoobOoo
good

Q =3530830000
P = 510510n + 353083

74



2P + 1 =2(510510n + 353083) + 1 = 1021020n + 706166 + 1 = 10210201 + 706167

0000010210200 20 2003,5,7,11,13,17000000 10000000

706167 =3 x 3 x 7x 11 x 1019 x 1

oooo
2P + 1 = 231(4420n + 3057)

OO000o0d0oo0OOo231000000o0o00oo00obooooo0oo0obbo0oooooDoUDoo
goog

Q=23530990000
P = 510510 + 353099

2P + 1 = 2(510510n + 353099) + 1 = 10210201 + 706198 + 1 = 10210201 + 706199
0000010210200 20 2003,5,7,11,13,17000000 10000000

706199 = 13 x 54323 x 1

oooo
2P + 1 = 13(78540n + 54323)

o00o0obO0o0ob013oooboooooooOoooobooobOOo0obooboboDoooDbOooDbOoo
good

Q=3531130000
P =510510n + 353113

2P + 1 = 2(510510n + 353113) 4+ 1 = 10210201 4 706226 + 1 = 10210201 + 706227
0000010210200 20 2003,5,7,11,13,17000000 10000000

706227 = 3 x 151 x 15659 x 1

oooo
2P + 1 = 3(340340n + 235409)

gooooooOo3oUoboooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
ooo

Q=3531170000
P = 510510n + 353117

2P 4+ 1 =2(510510n + 353117) + 1 = 10210201 + 706234 + 1 = 1021020n + 706235

0000010210200 20 2003,5,7,11,13,17000000 10000000

706235 =5 x 137 x 1031 x 1

75



oooo
2P + 1 = 5(204204n + 141247)

oboobobooosUOb0obUobOOobobo0obOobOobOUobObUObUObDObDOobObOobOobDOooOoo
goo

Q=3531230000
P = 510510n + 353123

2P 4+ 1 = 2(510510n + 353123) + 1 = 10210200 + 706246 + 1 = 10210200 + 706247
0000010210200 20 2003,5,7,11,13,17000000 1000000

706247 = 67 x 83 x 127 x 1

o000 10210200 000000000000

2P +1 = 510510m + 195737

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=13531310000
P = 510510n + 353131

2P + 1 = 2(510510n + 353131) 4 1 = 10210201 + 706262 + 1 = 10210201 + 706263
0000010210200 20 2003,5,7,11,13,17000000 10000000

706263 = 3 x 397 x 593 x 1

ogooo
2P + 1 = 3(340340n + 235421)

g0obOobooo30boboboooooboobooDoobobooDobDobooobOobDOobDOoo
goo

Q=1353137 0000
P = 5105100 + 353137

2P + 1 =2(510510n 4 353137) + 1 = 1021020n + 706274 + 1 = 1021020n + 706275

0000010210200 20 2003,5,7,11,13,17000000 10000000

706275 =3 x3 x5 x5 x43 x 73 x1

oooo
2P + 1 = 15(68068n + 47085)

goooooooboobooooobOobooooUoboUoooDoOobDOooDUobDOobooboOooboo
good

76



Q=3531470000
P = 510510n + 353147

2P 4+ 1 =2(510510n + 353147) + 1 = 1021020n + 706294 + 1 = 10210201 + 706295

0000010210200 20 2003,5,7,11,13,17000000 10000000

706295 =5 x 29 x 4871 x 1

oooo
2P + 1 = 5(204204n + 141259)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=13531490000
P = 510510n + 353149

2P 4+ 1 =2(510510n + 353149) + 1 = 1021020n + 706298 + 1 = 10210201 + 706299

0000010210200 20 2003,5,7,11,13,17000000 10000000

706299 =3 x 11 x 17 x 1259 x 1

oooo
2P +1 = 561(1820n + 1259)

O00obOobOooselobbooooobooboboboobOob00oobobobobDoDOobooo
good

Q=13531530000
P = 510510n + 353153

2P + 1 =2(510510n + 353153) + 1 = 10210201 + 706306 + 1 = 10210201 + 706307

0000010210200 20 2003,5,7,11,13,17000000 10000000

706307 =7 x 23 x 41 x 107 x 1

oooo
2P + 1 = 7(145860n + 100901)

gooooooOovoUoooOoOooUOooOoU0OOoU0bDOU0UDOoUDbDOoU0obDbOUDbDOOobDOUODbDOO
oono

Q=3531590000
P = 510510n + 353159

2P + 1 =2(510510n + 353159) + 1 = 1021020n + 706318 + 1 = 1021020n + 706319

77



0000010210200 20 2003,5,7,11,13,17000000 1000000

706319 = 61 x 11579 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 195809

goboobooobooboboobboobbooboooboon

Q=3531610000
P = 510510n + 353161

2P + 1 = 2(510510n + 353161) 4+ 1 = 10210201 + 706322 + 1 = 10210201 + 706323
0000010210200 20 2003,5,7,11,13,17000000 10000000

706323 = 3 x 235441 x 1

oooo
2P + 1 = 3(340340n + 235441)

obooboooo3oboboboooooboboooOoboboboobDobooobOobOoooo
goo

Q=23531670000
P = 5105100 + 353167

2P + 1 = 2(510510n + 353167) 4+ 1 = 10210201 4 706334 + 1 = 10210201 + 706335
0000010210200 20 2003,5,7,11,13,17000000 10000000

706335 =3 x5 x7Tx7x31x31x1

oooo
2P 4+ 1 =105(9724n + 6727)

goooooboOolesb0oboOoOoO0O0oOOoO0oDOoO0oDOOODObOObDO0OO0OO0OODOODOO
good

Q=3531730000
P = 510510n + 353173

2P + 1 =2(510510n + 353173) + 1 = 10210201 + 706346 + 1 = 1021020n + 706347

0000010210200 20 2003,5,7,11,13,17000000 10000000

706347 = 3 x 3 x 3 x 26161 x 1

oooo
2P + 1 = 3(340340n + 235449)

78



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3531790000
P = 510510n + 353179

2P + 1 = 2(510510n + 353179) 4 1 = 10210201 + 706358 + 1 = 10210201 4 706359
0000010210200 20 2003,5,7,11,13,17000000 10000000

706359 = 3 x 173 x 1361 x 1

oooo
2P + 1 = 3(340340n + 235453)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=13531830000
P = 510510n + 353183

2P 4+ 1 = 2(510510n + 353183) + 1 = 10210200 + 706366 + 1 = 10210201 + 706367
0000010210200 20 2003,5,7,11,13,17000000 10000000

706367 = 17 x 37 x 1123 x 1

oooo
2P + 1 = 17(60060n + 41551)

go0oOdoOooOOolTooooO0oOoO0obOO0bOOo0OoOU0OOU0oOO0oDODODO0oDOobDOobOoOooOooOg
good

Q=353180 0000
P = 510510n + 353189

2P + 1 = 2(510510n + 353189) 4 1 = 10210201 + 706378 + 1 = 10210201 + 706379
0000010210200 20 2003,5,7,11,13,17000000 1000000
706379 = 71 x 9949 x 1
0000 10210200000000000000
2P + 1 = 510510m + 195869

gbooboobooobooboboobboobboooboooboon

Q=3531910000
P = 510510n + 353191

2P 4+ 1 =2(510510n + 353191) 4+ 1 = 1021020n + 706382 + 1 = 10210201 + 706383

79



0000010210200 20 2003,5,7,11,13,17000000 10000000

706383 = 3 x 3 x 78487 x 1

oooo
2P + 1 = 3(340340n + 235461)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=13532010000
P = 510510n + 353201

2P + 1 = 2(510510n + 353201) 4 1 = 10210201 4 706402 + 1 = 10210201 4 706403
0000010210200 20 2003,5,7,11,13,17000000 1000000

706403 = 706403 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 195893

gboboobogobooboboobboobbooobuoonooboon

Q=3532030000
P = 510510n + 353203

2P + 1 = 2(510510n + 353203) 4+ 1 = 10210201 4 706406 + 1 = 10210201 + 706407
0000010210200 20 2003,5,7,11,13,17000000 10000000

706407 = 3 x 13 x 59 x 307 x 1

oooo
2P + 1 = 39(26180n + 18113)

ooooooboOo3oooooooboboooooboooooDobDooDobDOobooboOooo
good

Q=3532070000
P = 510510n + 353207

2P + 1 =2(510510n + 353207) + 1 = 1021020n + 706414 + 1 = 10210201 + 706415

0000010210200 20 2003,5,7,11,13,17000000 10000000

706415 = 5 x 141283 x 1

oooo
2P + 1 = 5(204204n + 141283)

80



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=3532190000
P = 510510n + 353219

2P 4+ 1 =2(510510n + 353219) + 1 = 1021020n + 706438 + 1 = 1021020n + 706439
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

706439 = 19 x 37181 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 195929

oooboobooobooboboobboobboobooobooo

Q=3532310000
P = 510510n + 353231

2P + 1 = 2(510510n + 353231) 4 1 = 10210201 + 706462 + 1 = 10210201 + 706463
0000010210200 20 2003,5,7,11,13,17000000 1000000

706463 = 706463 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 195953

goboobooobooboboobboobbooboooboon

Q=3532330000
P = 510510n + 353233

2P + 1 =2(510510n + 353233) + 1 = 10210201 + 706466 + 1 = 10210201 + 706467

0000010210200 20 2003,5,7,11,13,17000000 10000000

706467 = 3 x 235489 x 1

oooo
2P + 1 = 3(340340n + 235489)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3532370000
P = 510510n + 353237

2P 4+ 1 =2(510510n + 353237) + 1 = 1021020n + 706474 + 1 = 10210201 + 706475

81



0000010210200 20 2003,5,7,11,13,17000000 10000000

706475 =5 x5 x 7x 11 x 367 x1

oooo
2P + 1 = 385(2652n + 1835)

oboobobOoo3sssuoooooooooboobooooooooboboboboooOoooo
good

Q=3532390000
P = 510510n + 353239

2P + 1 = 2(510510n + 353239) 4 1 = 10210201 + 706478 + 1 = 10210201 + 706479
0000010210200 20 2003,5,7,11,13,17000000 10000000

706479 = 3 x 235493 x 1

oooo
2P + 1 = 3(340340n + 235493)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q=3532510000
P = 510510n + 353251

2P 4+ 1 =2(510510n + 353251) + 1 = 10210201 + 706502 + 1 = 10210201 + 706503
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

706503 =3 x 7 x 17 x 1979 x 1

0ooo
2P + 1 = 357(2860n + 1979)

OO000o00ooOo3rodoodoooonoooDoooooooooooooooooooonooag
googd

Q=13532570000
P = 5105100 + 353257

2P 4+ 1 =2(510510n + 353257) + 1 = 1021020n + 706514 + 1 = 1021020n + 706515

0000010210200 20 2003,5,7,11,13,17000000 10000000

706515 =3 x5 x19x37x67x1

oooo
2P + 1 = 15(68068n + 47101)

82



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=3532610000
P = 510510n + 353261

2P + 1 = 2(510510n + 353261) 4 1 = 10210201 4 706522 + 1 = 10210201 + 706523
0000010210200 20 2003,5,7,11,13,17000000 1000000

706523 = 706523 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 196013

gbooboobooobooboboobboobboooboooboon

Q=13532630000
P = 510510n + 353263

2P 4+ 1 =2(510510n + 353263) + 1 = 10210201 + 706526 + 1 = 1021020n 4 706527

0000010210200 20 2003,5,7,11,13,17000000 10000000

706527 = 3 x 3 x 29 x 2707 x 1

good
2P + 1 = 3(340340n + 235509)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=353267T0000
P = 510510n + 353267

2P 4+ 1 =2(510510n + 353267) + 1 = 1021020n + 706534 + 1 = 10210201 + 706535

0000010210200 20 2003,5,7,11,13,17000000 10000000

706535 = 5 x 141307 x 1

oooo
2P + 1 = 5(204204n + 141307)

O00b0o0O00sS000000000000DO0ODOO0ODODOODODOODODODOOODODODOD
goo

Q=3532730000
P = 510510n + 353273

2P 4+ 1 =2(510510n + 353273) + 1 = 10210201 + 706546 + 1 = 10210201 + 706547

83



0000010210200 20 2003,5,7,11,13,17000000 1000000

706547 = 706547 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 196037

gboobgobogobooboboobboobbooobooooboon

Q=23532790000
P = 510510n + 353279

2P + 1 = 2(510510n + 353279) 4 1 = 10210201 + 706558 + 1 = 10210201 + 706559
0000010210200 20 2003,5,7,11,13,17000000 10000000

706559 = 7 x 100937 x 1

oooo
2P + 1 = 7(145860n + 100937)

goooooogvyoUooOoO0oOoU0OOoU0OOU0DOOU0DOOoODOoOUODbOOUODOUObDObOUODOO
goo

Q=3532810000
P = 510510n + 353281

2P + 1 = 2(510510n + 353281) 4+ 1 = 10210201 4+ 706562 + 1 = 10210201 4 706563
0000010210200 20 2003,5,7,11,13,17000000 10000000

706563 =3 x3x3x3x11x13x61x1

oooOo
2P + 1 = 429(2380n + 1647)

oooooooo4290000000ooooOobobo0ooooooobobooooooooObobbOoOo
oooo

Q=3532910000
P = 510510n + 353291

2P 4+ 1 =2(510510n + 353291) + 1 = 1021020n + 706582 + 1 = 1021020n + 706583

0000010210200 20 2003,5,7,11,13,17000000 1000000

706583 = 23 x 31 x 991 x 1

OO000 10210200 000000000000

2P 4+ 1 =510510m + 196073

84



gboboobogobogoboboobboobooobooooboon

Q=13532930000
P = 510510n + 353293

2P + 1 =2(510510n + 353293) + 1 = 1021020n + 706586 + 1 = 10210201 + 706587

0000010210200 20 2003,5,7,11,13,17000000 10000000

706587 = 3 x 7 x 33647 x 1

oooo
2P + 1 = 21(48620n + 33647)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3532990000
P = 510510n + 353299

2P 4+ 1 =2(510510n + 353299) + 1 = 10210201 + 706598 + 1 = 10210201 + 706599

0000010210200 20 2003,5,7,11,13,17000000 10000000

706599 = 3 x 3 x 78511 x 1

oooo
2P + 1 = 3(340340n + 235533)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=3533030000
P = 510510n + 353303

2P + 1 =2(510510n + 353303) + 1 = 10210201 + 706606 + 1 = 10210201 4 706607

0000010210200 20 2003,5,7,11,13,17000000 10000000

706607 = 11 x 64237 x 1

oooo
2P + 1 = 11(92820n + 64237)

oooooooollooooooooooboooooboooobooooOboOoooboboOooDObOn
oooo

Q=3533170000
P = 5105100 + 353317

2P 4+ 1 =2(510510n + 353317) + 1 = 1021020n + 706634 + 1 = 10210201 + 706635

85



0000010210200 20 2003,5,7,11,13,17000000 10000000

706635 =3 x 3 x5 x41 x 383 x 1

oooo
2P + 1 = 15(68068n + 47109)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=13533210000
P = 5105100 + 353321

2P + 1 = 2(510510n + 353321) 4 1 = 10210201 + 706642 + 1 = 10210201 + 706643
0000010210200 20 2003,5,7,11,13,17000000 10000000

706643 =7 x 29 x 59 x 59 x 1

oooo
2P + 1 = 7(145860n + 100949)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=3533230000
P = 510510n + 353323

2P 4+ 1 =2(510510n + 353323) + 1 = 10210201 + 706646 + 1 = 10210201 + 706647
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

706647 = 3 x 109 x 2161 x 1

oooo
2P + 1 = 3(340340n + 235549)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=13533290000
P = 5105100 + 353329

2P 4+ 1 =2(510510n + 353329) + 1 = 1021020n + 706658 + 1 = 10210201 + 706659

0000010210200 20 2003,5,7,11,13,17000000 10000000

706659 = 3 x 235553 x 1

oooo
2P + 1 = 3(340340n + 235553)

86



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3533330000
P = 5105100 + 353333

2P + 1 =2(510510n + 353333) + 1 = 1021020n + 706666 + 1 = 10210201 + 706667

0000010210200 20 2003,5,7,11,13,17000000 10000000

706667 = 13 x 19 x 2861 x 1

oooo
2P + 1 = 13(78540n + 54359)

000000001 3ooobooooooboooobooobO0o0obooboboDoooDbOooDbOoo
good

Q=23533410000
P = 510510n + 353341

2P 4+ 1 =2(510510n + 353341) + 1 = 10210201 + 706682 + 1 = 10210201 + 706683

0000010210200 20 2003,5,7,11,13,17000000 10000000

706683 = 3 x 103 x 2287 x 1

oooo
2P + 1 = 3(340340n + 235561)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=13533470000
P = 510510n + 353347

2P + 1 = 2(510510n + 353347) + 1 = 10210201 + 706694 + 1 = 10210201 + 706695
0000010210200 20 2003,5,7,11,13,17000000 10000000

706695 =3 x 5 x 11 x 4283 x 1

oooo
2P +1 =165(6188n + 4283)

ooobobgoolesobooboooooboobobOobooboobooobobUobOobDOooDOobooo
good

Q=23533510000
P = 5105100 + 353351

87



2P + 1 =2(510510n + 353351) + 1 = 1021020n + 706702 + 1 = 1021020n + 706703

0000010210200 20 2003,5,7,11,13,17000000 1000000

706703 = 706703 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 196193

gboboobogobogoboboobboobooobooooboon

Q =3533570000
P = 510510n + 353357

2P + 1 = 2(510510n + 353357) + 1 = 10210201 4 706714 + 1 = 10210201 + 706715
0000010210200 20 2003,5,7,11,13,17000000 10000000

706715 =5 x 281 x 503 x 1

oooo
2P + 1 = 5(204204n + 141343)

gooooooOosOoOoboOoOoboOoOobOo0bObOO0bO0obDOoOobDOoOobDbOODbOOoDbDbOUODOO
goo

Q=3533590000
P = 510510n + 353359

2P + 1 = 2(510510n + 353359) 4+ 1 = 10210201 + 706718 + 1 = 10210201 + 706719
0000010210200 20 2003,5,7,11,13,17000000 10000000

706719 =3 x 13 x 18121 x 1

0ooo
2P + 1 = 39(26180n + 18121)

obooboooo3ooooboooooobooobooboobDUooboboooobOoobUoo
good

Q=3533630000
P = 510510n + 353363

2P 4+ 1 =2(510510n + 353363) + 1 = 10210201 + 706726 + 1 = 1021020n 4 706727

0000010210200 20 2003,5,7,11,13,17000000 10000000

706727 =7 x 7 x 14423 x 1

88



oooo
2P + 1 = 7(145860n + 100961)

0000000070000 0D00D000O00ODOODOO0OOOODOODOODOODOO0OO0DOODOODODn
goo

Q=3533690000
P = 5105101 + 353369

2P + 1 = 2(510510n + 353369) + 1 = 1021020 + 706738 + 1 = 10210201 + 706739
0000010210200 20 2003,5,7,11,13,17000000 10000000

706739 = 11 x 47 x 1367 x 1

oooo
2P + 1 = 11(92820n + 64249)

o0boobO0oobOlnooooo0oOo0ooboboOoobO0oo0bDO0o0oboobUoboDoooDboOoobOoo
good

Q=3533710000
P = 510510n + 353371

2P + 1 = 2(510510n + 353371) 4+ 1 = 10210201 4 706742 + 1 = 10210201 + 706743
0000010210200 20 2003,5,7,11,13,17000000 10000000

706743 =3 x 3 x 19 x 4133 x 1

oooo
2P + 1 = 3(340340n + 235581)

obooboobooo3oboboboooooboobooooboboboobooobooboboooo
goo

Q=3533770000
P = 510510n + 353377

2P 4+ 1 =2(510510n + 353377) + 1 = 1021020n + 706754 + 1 = 10210201 + 706755

oo000010210200 20 2003,5,7,11,13,17000000 10000000

706755 =3 x5 X7 xH3x 127 x 1

oooo
2P + 1 = 105(9724n + 6731)

gooodooOoles0dboboOO0OO00ODOO0O0ODOUODOUDOUODbDO0OO0OOOUODOUODOO
gogo

89



Q=13533830000
P = 510510n + 353383

2P + 1 =2(510510n + 353383) + 1 = 1021020n + 706766 + 1 = 10210201 + 706767

0000010210200 20 2003,5,7,11,13,17000000 10000000

706767 = 3 x 23 x 10243 x 1

oooo
2P + 1 = 3(340340n + 235589)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=353387 0000
P = 510510n + 353387

2P 4+ 1 =2(510510n + 353387) + 1 = 1021020n + 706774 + 1 = 1021020n + 706775

0000010210200 20 2003,5,7,11,13,17000000 10000000

706775 =5 x5 x 17 x 1663 x 1

oooo
2P + 1 = 85(12012n + 8315)

O00o0obO0ooos ODooboboob00ooboboobobooo0b0o0oboobobDoooDbOoboDbOoo
good

Q=13533890000
P = 5105100 + 353389

2P 4+ 1 =2(510510n + 353389) + 1 = 1021020n + 706778 + 1 = 10210201 + 706779

0000010210200 20 2003,5,7,11,13,17000000 10000000

706779 =3 x 3 x 3 x 26177 x 1

oooo
2P + 1 = 3(340340n + 235593)

gooooooOo3o0boooooobooU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUODoOoO
oono

Q=3533930000
P = 510510n + 353393

2P 4+ 1 =2(510510n + 353393) + 1 = 10210201 + 706786 + 1 = 1021020n 4 706787

90



0000010210200 20 2003,5,7,11,13,17000000 1000000

706787 = 706787 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 196277

goboobooobooboboobboobbooboooboon

Q=3533990000
P = 510510n + 353399

2P + 1 = 2(510510n + 353399) 4+ 1 = 10210201 + 706798 + 1 = 10210201 + 706799
0000010210200 20 2003,5,7,11,13,17000000 1000000

706799 = 41 x 17239 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 196289

gboobgobogobooboboobboobbooobooooboon

Q=1353401 0000
P = 5105100 + 353401

2P + 1 = 2(510510n + 353401) 4+ 1 = 10210201 4 706802 + 1 = 10210201 4 706803
0000010210200 20 2003,5,7,11,13,17000000 10000000

706803 = 3 x 235601 x 1

oooO
2P + 1 = 3(340340n + 235601)

gooooooboo3soooooooooboo0ooOobOoUobDoobDOoOobOoUDbDOoOobDboUODboO
goo

Q=3534070000
P = 510510n + 353407

2P 4+ 1 =2(510510n + 353407) + 1 = 1021020n + 706814 + 1 = 10210201 + 706815

0000010210200 20 2003,5,7,11,13,17000000 10000000

706815 =3 x3 xHx113x 139 x 1

0ooo
2P + 1 = 15(68068n + 47121)

91



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=3534110000
P = 510510n + 353411

2P + 1 = 2(510510n + 353411) 4 1 = 10210201 4 706822 + 1 = 10210201 + 706823
0000010210200 20 2003,5,7,11,13,17000000 10000000

706823 = 13 x 54371 x 1

oooo
2P + 1 = 13(78540n + 54371)

0000000 oooooooO0oooOoooOoOooODbOO0o0obO0oOobUobDoOooDbOobODbOoo
good

Q=13534170000
P = 510510n + 353417

2P 4+ 1 = 2(510510n + 353417) + 1 = 10210200 + 706834 + 1 = 10210201 + 706835
0000010210200 20 2003,5,7,11,13,17000000 10000000

706835 =5 x 373 x 379 x 1

oooo
2P + 1 = 5(204204n + 141367)

obooboobooosOob0obUbobOOob0Obo0ob0obDOobOobObOobUbDobDOobObOOobOobDOobDoo
goo

Q=3534200000
P = 510510n + 353429

2P + 1 = 2(510510n + 353429) + 1 = 10210201 + 706858 + 1 = 10210201 + 706859
0000010210200 20 2003,5,7,11,13,17000000 1000000
706859 = 23 x 73 x 421 x 1
0000 10210200000000000000
2P + 1 = 510510m + 196349

gbooboobooobooboboobboobboooboooboon

Q=13534430000
P = 510510n + 353443

2P + 1 =2(510510n + 353443) + 1 = 10210201 + 706886 + 1 = 10210201 + 706887

92



0000010210200 20 2003,5,7,11,13,17000000 10000000

706887 =3 x 3 x 3 x 3 x3x2909 x 1

oooo
2P + 1 = 3(340340n + 235629)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=13534490000
P = 510510n + 353449

2P 4+ 1 = 2(510510n + 353449) + 1 = 10210201 4 706898 + 1 = 1021020n + 706899
0000010210200 20 2003,5,7,11,13,17000000 10000000

706899 = 3 x 101 x 2333 x 1

oooo
2P + 1 = 3(340340n + 235633)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOobDoo
goo

Q=13534530000
P = 5105100 + 353453

2P + 1 = 2(510510n + 353453) + 1 = 10210201 4 706906 + 1 = 10210201 + 706907
0000010210200 20 2003,5,7,11,13,17000000 1000000
706907 = 706907 x 1
0000 10210200000000000000
2P + 1 = 510510m + 196397

gbooboobooobooboboobboobbooboooboon

Q=353459 0000
P = 510510n + 353459

2P 4+ 1 = 2(510510n + 353459) + 1 = 1021020n + 706918 + 1 = 1021020n + 706919

0000010210200 20 2003,5,7,11,13,17000000 1000000

706919 = 706919 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 196409

93



gboboobogobogoboboobboobooobooooboon

Q=1353461 0000
P = 510510n + 353461

2P + 1 = 2(510510n + 353461) 4+ 1 = 10210201 4+ 706922 + 1 = 10210201 4 706923
0000010210200 20 2003,5,7,11,13,17000000 10000000

706923 =3 x 3 X T X7 x7x229x 1

oooo
2P + 1 = 21(48620n + 33663)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3534670000
P = 5105101 + 353467

2P + 1 = 2(510510n + 353467) 4+ 1 = 10210201 4 706934 + 1 = 10210201 + 706935
0000010210200 20 2003,5,7,11,13,17000000 10000000

706935 = 3 x 5 x 47129 x 1

oooo
2P + 1 = 15(68068n + 47129)

oooooooolibooooboooooboboooboobooboobooooobOooboo
good

Q=13534710000
P = 5105100 + 353471

2P 4+ 1 = 2(510510n + 353471) 4+ 1 = 10210201 4 706942 + 1 = 1021020n + 706943
0000010210200 20 2003,5,7,11,13,17000000 1000000
706943 = 706943 x 1
0000 10210200000000000000
2P + 1 = 510510m + 196433

goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=3534730000
P = 510510n + 353473

2P + 1 =2(510510n + 353473) + 1 = 10210201 + 706946 + 1 = 1021020n + 706947

94



0000010210200 20 2003,5,7,11,13,17000000 10000000

706947 =3 x 71 x 3319 x 1

oooo
2P + 1 = 3(340340n + 235649)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q=3534770000
P = 510510n + 353477

2P + 1 = 2(510510n + 353477) 4+ 1 = 10210201 + 706954 + 1 = 10210201 + 706955
0000010210200 20 2003,5,7,11,13,17000000 10000000

706955 = 5 x 31 x 4561 x 1

oooo
2P + 1 = 5(204204n + 141391)

oooooooOds0U0bOO0oO0bOOO0ObOO0DbOOO0DbDO0ODOODOODbDOODOODOUODOO
goo

Q=353480 0000
P = 510510n + 353489

2P 4+ 1 =2(510510n + 353489) + 1 = 10210201 + 706978 + 1 = 10210201 + 706979
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

706979 =7 x 13 x 17 x 457 x 1

ooono
2P + 1 = 1547(660n + 457)

000000001470 0000000000 0DO0ODO0O0O00OO0ODODOoDUOOODOOoOOonOOd
googo

Q=1353491 0000
P = 5105100 + 353491

2P 4+ 1 =2(510510n + 353491) + 1 = 1021020n + 706982 + 1 = 10210201 + 706983

0000010210200 20 2003,5,7,11,13,17000000 10000000

706983 = 3 x 235661 x 1

oooo
2P + 1 = 3(340340n + 235661)

95



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3534970000
P = 510510n + 353497

2P 4+ 1 =2(510510n + 353497) + 1 = 10210201 + 706994 + 1 = 1021020n + 706995

0000010210200 20 2003,5,7,11,13,17000000 10000000

706995 =3 x 3 x 3 x5 x 5237 x 1

oooo
2P + 1 = 15(68068n + 47133)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=23535010000
P = 510510n + 353501

2P 4+ 1 =2(510510n + 353501) + 1 = 1021020n + 707002 + 1 = 10210201 + 707003

0000010210200 20 2003,5,7,11,13,17000000 10000000

707003 =11 x 11 x 5843 x 1

oooo
2P + 1 = 11(92820n + 64273)

goooooboOolnoobooO0ooobO0bOobOoU0oOoU0oOoOoDOobDOoOoDOobDOobDobOoboOoooO
good

Q=3535030000
P = 510510n + 353503

2P + 1 = 2(510510n + 353503) + 1 = 10210201 4 707006 + 1 = 10210201 + 707007
0000010210200 20 2003,5,7,11,13,17000000 10000000

707007 =3 x 7 x 131 x 257 x 1

oooo
2P + 1 = 21(48620n + 33667)

oboobOoobo21000b0b00ob00oob0booo0booo0b0o0oboobUobDooobOoobOoo
good

Q=13535130000
P = 5105100 + 353513

96



2P + 1 =2(510510n + 353513) + 1 = 1021020n + 707026 + 1 = 1021020n + 707027

0000010210200 20 2003,5,7,11,13,17000000 1000000

707027 = 707027 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m 4+ 196517

gboboobogobogoboboobboobooobooooboon

Q=13535190000
P = 5105100 + 353519

2P + 1 = 2(510510n + 353519) 4 1 = 10210201 4+ 707038 4+ 1 = 10210201 4 707039
0000010210200 20 2003,5,7,11,13,17000000 1000000

707039 = 271 x 2609 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 196529

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3535270000
P = 510510n + 353527

2P 4+ 1 =2(510510n + 353527) + 1 = 10210201 + 707054 + 1 = 1021020n + 707055
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

707055 =3 x 5 x 47137 x 1

oooOo
2P + 1 = 15(68068n + 47137)

o00o0o0O0oooibooobooooooooooooobOooboOobobooooDbOooDbOoo
good

Q=23535310000
P = 510510n + 353531

2P + 1 =2(510510n + 353531) + 1 = 1021020n + 707062 + 1 = 1021020n + 707063

0000010210200 20 2003,5,7,11,13,17000000 10000000

707063 = 7 x 101009 x 1

97



oooo
2P + 1 = 7(145860n + 101009)

0000000070000 0D00D000O00ODOODOO0OOOODOODOODOODOO0OO0DOODOODODn
goo

Q=3535330000
P = 5105100 + 353533

2P + 1 = 2(510510n + 353533) + 1 = 1021020n + 707066 + 1 = 1021020n + 707067
0000010210200 20 2003,5,7,11,13,17000000 10000000

707067 =3 x 3 x 261 x 313 x 1

oooo
2P + 1 = 3(340340n + 235689)

o00obOobooo30b0obobooooobobOooOoOobOOobOobDobDobooobOobOoobDOoo
goo

Q=1353537 0000
P = 5105101 + 353537

2P + 1 = 2(510510n + 353537) + 1 = 10210201 + 707074 + 1 = 10210201 + 707075
0000010210200 20 2003,5,7,11,13,17000000 10000000

707075 =5 x 5 x 28283 x 1

oooo
2P + 1 = 5(204204n + 141415)

oboobobooosOobUobUobOOobobo0obO0obDOobOobObOobUbDobDOobObOOobOobDOobDOoo
goo

Q=3535390000
P = 510510 + 353539

2P 4+ 1 =2(510510n + 353539) + 1 = 1021020n + 707078 + 1 = 1021020n + 707079

oo000010210200 20 2003,5,7,11,13,17000000 10000000

707079 = 3 x 31 x 7603 x 1

good
2P + 1 = 3(340340n + 235693)

gooooooOo3soUobooobooUoboOoU0oOoU0bOoUbDOoUbDOoUbDbOUDbDOoOobDbOUODoOO
oono

98



Q=13535430000
P = 510510n + 353543

2P + 1 = 2(510510n + 353543) 4+ 1 = 10210201 4 707086 + 1 = 10210201 + 707087
0000010210200 20 2003,5,7,11,13,17000000 1000000

707087 = 541 x 1307 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 196577

gbobooobogobooboboobboobooobuoooboon

Q =3535570000
P = 510510n + 353557

2P 4+ 1 =2(510510n + 353557) + 1 = 1021020n + 707114 + 1 = 1021020n + 707115

0000010210200 20 2003,5,7,11,13,17000000 10000000

707115 =3 x5 x 17 x47 x 59 x 1

oooo
2P + 1 = 255(4004n + 2773)

ooooooogo2s00obo0oo0oooobooooogoboobbo0ooooooDooDboo
good

Q=3535670000
P = 510510n + 353567

2P 4+ 1 =2(510510n + 353567) + 1 = 1021020n + 707134 + 1 = 1021020n + 707135

0000010210200 20 2003,5,7,11,13,17000000 10000000

707135 =5 x 11 x 13 x 23 x 43 x 1

oooo
2P + 1 = 715(1428n + 989)

gooodOoooris0dood0oOo00ooO0o0oDo0oo0ooOobooO0oooooDoooDooGg
good

Q=23535690000
P = 510510 + 353569

2P 4+ 1 =2(510510n + 353569) + 1 = 1021020n + 707138 + 1 = 1021020n + 707139

99



0000010210200 20 2003,5,7,11,13,17000000 10000000

707139 =3 x 3 x 78571 x 1

good
2P + 1 = 3(340340n + 235713)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=23535790000
P = 5105100 + 353579

2P + 1 = 2(510510n + 353579) 4+ 1 = 10210201 4+ 707158 4+ 1 = 10210201 4 707159
0000010210200 20 2003,5,7,11,13,17000000 1000000

707159 = 707159 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 196649

gboboobogobooboboobboobbooobuoonooboon

Q =3535810000
P =510510n + 353581

2P + 1 = 2(510510n + 353581) 4+ 1 = 10210201 4+ 707162 + 1 = 10210201 + 707163
0000010210200 20 2003,5,7,11,13,17000000 10000000

707163 = 3 x 107 x 2203 x 1

oooo
2P + 1 = 3(340340n + 235721)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3535930000
P = 510510n + 353593

2P + 1 =2(510510n + 353593) + 1 = 10210201 + 707186 + 1 = 1021020n + 707187

0000010210200 20 2003,5,7,11,13,17000000 10000000

707187 =3 x 13 x 18133 x 1

oooo
2P +1 = 39(26180n + 18133)

100



oo0oOdoOooOo3ooooooobdboobooU0ooUooooDOobDooDOobDOoboooooog
goog

Q=3535970000
P = 510510n + 353597

2P + 1 = 2(510510n + 353597) + 1 = 10210201 4 707194 + 1 = 10210201 + 707195
0000010210200 20 2003,5,7,11,13,17000000 10000000

707195 = 5 x 141439 x 1

oooo
2P + 1 = 5(204204n + 141439)

g00ob0obOO00Os000D0000000D00ODODOOODOODODODOOOODDODODOD
goo

Q=13535990000
P = 5105100 + 353599

2P 4+ 1 = 2(510510n + 353599) + 1 = 10210201 4 707198 + 1 = 1021020n + 707199
0000010210200 20 2003,5,7,11,13,17000000 10000000

707199 =3 x 19 x 19 X 653 x 1

good
2P + 1 = 3(340340n + 235733)

obooboobooo3oboboooooobooboooobobobooboooboobOobooooo
goo

Q=3536030000
P = 510510n + 353603

2P + 1 = 2(510510n + 353603) 4+ 1 = 10210201 4 707206 + 1 = 10210200 + 707207
0000010210200 20 2003,5,7,11,13,17000000 1000000
707207 = 263 x 2689 x 1
0000 10210200000000000000
2P + 1 = 510510m + 196697

gbooboobooobooboboobboobboooboooboon

Q=13536090000
P = 5105101 + 353609

2P 4+ 1 =2(510510n + 353609) + 1 = 1021020n + 707218 + 1 = 1021020n + 707219

101



0000010210200 20 2003,5,7,11,13,17000000 1000000

707219 = 707219 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 196709

goboobooobooboboobboobbooboooboon

Q=3536110000
P = 510510n + 353611

2P + 1 = 2(510510n + 353611) 4+ 1 = 10210201 + 707222 + 1 = 10210201 + 707223
0000010210200 20 2003,5,7,11,13,17000000 10000000

707223 =3 x 11 x 29 x 739 x 1

oooOo
2P + 1 = 33(30940n + 21431)

gboooooo3dbooooboooooobooobooboobooboboooobOoobOoo
good

Q=3536210000
P = 510510n + 353621

2P 4+ 1 =2(510510n + 353621) + 1 = 1021020n + 707242 + 1 = 1021020n + 707243
oo000gl10210200 20 2003,5,7,11,13,170 00000 1000000
707243 = 83 x 8521 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 196733

oooboobooobooboboobboobboobooobooo

Q=3536230000
P = 510510n + 353623

2P + 1 =2(510510n + 353623) + 1 = 10210201 + 707246 + 1 = 1021020n + 707247

0000010210200 20 2003,5,7,11,13,17000000 10000000

707247 =3 x 3 x 78583 x 1

oooo
2P + 1 = 3(340340n + 235749)

102



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3536270000
P = 510510n + 353627

2P 4+ 1 =2(510510n + 353627) + 1 = 1021020n + 707254 + 1 = 1021020n + 707255

0000010210200 20 2003,5,7,11,13,17000000 10000000

707255 =5 x 37 x 3823 x 1

oooo
2P + 1 = 5(204204n + 141451)

o00ob0ooO0o0os000b0000000DO0ODOO0DO0OObO0ODbDODOO0ODbDOO0OODbDODODOn
goo

Q=13536200000
P = 510510n + 353629

2P 4+ 1 =2(510510n + 353629) + 1 = 1021020n + 707258 + 1 = 10210201 + 707259

0000010210200 20 2003,5,7,11,13,17000000 10000000

707259 =3 X 7 x 33679 x 1

oooo
2P + 1 = 21(48620n + 33679)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=3536410000
P = 510510n + 353641

2P + 1 = 2(510510n + 353641) 4+ 1 = 10210201 + 707282 + 1 = 10210201 + 707283
0000010210200 20 2003,5,7,11,13,17000000 10000000

707283 =3 x 3 x 89 x 883 x 1

good
2P + 1 = 3(340340n + 235761)

g0obOobooo30bobooooooboobooDooboboboDobDobooobUobOobDoo
goo

Q =3536530000
P = 510510n + 353653

103



2P + 1 =2(510510n + 353653) + 1 = 1021020n + 707306 + 1 = 1021020n + 707307

0000010210200 20 2003,5,7,11,13,17000000 10000000

707307 = 3 x 43 x 5483 x 1

oooo
2P + 1 = 3(340340n + 235769)

gooooooOo300boo0ooU0ooU0ooU0bOoUDOOoUoDOoUbObOUDOoObDbOUDoOO
goo

Q=3536570000
P = 510510n + 353657

2P + 1 = 2(510510n + 353657) + 1 = 10210201 + 707314 + 1 = 10210201 + 707315
0000010210200 20 2003,5,7,11,13,17000000 10000000

707315 =5 x 7x 7 x 2887 x 1

oooo
2P + 1 = 35(29172n + 20209)

O0000O0oOoo3 0000000000000 bo0oboobobDoooDbOooDbOon
good

Q=13536590000
P = 510510n + 353659

2P + 1 = 2(510510n + 353659) 4+ 1 = 10210201 + 707318 4+ 1 = 10210201 4 707319
0000010210200 20 2003,5,7,11,13,17000000 10000000

707319 =3 x 3 x 3 x 17 x23 x 67 x1

oooo
2P + 1 = 51(20020n + 13869)

gooOdoOooOoslbobobo0o0o0ob0bOobooU0oboUoboobDOobDOo0oDOobDOobDobOboOoooO
good

Q=3536630000
P = 510510n + 353663

2P 4+ 1 =2(510510n + 353663) + 1 = 1021020n + 707326 + 1 = 1021020n + 707327

0000010210200 20 2003,5,7,11,13,17000000 1000000

707327 = 31 x 22817 x 1

104



0000 102102000000000000000

2P 4+ 1 =510510m + 196817

gbobooobogobooboboobboobboooboooboon

Q=13536690000
P = 510510n + 353669

2P + 1 = 2(510510n + 353669) 4+ 1 = 10210201 4 707338 4+ 1 = 10210201 + 707339
0000010210200 20 2003,5,7,11,13,17000000 1000000

707339 = 29 x 24391 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 196829

gboboobooobooboboobboobobooobuoonooboon

Q=3536710000
P = 510510n + 353671

2P 4+ 1 = 2(510510n + 353671) 4+ 1 = 10210201 4 707342 + 1 = 1021020n + 707343
0000010210200 20 2003,5,7,11,13,17000000 10000000

707343 =3 x 7 x 13 x 2591 x 1

ooono
2P + 1 = 273(3740n + 2591)

00000DbOo02730000000000000O00D000O00O00O0DOODOODODODOODOO0
good

Q=3536770000
P = 510510n + 353677

2P 4+ 1 =2(510510n + 353677) + 1 = 1021020n + 707354 + 1 = 1021020n + 707355

0000010210200 20 2003,5,7,11,13,17000000 10000000

707355 =3 x 3 x5H x 11 x 1429 x 1

oooOo
2P +1 = 165(6188n + 4287)

gboobobgoolesobooooooobooboboboooobooobobUoboboDoboDoooo
good

105



Q=13536810000
P = 510510n + 353681

2P + 1 = 2(510510n + 353681) 4+ 1 = 10210201 4 707362 + 1 = 10210201 + 707363
0000010210200 20 2003,5,7,11,13,17000000 1000000

707363 = 337 x 2099 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 196853

gbobooobogobooboboobboobooobuoooboon

Q =3536870000
P = 510510n + 353687

2P + 1 =2(510510n + 353687) + 1 = 1021020n + 707374 + 1 = 1021020n + 707375

0000010210200 20 2003,5,7,11,13,17000000 10000000

707375 =5 x5 x5 x 5659 x 1

oooo
2P + 1 = 5(204204n + 141475)

gooooooOos0OU0bOoOoboOoOobOOo0bObOO0bO0oDOoOoDbDOoO0oDbbOODOOoDbOODOO
goo

Q=3536930000
P = 510510n + 353693

2P + 1 =2(510510n + 353693) + 1 = 10210201 + 707386 + 1 = 1021020n + 707387

0000010210200 20 2003,5,7,11,13,17000000 10000000

707387 = 17 x 41611 x 1

0ooo
2P + 1 = 17(60060n + 41611)

goo0doOooOo1yooooO0oOoO0obOO0bOOo0OoU0OOU0oOoO0oDOOoDOOoOoDOoDOobOoooOoodg
good

Q=23536990000
P = 510510 + 353699

2P 4+ 1 =2(510510n + 353699) + 1 = 1021020n + 707398 + 1 = 1021020n + 707399

106



0000010210200 20 2003,5,7,11,13,17000000 10000000

707399 =7 x 11 x 9187 x 1

oooo
2P + 1 = 77(13260n + 9187)

Oo00odooogywoOooOoO0ooOooOOooOOoOooOooOOooooOooDOoooooooooooog
goog

Q=2353701 0000
P = 5105100 + 353701

2P + 1 = 2(510510n + 353701) 4+ 1 = 10210201 4 707402 + 1 = 10210201 4 707403
0000010210200 20 2003,5,7,11,13,17000000 10000000

707403 = 3 x 37 x 6373 x 1

ooono
2P + 1 = 3(340340n + 235801)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3537070000
P = 510510n + 353707

2P + 1 = 2(510510n + 353707) + 1 = 1021020n + 707414 + 1 = 1021020n + 707415
0000010210200 20 2003,5,7,11,13,17000000 10000000

707415 =3 x 5 x 47161 x 1

0ooo
2P + 1 = 15(68068n + 47161)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=13537110000
P = 510510n + 353711

2P 4+ 1 =2(510510n + 353711) + 1 = 1021020n + 707422 + 1 = 1021020n + 707423

0000010210200 20 2003,5,7,11,13,17000000 1000000

707423 = 349 x 2027 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 196913

107



gboboobogobogoboboobboobooobooooboon

Q=13537130000
P = 510510n + 353713

2P + 1 = 2(510510n + 353713) 4+ 1 = 10210201 4 707426 + 1 = 10210200 + 707427
0000010210200 20 2003,5,7,11,13,17000000 10000000

707427 =3 x 3 x 3 x 7T x 19 x 197 x 1

oooo
2P + 1 = 21(48620n + 33687)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3537230000
P = 510510n + 353723

2P + 1 = 2(510510n + 353723) 4+ 1 = 10210201 + 707446 + 1 = 10210200 + 707447
0000010210200 20 2003,5,7,11,13,17000000 10000000

707447 = 13 x 54419 x 1

0ooo
2P + 1 = 13(78540n + 54419)

oboobooobooooobooooooboooboobooboobooooobOoobOoo
good

Q=3537290000
P = 5105101 + 353729

2P 4+ 1 = 2(510510n + 353729) + 1 = 10210201 4 707458 + 1 = 1021020n + 707459
0000010210200 20 2003,5,7,11,13,17000000 1000000
707459 = 707459 x 1
0000 10210200000000000000
2P + 1 = 510510m + 196949

goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=353737 0000
P = 510510n + 353737

2P + 1 =2(510510n + 353737) + 1 = 1021020n + 707474 + 1 = 1021020n + 707475

108



0000010210200 20 2003,5,7,11,13,17000000 10000000

707475 =3 x5 x 5 x 9433 x 1

oooo
2P + 1 = 15(68068n + 47165)

obooboooolibhooobobooooobobooobooboobooboboooobOoobOoo
good

Q=23537410000
P = 5105100 + 353741

2P + 1 = 2(510510n + 353741) 4+ 1 = 10210201 + 707482 + 1 = 10210201 + 707483
0000010210200 20 2003,5,7,11,13,17000000 10000000

707483 =7 x 211 x 479 x 1

oooo
2P + 1 = 7(145860n + 101069)

goooooobogvyooooOoooOobOOoOooOOoO0obDOo0obDOoOoDOoOobDbOUODOoOobDbOUODboOO
goo

Q=13537470000
P = 510510n + 353747

2P 4+ 1 =2(510510n + 353747) + 1 = 1021020n + 707494 + 1 = 1021020n + 707495
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

707495 = 5 x 141499 x 1

oooo
2P + 1 = 5(204204n + 141499)

oboobobooos0b0b0ObO0OO0b00ObO0ObDObOUOObO0ObDUObDObDObObOObOobDObDOC
goo

Q=23537610000
P = 5105100 + 353761

2P 4+ 1 =2(510510n + 353761) + 1 = 1021020n + 707522 + 1 = 1021020n + 707523

0000010210200 20 2003,5,7,11,13,17000000 10000000

707523 =3 x 17 x 13873 x 1

oooo
2P + 1 = 51(20020n + 13873)

109



gbogoooooslbobooboboooooobobooobooboobooboboooobOobobOoo
goog

Q=3537670000
P = 510510n + 353767

2P 4+ 1 =2(510510n + 353767) + 1 = 1021020n + 707534 + 1 = 1021020n + 707535

0000010210200 20 2003,5,7,11,13,17000000 10000000

707535 =3 X3 X I XxIxdx1747x 1

oooOo
2P + 1 = 15(68068n + 47169)

o00o0ooO0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=3537770000
P = 5105100 + 353777

2P 4+ 1 =2(510510n + 353777) + 1 = 1021020n + 707554 + 1 = 10210201 + 707555

0000010210200 20 2003,5,7,11,13,17000000 10000000

707555 = 5 x 141511 x 1

oooo
2P + 1 = 5(204204n + 141511)

goooooo0ds0U0bO00bOO0ObOO0OO0ODbDOU0UDOUODOUODOUODOODOUODOO
ooo

Q=3537790000
P = 510510n + 353779

2P + 1 = 2(510510n + 353779) 4+ 1 = 10210201 + 707558 + 1 = 10210201 + 707559
0000010210200 20 2003,5,7,11,13,17000000 10000000

707559 = 3 x 227 x 1039 x 1

good
2P + 1 = 3(340340n + 235853)

g0obobooo30bobobooooobobooDoobobobDoboDobooobUobDOooDoo
goo

Q =3537830000
P =510510n + 353783

110



2P + 1 =2(510510n + 353783) + 1 = 1021020n + 707566 + 1 = 10210201 + 707567

0000010210200 20 2003,5,7,11,13,17000000 10000000

707567 =7 x 101081 x 1

oooo
2P + 1 = 7(145860n + 101081)

gooooooOgvyoUooOoO0oOOoU0OOoU0OO0ODOOU0DOOoUODOUODOOUODOODOOUODOO
goo

Q=353789 0000
P = 510510n + 353789

2P + 1 = 2(510510n + 353789) + 1 = 10210201 + 707578 + 1 = 10210201 + 707579
0000010210200 20 2003,5,7,11,13,17000000 1000000

707579 =19 x 167 x 223 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 197069

gboboobooobooboboobboobboobooobooo

Q=3537910000
P = 510510n + 353791

2P + 1 = 2(510510n + 353791) 4+ 1 = 10210201 4 707582 + 1 = 10210201 + 7075833
0000010210200 20 2003,5,7,11,13,17000000 10000000

707583 = 3 x 163 x 1447 x 1

0ooo
2P + 1 = 3(340340n + 235861)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3537970000
P = 510510n + 353797

2P 4+ 1 =2(510510n + 353797) + 1 = 1021020n + 707594 + 1 = 1021020n + 707595

0000010210200 20 2003,5,7,11,13,17000000 10000000

707595 =3 x5 X 7 x23x293 x 1

111



oooo
2P + 1 = 105(9724n + 6739)

O00ob0OobOoDol5000000000000DOO0DOO0DOO0O0O0O0DOODOODOODODOODOODn
good

Q=3538030000
P = 510510n + 353803

2P + 1 = 2(510510n + 353803) + 1 = 1021020n + 707606 + 1 = 1021020n + 707607
0000010210200 20 2003,5,7,11,13,17000000 10000000

707607 = 3 x 3 x 78623 x 1

oooo
2P + 1 = 3(340340n + 235869)

o00obOobooo30b0obobooooobobOooOoOobOOobOobDobDobooobOobOoobDOoo
goo

Q=1353807 0000
P = 5105100 + 353807

2P + 1 = 2(510510n + 353807) + 1 = 10210201 + 707614 + 1 = 10210201 + 707615
0000010210200 20 2003,5,7,11,13,17000000 10000000

707615 =5 x 97 x 1459 x 1

oooo
2P + 1 = 5(204204n + 141523)

oboobobooosOobUobUobOOobobo0obO0obDOobOobObOobUbDobDOobObOOobOobDOobDOoo
goo

Q=23538090000
P = 510510 + 353809

2P 4+ 1 =2(510510n + 353809) + 1 = 1021020n + 707618 + 1 = 10210201 + 707619

oo000010210200 20 2003,5,7,11,13,17000000 10000000

707619 = 3 x 11 x 41 x 523 x 1

oooOo
2P + 1 = 33(30940n + 21443)

go0odoOoboOo33boobooooob0oboobooooooooDobDUooDOobDOoboooboOooo
googo

112



Q=13538130000
P = 510510n + 353813

2P + 1 = 2(510510n + 353813) + 1 = 10210201 + 707626 + 1 = 10210201 + 707627
0000010210200 20 2003,5,7,11,13,17000000 1000000

707627 = 707627 x 1

o000 102102000 000000000000

2P +1 =510510m + 197117

gboboobogoboobboobboobbooobuoonooboon

Q=3538190000
P = 510510n + 353819

2P 4+ 1 =2(510510n + 353819) + 1 = 10210201 + 707638 + 1 = 10210201 + 707639
oboo0o00ol10210200 20 2003,5,7,11,13,17000000 1000000

707639 =89 x 7951 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 197129

gboboobooobooboboobboobboobooobooo

Q=3538270000
P = 510510n + 353827

2P 4+ 1 = 2(510510n + 353827) + 1 = 10210200 + 707654 + 1 = 1021020n + 707655
0000010210200 20 2003,5,7,11,13,17000000 10000000

707655 =3 x5 x 13 x19x 191 x 1

oooo
2P + 1 = 195(5236n + 3629)

o00ob00obOo019 000000000000 booooOoo00oobO0ob0obOoDOoDOoboOon
good

Q=23538310000
P = 510510n + 353831

2P 4+ 1 =2(510510n + 353831) + 1 = 1021020n + 707662 + 1 = 1021020n + 707663

0000010210200 20 2003,5,7,11,13,17000000 10000000

707663 = 11 x 64333 x 1

113



oooo
2P + 1 =11(92820n + 64333)

oooobooobolnooooboooooboboooboobooboobooooobOoobOoo
good

Q=3538330000
P = 510510n + 353833

2P 4+ 1 = 2(510510n + 353833) + 1 = 10210200 + 707666 + 1 = 10210200 + 707667
0000010210200 20 2003,5,7,11,13,17000000 10000000

707667 = 3 x 235889 x 1

oooo
2P + 1 = 3(340340n + 235889)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

Q=3538390000
P = 510510n + 353839

2P + 1 = 2(510510n + 353839) 4 1 = 10210201 + 707678 + 1 = 10210201 + 707679
0000010210200 20 2003,5,7,11,13,17000000 10000000

707679 =3 x 3 X 7 x47 x 239 x 1

oooo
2P + 1 = 21(48620n + 33699)

gboooboooobo21o0ooboooooobooobooob0o0obooboboooobOoobOoo
goog

Q=3538490000
P = 510510n + 353849

2P + 1 =2(510510n + 353849) + 1 = 1021020n + 707698 + 1 = 1021020n + 707699

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

707699 = 31 x 37 x 617 x 1

o000 10210200 000000000000

2P +1 = 510510m + 197189

ooboobooobooboboobboobboobooobooo

114



Q=23538510000
P = 510510n + 353851

2P + 1 = 2(510510n + 353851) 4 1 = 10210201 + 707702 4+ 1 = 10210201 + 707703
0000010210200 20 2003,5,7,11,13,17000000 10000000

707703 = 3 x 235901 x 1

oooo
2P + 1 = 3(340340n + 235901)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=3538610000
P = 510510n + 353861

2P + 1 = 2(510510n + 353861) 4+ 1 = 10210201 + 707722 + 1 = 10210201 + 707723
0000010210200 20 2003,5,7,11,13,17000000 1000000

707723 = 707723 x 1

o000 10210200 0000000000000

2P +1 =510510m + 197213

gboboobooobooboboobboobboobooobooo

Q=3538630000
P = 510510n + 353863

2P + 1 =2(510510n + 353863) + 1 = 1021020n + 707726 + 1 = 1021020n + 707727

0000010210200 20 2003,5,7,11,13,17000000 10000000

707727 =3 x 17 x 13877 x 1

oooOo
2P + 1 = 51(20020n + 13877)

obooooooslbobooobooooobobooobooboobooboboooobOoobOoo
good

Q=353870000
P = 510510n + 353867

2P 4+ 1 =2(510510n + 353867) + 1 = 1021020n + 707734 + 1 = 1021020n + 707735

115



0000010210200 20 2003,5,7,11,13,17000000 10000000

707735 =5 X 7T x 73 x 277 x 1

oooo
2P + 1 = 35(29172n + 20221)

obooboooos3boooboboobooobobooobooboobooboboooobOoobOoo
good

Q=3538690000
P = 510510n + 353869

2P + 1 = 2(510510n + 353869) + 1 = 10210201 + 707738 + 1 = 10210201 + 707739
0000010210200 20 2003,5,7,11,13,17000000 10000000

707739 = 3 x 269 x 877 x 1

oooo
2P + 1 = 3(340340n + 235913)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q=353879 0000
P = 510510n + 353879

2P 4+ 1 =2(510510n + 353879) + 1 = 10210201 + 707758 + 1 = 10210201 + 707759
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

707759 = 13 x 54443 x 1

oooo
2P 4 1 = 13(78540n + 54443)

oboobOooobooooooooooboboooboooboobooboboooobOoobOoo
googd

Q =353887 0000
P = 510510n + 353887

2P 4+ 1 =2(510510n + 353887) + 1 = 1021020n + 707774 + 1 = 1021020n + 707775

0000010210200 20 2003,5,7,11,13,17000000 10000000

707775 =3 x5 x5 x9437 x 1

oooo
2P + 1 = 15(68068n + 47185)

116



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=13538910000
P = 510510n + 353891

2P + 1 = 2(510510n + 353891) 4 1 = 10210201 4 707782 + 1 = 10210201 + 707783
0000010210200 20 2003,5,7,11,13,17000000 1000000

707783 =41 x 61 x 283 x 1

o000 102102000000000000000

2P +1 = 510510m + 197273

gbooboobooobooboboobboobboooboooboon

Q=13538930000
P = 510510n + 353893

2P 4+ 1 =2(510510n + 353893) + 1 = 1021020n + 707786 + 1 = 1021020n + 707787

0000010210200 20 2003,5,7,11,13,17000000 10000000

707787 =3 x 3 x 78643 x 1

good
2P + 1 = 3(340340n + 235929)

gooooooOo3sooboooooUoboUooU0bOoUbDOoUbOoUobObOUDbDOUobDbOUDbOoO
goo

Q=3538970000
P = 510510n + 353897

2P 4+ 1 =2(510510n + 353897) + 1 = 1021020n + 707794 + 1 = 1021020n + 707795

0000010210200 20 2003,5,7,11,13,17000000 10000000

707795 =5 x 11 x 17 x 757 x 1

oooo
2P + 1 = 935(1092n + 757)

O00ob0O0bOo093s 000000000000 boooooo00oobO0obOobOoDOoDOooboOon
good

Q=13530090000
P = 5105101 + 353909

2P 4+ 1 =2(510510n + 353909) + 1 = 1021020n + 707818 + 1 = 10210201 + 707819

117



0000010210200 20 2003,5,7,11,13,17000000 10000000

707819 =7 x 101117 x 1

oooo
2P + 1 = 7(145860n + 101117)

O0oooooOgvyo0oO0oO0OOoO0OOoO0OO0ODOO0DODO0O0ODOOO0DOOODODOODOOODOOO
goo

Q=23539110000
P = 5105100 + 353911

2P + 1 = 2(510510n + 353911) 4+ 1 = 10210201 4+ 707822 + 1 = 10210201 + 707823
0000010210200 20 2003,5,7,11,13,17000000 10000000

707823 =3 x 3 x 31 x43 x 59 x 1

ooono
2P + 1 = 3(340340n + 235941)

000000003 000000000000DO000O0000DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3539170000
P = 5105100 + 353917

2P + 1 = 2(510510n + 353917) + 1 = 1021020n + 707834 + 1 = 1021020n + 707835
0000010210200 20 2003,5,7,11,13,17000000 10000000

707835 =3 x5 x 47189 x 1

oooo
2P + 1 = 15(68068n + 47189)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=3539210000
P = 510510n + 353921

2P 4+ 1 =2(510510n + 353921) + 1 = 1021020n + 707842 + 1 = 1021020n + 707843

0000010210200 20 2003,5,7,11,13,17000000 1000000

707843 = 199 x 3557 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 197333

118



gboboobogobogoboboobboobooobooooboon

Q=13539290000
P = 5105100 + 353929

2P + 1 = 2(510510n + 353929) + 1 = 10210201 4+ 707858 + 1 = 10210201 4 707859
0000010210200 20 2003,5,7,11,13,17000000 10000000

707809 =3 x3x3x3x3x3x971 x1

oooo
2P + 1 = 3(340340n + 235953)

gooooooo3soooooooooboooooboobooboobbOODbDoobboUOoDboO
goo

Q=3539330000
P = 510510n + 353933

2P + 1 = 2(510510n + 353933) + 1 = 10210201 4 707866 + 1 = 10210201 + 707867
0000010210200 20 2003,5,7,11,13,17000000 1000000

707867 = 47 x 15061 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 197357

gboboobogobooboboobboobboooboooboon

Q=13539390000
P = 5105101 + 353939

2P + 1 = 2(510510n + 353939) 4 1 = 10210201 4+ 707878 4+ 1 = 10210201 4 707879
0000010210200 20 2003,5,7,11,13,17000000 1000000
707879 = 137 x 5167 x 1
0000 10210200000000000000
2P + 1 = 510510m + 197369

gbobogobooobooboboobboobbooobuooooboon

Q=23539530000
P = 510510n + 353953

2P 4+ 1 =2(510510n + 353953) + 1 = 1021020n + 707906 + 1 = 1021020n 4 707907

119



0000010210200 20 2003,5,7,11,13,17000000 10000000

707907 = 3 x 83 x 2843 x 1

oooo
2P + 1 = 3(340340n + 235969)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q =3539590000
P = 510510n + 353959

2P + 1 = 2(510510n + 353959) 4 1 = 10210201 + 707918 + 1 = 10210201 + 707919
0000010210200 20 2003,5,7,11,13,17000000 10000000

707919 =3 x 29 x 79 x 103 x 1

oooo
2P + 1 = 3(340340n + 235973)

gooooooOo3sooooooooboooooobOoobDOoobDOoOobDOoUDbDOoOobDboUODboO
goo

Q=23539630000
P = 510510n + 353963

2P 4+ 1 =2(510510n + 353963) + 1 = 10210201 + 707926 + 1 = 1021020n + 707927
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

707927 =11 x 139 x 463 x 1

oooo
2P + 1 = 11(92820n + 64357)

ooboobooobolnoooobooOooobOboooboo0b0o0obooboboooobOoobOoo
goog

Q=2353971 0000
P = 5105100 + 353971

2P 4+ 1 =2(510510n + 353971) + 1 = 1021020n + 707942 + 1 = 1021020n + 707943

0000010210200 20 2003,5,7,11,13,17000000 10000000

707943 = 3 x 367 x 643 x 1

oooo
2P + 1 = 3(340340n + 235981)

120



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3539810000
P = 510510n + 353981

2P + 1 = 2(510510n + 353981) 4 1 = 10210201 4 707962 + 1 = 10210201 + 707963
0000010210200 20 2003,5,7,11,13,17000000 1000000

707963 = 23 x 30781 x 1

o000 102102000000000000000

2P +1 = 510510m + 197453

gbooboobooobooboboobboobboooboooboon

Q=1353987 0000
P = 5105100 + 353987

2P 4+ 1 =2(510510n + 353987) + 1 = 1021020n + 707974 + 1 = 1021020n + 707975

0000010210200 20 2003,5,7,11,13,17000000 10000000

707975 =5 x 5 x 28319 x 1

oooo
2P + 1 = 5(204204n + 141595)

gboobobooosOoboboboooboobobooobobOobobDobDoboboobOobDOobDoo
goo

Q=2353980 0000
P = 510510n + 353989

2P 4+ 1 =2(510510n + 353989) + 1 = 1021020n + 707978 + 1 = 1021020n + 707979

0000010210200 20 2003,5,7,11,13,17000000 10000000

707979 = 3 x 409 x 577 x 1

oooo
2P + 1 = 3(340340n + 235993)

o00b0o0O0o030000000000b00DbO0oOD0oO0b00obOO0oDOOobDOoOO0oOoDbOoDbDOoDOn
goo

Q=13539930000
P = 510510n + 353993

2P 4+ 1 =2(510510n + 353993) + 1 = 10210201 + 707986 + 1 = 1021020n + 707987

121



0000010210200 20 2003,5,7,11,13,17000000 10000000

707987 =7 x 101141 x 1

oooo
2P 4+ 1 = 7(145860n + 101141)

goooooogvyooooO0oOOoO0oOOo0OoOo0DOOU0DODOoO0ODOOoO0ODOOUODOOoODOOUODOOOd
goo

Q=3539990000
P = 510510n + 353999

2P + 1 = 2(510510n + 353999) + 1 = 10210201 4 707998 + 1 = 10210201 + 707999
0000010210200 20 2003,5,7,11,13,17000000 10000000

707999 = 17 x 41647 x 1

oooo
2P + 1 = 17(60060n + 41647)

goooooboOowvooooOooOobOobooOooOooOUoOoOoDOoDOoOoDOobDOobooboOooo
good

Q=3540010000
P = 510510n + 354001

2P 4+ 1 =2(510510n + 354001) + 1 = 1021020n + 708002 + 1 = 10210207 + 708003
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

708003 =3 x 3 x 97 x 811 x 1

oooo
2P + 1 = 3(340340n + 236001)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=354007 0000
P = 5105101 + 354007

2P 4+ 1 =2(510510n + 354007) + 1 = 1021020n + 708014 + 1 = 1021020n + 708015

0000010210200 20 2003,5,7,11,13,17000000 10000000

708015 =3 x5 x7x11 x613 x1

oooo
2P + 1 = 1155(884n + 613)

122



OO00oO0DOOO0OO01 00000000000 oo0ob0ooooooooUoooDUoboooo
googo

Q=3540170000
P = 510510n + 354017

2P + 1 = 2(510510n + 354017) 4+ 1 = 10210201 4 708034 + 1 = 10210201 + 708035
0000010210200 20 2003,5,7,11,13,17000000 10000000

708035 =5 x 19 x 29 x 257 x 1

oooo
2P + 1 = 5(204204n + 141607)

g00ob0obO0o0Os000D0000000D00ODODOOODOODODODODOOODDODODOD
goo

Q=13540190000
P = 510510n + 354019

2P 4+ 1 = 2(510510n + 354019) + 1 = 10210201 4 708038 + 1 = 1021020n + 708039
0000010210200 20 2003,5,7,11,13,17000000 10000000

708039 =3 x 3 x 1561 x 521 x 1

oooOo
2P + 1 = 3(340340n + 236013)

obooboobooo3oboboooooobooboooobobobooboooboobOobooooo
goo

Q=3540230000
P = 510510n + 354023

2P + 1 = 2(510510n + 354023) + 1 = 10210201 4 708046 + 1 = 10210201 + 708047
0000010210200 20 2003,5,7,11,13,17000000 1000000
708047 = 708047 x 1
0000 10210200000000000000
2P + 1 = 510510m + 197537

gbooboobooobooboboobboobboooboooboon

Q=13540310000
P = 510510n + 354031

2P 4+ 1 =2(510510n + 354031) + 1 = 1021020n + 708062 + 1 = 10210201 + 708063

123



0000010210200 20 2003,5,7,11,13,17000000 10000000

708063 = 3 x 236021 x 1

oooo
2P + 1 = 3(340340n + 236021)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=13540370000
P = 510510n + 354037

2P + 1 = 2(510510n + 354037) 4+ 1 = 10210201 4 708074 + 1 = 10210201 + 708075
0000010210200 20 2003,5,7,11,13,17000000 10000000

708075 =3 x3x3 x5 x5Hx1049 x 1

oooo
2P + 1 = 15(68068n + 47205)

gooooOooOolboobooOooobOoboobooUooOUooOoDOobDOoOoDOobDOobooOooboOooo
googo

Q=3540410000
P = 510510n + 354041

2P + 1 = 2(510510n + 354041) 4+ 1 = 10210201 + 708082 + 1 = 10210201 + 708083
0000010210200 20 2003,5,7,11,13,17000000 1000000

708083 = 71 x 9973 x 1
oooo 10210200 000000000000
2P +1 = 510510m + 197573

ooboobooobooboboobboobboobooobooo

Q=3540430000
P = 510510n + 354043

2P + 1 =2(510510n + 354043) + 1 = 10210201 + 708086 + 1 = 1021020n + 708087

0000010210200 20 2003,5,7,11,13,17000000 10000000

708087 = 3 x 233 x 1013 x 1

oooo
2P + 1 = 3(340340n + 236029)

124



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3540470000
P = 5105101 + 354047

2P 4+ 1 =2(510510n + 354047) + 1 = 10210201 + 708094 + 1 = 1021020n + 708095

0000010210200 20 2003,5,7,11,13,17000000 10000000

708095 = 5 x 141619 x 1

oooo
2P + 1 = 5(204204n + 141619)

o00ob0ooO0o0os000b0000000DO0ODOO0DO0OObO0ODbDODOO0ODbDOO0OODbDODODOn
goo

Q=1354049 0000
P = 510510n + 354049

2P 4+ 1 =2(510510n + 354049) + 1 = 10210201 + 708098 + 1 = 10210207 + 708099

0000010210200 20 2003,5,7,11,13,17000000 10000000

708099 =3 x 7 x 7x4817x 1

oooo
2P + 1 = 21(48620n + 33719)

go0odoOoboOo210000000ob0bOoboo0oo0oo0oDOobDOo0oDOobDOobooOoboOooog
good

Q=3540610000
P = 510510n + 354061

2P + 1 = 2(510510n + 354061) 4+ 1 = 10210201 + 708122 + 1 = 10210201 + 708123
0000010210200 20 2003,5,7,11,13,17000000 10000000

708123 =3 x 13 x 67 x 271 x 1

good
2P + 1 = 39(26180n + 18157)

oboobooo3oooooooooboboooboooboobooboboooobOoobOoo
good

Q=13540710000
P = 5105100 + 354071

125



2P + 1 =2(510510n + 354071) + 1 = 1021020n + 708142 + 1 = 1021020n + 708143

0000010210200 20 2003,5,7,11,13,17000000 1000000

708143 = 37 x 19139 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 197633

gboboobogobogoboboobboobooobooooboon

Q=13540730000
P = 5105100 + 354073

2P + 1 = 2(510510n + 354073) 4+ 1 = 10210201 4 708146 + 1 = 10210200 + 708147
0000010210200 20 2003,5,7,11,13,17000000 10000000

708147 =3 x 3 x 11 x 23 x 311 x 1

oooo
2P + 1 = 33(30940n + 21459)

goooooboOo3oobooooobobooooobooooDooboobDOobDoboooboooboo
good

Q=3540770000
P = 510510n + 354077

2P + 1 = 2(510510n + 354077) 4+ 1 = 10210201 + 708154 + 1 = 10210201 + 708155
0000010210200 20 2003,5,7,11,13,17000000 10000000

708155 =5 x 7 x 20233 x 1

oooo
2P + 1 = 35(29172n + 20233)

obooboooo3boooobooooobobooobooboobooboboooobOoobUOoo
good

Q=354083 0000
P = 510510n + 354083

2P + 1 =2(510510n + 354083) + 1 = 10210201 + 708166 + 1 = 1021020n + 708167

0000010210200 20 2003,5,7,11,13,17000000 1000000

708167 = 43 x 43 x 383 x 1

126



0000 102102000000000000000

2P 4+ 1 =510510m 4+ 197657

gbobooobogobooboboobboobboooboooboon

Q=354080 000 O
P = 510510n + 354089

2P + 1 = 2(510510n + 354089) 4 1 = 10210201 4 708178 4+ 1 = 10210201 4 708179
0000010210200 20 2003,5,7,11,13,17000000 1000000

708179 = 708179 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 197669

gboboobogobooboboobboobbooobuoonooboon

Q=3540910000
P = 510510n + 354091

2P 4+ 1 = 2(510510n + 354091) + 1 = 10210201 4 708182 + 1 = 1021020n + 708183
0000010210200 20 2003,5,7,11,13,17000000 10000000

708183 =3 x3 x3x3x7x1249 x 1

oooo
2P + 1 = 21(48620n + 33723)

0000000021 0000000000000000DO000DO00DOODOOODODOODODO0
good

Q=3540970000
P = 5105100 + 354097

2P 4+ 1 =2(510510n + 354097) + 1 = 1021020n + 708194 + 1 = 10210201 + 708195

0000010210200 20 2003,5,7,11,13,17000000 10000000

708195 =3 x 5 x 31 x 1523 x 1

oooo
2P 4 1 = 15(68068n + 47213)

oobooooooiboooobooooobobooobooboobooboboooobOobobOoo
goog

127



Q=3541030000
P = 510510n + 354103

2P + 1 =2(510510n + 354103) + 1 = 1021020n + 708206 + 1 = 1021020n + 708207

0000010210200 20 2003,5,7,11,13,17000000 10000000

708207 = 3 x 236069 x 1

oooo
2P + 1 = 3(340340n + 236069)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=3541130000
P =510510n + 354113

2P + 1 =2(510510n + 354113) + 1 = 1021020n + 708226 + 1 = 1021020n + 708227

0000010210200 20 2003,5,7,11,13,17000000 10000000

708227 = 13 x 157 x 347 x 1

oooOo
2P + 1 = 13(78540n + 54479)

oboob0oobOoooooooooboooobooobOo0oboobUobDoooDbOobobOoo
good

Q=3541190000
P = 510510n + 354119

2P 4+ 1 =2(510510n + 354119) + 1 = 10210201 + 708238 + 1 = 10210201 + 708239

0000010210200 20 2003,5,7,11,13,17000000 10000000

708239 =7 x 23 x 53 x 83 x 1

oooo
2P + 1 = 7(145860n + 101177)

gooooooOovoUoooOoooOoOOoU0OOoU0bDOUDOoUDbDOUbDOUDbDOOobDOUODOO
oono

Q=3541210000
P =510510n + 354121

2P 4+ 1 =2(510510n + 354121) + 1 = 1021020n + 708242 + 1 = 1021020n + 708243

128



0000010210200 20 2003,5,7,11,13,17000000 10000000

708243 = 3 x 47 x 5023 x 1

oooo
2P + 1 = 3(340340n + 236081)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=3541310000
P = 510510n + 354131

2P 4+ 1 = 2(510510n + 354131) 4+ 1 = 10210201 4 708262 + 1 = 1021020n + 708263
0000010210200 20 2003,5,7,11,13,17000000 1000000

708263 = 19 x 37277 x 1

o000 102102000 000000000000

2P 4+ 1 =510510m + 197753

gbboobogoboobboobboobbooobuoonboob

Q=3541390000
P = 510510n + 354139

2P + 1 = 2(510510n + 354139) 4+ 1 = 10210201 + 708278 + 1 = 10210201 + 708279
0000010210200 20 2003,5,7,11,13,17000000 10000000

708279 =3 x 11 x 13 x 13 x 127 x 1

0ooo
2P + 1 = 429(2380n + 1651)

oooooooo4290000000oooobobooooooooboobobooooooooobobbOooo
oooo

Q=3541430000
P = 510510n + 354143

2P 4+ 1 =2(510510n + 354143) + 1 = 1021020n + 708286 + 1 = 1021020n + 708287

0000010210200 20 2003,5,7,11,13,17000000 1000000

708287 = 708287 x 1

OO000 10210200 000000000000

2P 4+ 1 =510510m + 197777

129



gboboobogobogoboboobboobooobooooboon

Q=354149000 0
P = 510510n + 354149

2P + 1 = 2(510510n + 354149) 4+ 1 = 10210201 + 708298 + 1 = 10210201 + 708299
0000010210200 20 2003,5,7,11,13,17000000 1000000

708299 = 241 x 2939 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 197789

gbbogbogobogbbgobbooboooobuoonobagn

Q=3541570000
P = 510510n + 354157

2P + 1 =2(510510n + 354157) + 1 = 1021020n + 708314 + 1 = 1021020n + 708315

0000010210200 20 2003,5,7,11,13,17000000 10000000

708315 =3 x 5 x 47221 x 1

oooo
2P + 1 = 15(68068n + 47221)

oboobooooiboooboooooobooooObooobOo0oboobUobDoooDbobobOoo
good

Q=23541630000
P = 510510n + 354163

2P + 1 =2(510510n + 354163) + 1 = 10210201 + 708326 + 1 = 1021020n + 708327

0000010210200 20 2003,5,7,11,13,17000000 10000000

708327 =3 x 3 x 211 x 373 x 1

oooo
2P + 1 = 3(340340n + 236109)

gooooooOo3sooboooooooboU0oOoU0bOoUbDOoUobOoUobDOUDbDOoUobDboUDboOoO
oono

Q=3541690000
P = 510510n + 354169

2P + 1 =2(510510n + 354169) + 1 = 1021020n + 708338 + 1 = 10210201 + 708339

130



0000010210200 20 2003,5,7,11,13,17000000 10000000

708339 =3 x 17 x 17 x 19 x 43 x 1

oooo
2P + 1 = 51(20020n + 13889)

O00o0obO0oOooslbOoob0b00ob00oobobooo0b00oo0b0o0oboobooDooobOoobOoo
good

Q=23541730000
P =510510n + 354173

2P + 1 = 2(510510n + 354173) 4+ 1 = 10210201 4 708346 + 1 = 10210200 + 708347
0000010210200 20 2003,5,7,11,13,17000000 1000000

708347 = 708347 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 197837

gboboobogobooboboobboobbooobuoonooboon

Q=3541810000
P = 510510n + 354181

2P + 1 = 2(510510n + 354181) 4+ 1 = 10210201 4 708362 + 1 = 10210201 + 708363
0000010210200 20 2003,5,7,11,13,17000000 10000000

708363 = 3 x 3 x 78707 x 1

oooo
2P + 1 = 3(340340n + 236121)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=354187 0000
P = 510510n + 354187

2P + 1 =2(510510n + 354187) + 1 = 1021020n + 708374 + 1 = 1021020n + 708375

0000010210200 20 2003,5,7,11,13,17000000 10000000

708375 =3 x5 x5 x5Hx1839 x 1

oooo
2P + 1 = 15(68068n + 47225)

131



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=3541910000
P = 510510n + 354191

2P + 1 =2(510510n + 354191) + 1 = 1021020n + 708382 + 1 = 1021020n + 708383

0000010210200 20 2003,5,7,11,13,17000000 10000000

708383 =13 x 29 x 1879 x 1

oooo
2P + 1 = 13(78540n + 54491)

000000001 3ooobooooooboooobooobO0o0obooboboDoooDbOooDbOoo
good

Q=3541970000
P = 5105101 + 354197

2P 4+ 1 =2(510510n + 354197) + 1 = 1021020n + 708394 + 1 = 10210201 + 708395

0000010210200 20 2003,5,7,11,13,17000000 10000000

708395 = 5 x 141679 x 1

oooo
2P + 1 = 5(204204n + 141679)

gooooooOdOs0U0bOO00bOOU0bOO0OO0ODOU0ODOUODOUODOUODOODOUODOO
ooo

Q=3541990000
P = 510510n + 354199

2P + 1 = 2(510510n + 354199) + 1 = 10210201 + 708398 + 1 = 10210201 + 708399
0000010210200 20 2003,5,7,11,13,17000000 10000000

708399 = 3 x 3 x 3 x 26237 x 1

good
2P + 1 = 3(340340n + 236133)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=3542030000
P = 5105100 + 354203

132



2P + 1 =2(510510n + 354203) + 1 = 1021020n + 708406 + 1 = 1021020n + 708407

0000010210200 20 2003,5,7,11,13,17000000 10000000

708407 = 7 x 17 x 5953 x 1

oooo
2P + 1 = 119(8580n + 5953)

gooooooolyogoodooooooOooobooOooOo0oo0boOOoooooDOoUoDoo
goog

Q=3542000000
P = 510510n + 354209

2P + 1 = 2(510510n + 354209) + 1 = 10210201 + 708418 + 1 = 10210201 + 708419
0000010210200 20 2003,5,7,11,13,17000000 1000000

708419 = 191 x 3709 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 197909

gboboobooobooboboobboobboobooobooo

Q=3542170000
P = 510510n + 354217

2P + 1 = 2(510510n + 354217) 4+ 1 = 10210201 + 708434 + 1 = 10210200 + 708435
0000010210200 20 2003,5,7,11,13,17000000 10000000

708435 =3 x3xbxT7Tx13x173 x1

oooo
2P + 1 = 1365(748n + 519)

obooboobi3es0booboobooobooboobobobobooobobobUoboDbOoo
googo

Q =3542230000
P = 510510n + 354223

2P 4+ 1 =2(510510n + 354223) + 1 = 10210201 + 708446 + 1 = 1021020n + 708447

0000010210200 20 2003,5,7,11,13,17000000 10000000

708447 = 3 x 107 x 2207 x 1

133



oooo
2P + 1 = 3(340340n + 236149)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3542270000
P = 510510n + 354227

2P 4+ 1 = 2(510510n + 354227) + 1 = 10210200 + 708454 + 1 = 10210201 + 708455
0000010210200 20 2003,5,7,11,13,17000000 10000000

708455 =5 x 11 x 11 x 1171 x 1

oooo
2P + 1 = 55(18564n + 12881)

OooooooossbooooooooobooooboooobooooobooooobooooDobOn
oooo

Q=23542390000
P = 510510n + 354239

2P + 1 = 2(510510n + 354239) 4 1 = 10210201 + 708478 + 1 = 10210201 + 708479
0000010210200 20 2003,5,7,11,13,17000000 1000000
708479 = 708479 x 1
0000 10210200000000000000
2P + 1 = 510510m + 197969

gboboobogobogbooboobboobbooobuoooboon

Q=2354241 0000
P = 510510n + 354241

2P 4+ 1 =2(510510n + 354241) + 1 = 10210201 + 708482 + 1 = 10210201 + 708483

0000010210200 20 2003,5,7,11,13,17000000 10000000

708483 = 3 x 139 x 1699 x 1

oooo
2P + 1 = 3(340340n + 236161)

gooooooOo3sooooooooobooooo0bOoUobDOooDbOoUobbOObDOoOobboUODoO
goo

134



Q=3542470000
P = 5105100 + 354247

2P + 1 = 2(510510n + 354247) 4+ 1 = 10210201 4 708494 + 1 = 10210200 + 708495
0000010210200 20 2003,5,7,11,13,17000000 10000000

708495 = 3 x 5 x 149 x 317 x 1

oooo
2P + 1 = 15(68068n + 47233)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=3542510000
P = 510510n + 354251

2P + 1 = 2(510510n + 354251) 4+ 1 = 10210201 + 708502 + 1 = 10210201 + 708503
0000010210200 20 2003,5,7,11,13,17000000 1000000

708503 = 193 x 3671 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 197993

gboboobooobooboboobboobboobooobooo

Q=3542530000
P = 510510n + 354253

2P 4+ 1 =2(510510n + 354253) + 1 = 10210201 + 708506 + 1 = 1021020n + 708507

0000010210200 20 2003,5,7,11,13,17000000 10000000

708507 =3 x 3 x3x3JI x 8747 x 1

oooOo
2P + 1 = 3(340340n + 236169)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=3542570000
P = 510510n + 354257

2P 4+ 1 =2(510510n + 354257) + 1 = 1021020n + 708514 + 1 = 1021020n + 708515

135



0000010210200 20 2003,5,7,11,13,17000000 10000000

708515 =5 x 23 x 61 x 101 x 1

oooo
2P + 1 = 5(204204n + 141703)

oboobobooosOob0obU0obOUobOUbo0obOobDOobOUoOb0ObUObDOobDOobObOOobOobDOobDOoo
goo

Q=3542590000
P = 5105100 + 354259

2P + 1 = 2(510510n + 354259) 4+ 1 = 10210201 + 708518 + 1 = 10210201 + 708519
0000010210200 20 2003,5,7,11,13,17000000 10000000

708519 = 3 x 7 x 33739 x 1

oooo
2P + 1 = 21(48620n + 33739)

gooOooOoboOo210000000b0bOoboo0oo0ooooDobDOo0oDOobDOoboooboOooboo
good

Q=2354269 0000
P = 510510n + 354269

2P 4+ 1 =2(510510n + 354269) + 1 = 10210201 + 708538 + 1 = 10210201 + 708539
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

708539 = 13 x 54503 x 1

oooo
2P + 1 = 13(78540n + 54503)

oboobooobooooooooooboboooboooboobooboboooobOoobOoo
goog

Q=3542710000
P = 510510n + 354271

2P 4+ 1 =2(510510n + 354271) + 1 = 1021020n + 708542 + 1 = 1021020n + 708543

0000010210200 20 2003,5,7,11,13,17000000 10000000

708543 =3 x 3 x 11 x 17 x 421 x 1

oooo
2P + 1 = 561(1820n + 1263)

136



OO00O0O0d0ooOOosel00d00000O00DO0O0DOO0ODOOU0DOOODbDO0O0OO0OODOUODOO
goog

Q=3542810000
P = 510510n + 354281

2P + 1 = 2(510510n + 354281) 4 1 = 10210201 4 708562 + 1 = 10210201 + 708563
0000010210200 20 2003,5,7,11,13,17000000 1000000

708563 = 708563 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 198053

gbooboobooobooboboobboobboooboooboon

Q=2354283 0000
P = 510510n + 354283

2P 4+ 1 =2(510510n + 354283) + 1 = 1021020n + 708566 + 1 = 1021020n + 708567

0000010210200 20 2003,5,7,11,13,17000000 10000000

708567 = 3 x 19 x 31 x 401 x 1

good
2P + 1 = 3(340340n + 236189)

gooooooOo3sooboooooUoboUooU0bOoUbDOoUbOoUobObOUDbDOUobDbOUDbOoO
goo

Q=354287 0000
P = 510510n + 354287

2P 4+ 1 =2(510510n + 354287) + 1 = 1021020n + 708574 + 1 = 10210201 + 708575

0000010210200 20 2003,5,7,11,13,17000000 10000000

708575 =5 x5 x 7 x 4049 x 1

oooo
2P + 1 = 35(29172n + 20245)

000000003 0000000000000 bo0oo0bDo0obD0o0obobDoOooDbOooODbOon
good

Q=23542930000
P = 510510n + 354293

2P 4+ 1 =2(510510n + 354293) + 1 = 10210201 + 708586 + 1 = 1021020n + 708587

137



0000010210200 20 2003,5,7,11,13,17000000 10000000

708587 =11 x 37 x 1741 x 1

oooo
2P + 1 = 11(92820n + 64417)

oboobooobolnooooboooooboboooboobOo0obooboboooobOoobOoo
goog

Q=1354301 0000
P = 510510n + 354301

2P + 1 = 2(510510n + 354301) 4+ 1 = 10210201 4+ 708602 + 1 = 10210201 4+ 708603
0000010210200 20 2003,5,7,11,13,17000000 10000000

708603 =3 x 7 x 41 x 823 x 1

oooo
2P + 1 = 21(48620n + 33743)

0000000021 0000000000000000DO000DOO00DOODOO0OODODOODODOD
good

Q=3543070000
P = 5105101 + 354307

2P +1 = 2(510510n + 354307) + 1 = 1021020n + 708614 + 1 = 1021020n + 708615
0000010210200 20 2003,5,7,11,13,17000000 10000000

708615 =3 x3x3xHx29x 181 x 1

oooo
2P 4 1 = 15(68068n + 47241)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=3543110000
P = 510510n + 354311

2P 4+ 1 =2(510510n + 354311) + 1 = 1021020n + 708622 + 1 = 10210201 + 708623

0000010210200 20 2003,5,7,11,13,17000000 1000000

708623 = 113 x 6271 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 198113

138



gboboobogobogoboboobboobooobooooboon

Q=3543130000
P = 510510n + 354313

2P + 1 = 2(510510n + 354313) 4+ 1 = 10210201 4 708626 + 1 = 10210201 + 708627
0000010210200 20 2003,5,7,11,13,17000000 10000000

708627 = 3 x 236209 x 1

oooo
2P + 1 = 3(340340n + 236209)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=3543170000
P = 510510n + 354317

2P + 1 = 2(510510n + 354317) + 1 = 10210201 + 708634 + 1 = 10210201 + 708635
0000010210200 20 2003,5,7,11,13,17000000 10000000

708635 = 5 x 239 x 593 x 1

oooo
2P + 1 = 5(204204n + 141727)

obobobooosOobobUobOOobobo0obOobOobOUobObUObUObDOobDOobObOobOobDOooOoo
goo

Q=3543230000
P = 510510n + 354323

2P 4+ 1 = 2(510510n + 354323) + 1 = 10210200 + 708646 + 1 = 10210200 + 708647
0000010210200 20 2003,5,7,11,13,17000000 1000000
708647 = 708647 x 1
0000 10210200000000000000
2P + 1 = 510510m + 198137

goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=3543290000
P = 510510n + 354329

2P 4+ 1 =2(510510n + 354329) + 1 = 1021020n + 708658 + 1 = 10210201 + 708659

139



0000010210200 20 2003,5,7,11,13,17000000 10000000

708659 = 7 x 67 x 1511 x 1

oooo
2P + 1 = 7(145860n + 101237)

O0oooooOgvyo0oO0oO0OOoO0OOoO0OO0ODOO0DODO0O0ODOOO0DOOODODOODOOODOOO
goo

Q=1354337 0000
P = 5105100 + 354337

2P + 1 = 2(510510n + 354337) 4+ 1 = 10210201 4 708674 + 1 = 10210201 + 708675
0000010210200 20 2003,5,7,11,13,17000000 10000000

708675 =3 x5 x5Hx11 x89 x1

oooo
2P +1 = 165(6188n + 4295)

O000O0bOo0Ol1e5000000000000DOO0ODOODOODO0OODOODOODODODOODODn
good

Q=23543490000
P = 510510n + 354349

2P + 1 = 2(510510n + 354349) + 1 = 1021020n + 708698 + 1 = 1021020n + 708699
0000010210200 20 2003,5,7,11,13,17000000 10000000

708699 = 3 x 23 x 10271 x 1

oooo
2P + 1 = 3(340340n + 236233)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=3543530000
P = 510510n + 354353

2P 4+ 1 =2(510510n + 354353) + 1 = 1021020n + 708706 + 1 = 1021020n + 708707

0000010210200 20 2003,5,7,11,13,17000000 1000000

708707 = 89 x 7963 x 1

oooo 10210200 000000000000

2P +1 =510510m + 198197

140



gboboobogobogoboboobboobooobooooboon

Q=1354359 0000
P = 5105100 + 354359

2P + 1 =2(510510n + 354359) + 1 = 1021020n + 708718 + 1 = 1021020n + 708719

0000010210200 20 2003,5,7,11,13,17000000 10000000

708719 =11 x 19 x 3391 x 1

oooo
2P + 1 = 11(92820n + 64429)

goooooboonooooooobobooooOobooooDobDOooDOobDOoboboboOoboo
good

Q=3543710000
P = 510510n + 354371

2P + 1 =2(510510n + 354371) + 1 = 1021020n + 708742 + 1 = 1021020n + 708743

0000010210200 20 2003,5,7,11,13,17000000 10000000

708743 =7 x 103 x 983 x 1

oooo
2P + 1 = 7(145860n + 101249)

gOooooooOovyoUooOOoO0OOoO0OOoO0OO0DOO0DODO0OO0DDOOO0DDOOUODOODOOUODOOO
goo

Q=13543730000
P = 510510n + 354373

2P + 1 =2(510510n + 354373) + 1 = 1021020n + 708746 + 1 = 1021020n + 708747

0000010210200 20 2003,5,7,11,13,17000000 10000000

708747 = 3 x 13 x 17 x 1069 x 1

oooo
2P + 1 = 663(1540n + 1069)

ooooooooboes3s0bboooobOObObOO0O0bDOoOoODOObOOOOOOODOODbDbOO0OOn
oooo

Q=3543770000
P = 510510n + 354377

2P 4+ 1 =2(510510n + 354377) + 1 = 1021020n + 708754 + 1 = 10210201 + 708755

141



0000010210200 20 2003,5,7,11,13,17000000 10000000

708755 =5 x 229 x 619 x 1

oooo
2P + 1 = 5(204204n + 141751)

o0dobOooOOo0os000b0b00O0O00ObO0ODbDObOOObOO0ObDObDObDObOOODbDObDODbDOn
goo

Q=13543790000
P = 510510n + 354379

2P + 1 = 2(510510n + 354379) 4+ 1 = 10210201 + 708758 4+ 1 = 10210201 + 708759
0000010210200 20 2003,5,7,11,13,17000000 10000000

708759 =3 x 3 x 61 x 1291 x 1

oooo
2P + 1 = 3(340340n + 236253)

gooooooOo3soUobooooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
oono

Q=354383 0000
P = 510510n + 354383

2P + 1 = 2(510510n + 354383) + 1 = 10210201 + 708766 + 1 = 10210201 + 708767
0000010210200 20 2003,5,7,11,13,17000000 1000000

708767 = 41 x 59 x 293 x 1
Ooooo 10210200 0000000000000
2P + 1 = 510510m + 198257

gooboobooobooboboobboobboobuooobooo

Q=13543910000
P = 510510n + 354391

2P + 1 =2(510510n + 354391) + 1 = 1021020n + 708782 + 1 = 10210201 + 708783

0000010210200 20 2003,5,7,11,13,17000000 10000000

708783 = 3 x 236261 x 1

oooo
2P + 1 = 3(340340n + 236261)

142



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3543970000
P = 510510n + 354397

2P + 1 = 2(510510n + 354397) 4+ 1 = 10210201 4 708794 + 1 = 10210201 + 708795
0000010210200 20 2003,5,7,11,13,17000000 10000000

708795 =3 x 3 x5 x19x 829 x 1

oooo
2P + 1 = 15(68068n + 47253)

o00o0obO0ooobooobooobOoooOoooObO0ooDOO0o0obO0oOobUobDoooDbOoboDbOoo
good

Q=23544010000
P = 510510n + 354401

2P 4+ 1 = 2(510510n + 354401) 4+ 1 = 10210201 4 708802 + 1 = 1021020n + 708803
0000010210200 20 2003,5,7,11,13,17000000 1000000

708803 = 708803 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 198293

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3544070000
P = 510510n + 354407

2P 4+ 1 =2(510510n + 354407) + 1 = 1021020n + 708814 + 1 = 10210201 + 708815

0000010210200 20 2003,5,7,11,13,17000000 10000000

708815 =5 x 17 x 31 x 269 x 1

oooo
2P + 1 = 85(12012n + 8339)

O0000000Os& 000000000 O0O0O0ObO0O0DOO0O0ODO0O0ODbOODODOODODbDObODOn
good

Q=3544130000
P = 510510n + 354413

2P 4+ 1 =2(510510n + 354413) + 1 = 10210201 + 708826 + 1 = 1021020n + 708827

143



0000010210200 20 2003,5,7,11,13,17000000 10000000

708827 =7 x 109 x 929 x 1

oooo
2P 4 1 = 7(145860n + 101261)

goooooogvyooooO0oOOoO0oOOo0OoOo0DOOU0DODOoO0ODOOoO0ODOOUODOOoODOOUODOOOd
goo

Q=354421 0000
P = 510510n + 354421

2P + 1 = 2(510510n + 354421) 4+ 1 = 10210201 + 708842 + 1 = 10210201 + 708843
0000010210200 20 2003,5,7,11,13,17000000 10000000

708843 = 3 x 277 x 853 x 1

oooo
2P + 1 = 3(340340n + 236281)

gooooooo3sooooooooobooooo0bOo0obOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=3544270000
P = 510510n + 354427

2P 4+ 1 =2(510510n + 354427) 4+ 1 = 1021020n + 708854 + 1 = 10210201 + 708855
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

708855 =3 x5 X 7x43x 157 x 1

oooo
2P + 1 = 105(9724n + 6751)

goobobgoobolesoboobooooobooboboboooDobooobOobUobobDooDOoooo
googd

Q=3544370000
P = 5105100 -+ 354437

2P 4+ 1 =2(510510n + 354437) + 1 = 1021020n + 708874 + 1 = 1021020n + 708875

0000010210200 20 2003,5,7,11,13,17000000 10000000

708875 =5 xHx5Hx b3 x 107 x1

oooo
2P + 1 = 5(204204n + 141775)

144



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=3544390000
P = 510510n + 354439

2P + 1 = 2(510510n + 354439) + 1 = 1021020n + 708878 + 1 = 1021020n + 708879
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

708879 = 3 x 236293 x 1

good
2P + 1 = 3(340340n + 236293)

o00b00O0o03000000000000bO0oOD0oO0b00obOO0oDOOoDODOoOOoOobOoDbDOoDOn
goo

Q=3544430000
P = 5105100 + 354443

2P + 1 = 2(510510n + 354443) + 1 = 1021020n + 708886 + 1 = 1021020n + 708887
0000010210200 20 2003,5,7,11,13,17000000 1000000

708887 = 163 x 4349 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 198377

gboobgobogoobogbooboobbooboooboooboon

Q=354449000 0
P = 510510n + 354449

2P + 1 = 2(510510n + 354449) + 1 = 10210201 + 708898 + 1 = 10210201 4 708899
0000010210200 20 2003,5,7,11,13,17000000 1000000
708899 = 708899 x 1
0000 10210200000000000000
2P + 1 = 510510m + 198389

gbobogobooobooboboobboobbooobuooooboon

Q=3544510000
P = 510510n + 354451

2P 4+ 1 = 2(510510n + 354451) + 1 = 1021020n + 708902 + 1 = 10210201 + 708903

145



0000010210200 20 2003,5,7,11,13,17000000 10000000

708903 =3 x 3 x 13 x 73 x 83 x 1

good
2P +1 = 39(26180n + 18177)

o00o0obO0ooo3oooooooooboboooboobD0o0oboobobooooboOoobOoo
good

Q=23544570000
P = 510510n + 354457

2P + 1 = 2(510510n + 354457) 4+ 1 = 10210201 4 708914 + 1 = 10210201 + 708915
0000010210200 20 2003,5,7,11,13,17000000 10000000

708915 =3 x 5 x 167 x 283 x 1

oooo
2P + 1 = 15(68068n + 47261)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=3544610000
P = 510510n + 354461

2P + 1 = 2(510510n + 354461) 4+ 1 = 10210201 + 708922 + 1 = 10210201 + 708923
0000010210200 20 2003,5,7,11,13,17000000 1000000

708923 = 708923 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 198413

goboobooobooboboobboobboobooobooo

Q=3544630000
P = 510510n + 354463

2P + 1 =2(510510n + 354463) + 1 = 10210201 + 708926 + 1 = 1021020n + 708927

0000010210200 20 2003,5,7,11,13,17000000 10000000

708927 = 3 x 67 x 3527 x 1

oooo
2P + 1 = 3(340340n + 236309)

146



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=354469 0000
P = 510510n + 354469

2P + 1 = 2(510510n + 354469) 4 1 = 10210201 4 708938 + 1 = 10210201 + 708939
0000010210200 20 2003,5,7,11,13,17000000 10000000

708939 =3 x3x3x7x11x11x31lx1

oooo
2P + 1 = 231(4420n + 3069)

g00ob0obOo0O23100000o0000o0ob00obOoobOOooO0oO00ooDbOOobO0obOoDbDOoDOobOOn
good

Q=23544790000
P = 510510n + 354479

2P 4+ 1 = 2(510510n + 354479) + 1 = 10210201 4 708958 + 1 = 1021020n + 708959
0000010210200 20 2003,5,7,11,13,17000000 1000000

708959 = 708959 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 198449

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3544810000
P = 510510n + 354481

2P 4+ 1 =2(510510n + 354481) + 1 = 1021020n + 708962 + 1 = 10210201 + 708963

0000010210200 20 2003,5,7,11,13,17000000 10000000

708963 = 3 x 29 x 29 x 281 x 1

oooo
2P + 1 = 3(340340n + 236321)

o00b0o0O0o03000b0000000b00bO0oOD0oO0b00obO0oDOOobODOoOOoOobOobDOoDbDOn
goo

Q=23544910000
P = 510510n + 354491

2P 4+ 1 =2(510510n + 354491) + 1 = 1021020n + 708982 + 1 = 10210201 + 708983

147



0000010210200 20 2003,5,7,11,13,17000000 10000000

708983 = 11 x 64453 x 1

oooo
2P + 1 = 11(92820n + 64453)

oboobooobolnooooboobooobobooobooboobooboboooobOoobOoo
good

Q=23544930000
P = 510510n + 354493

2P + 1 = 2(510510n + 354493) + 1 = 10210201 + 708986 + 1 = 10210201 + 708987
0000010210200 20 2003,5,7,11,13,17000000 10000000

708987 = 3 x 236329 x 1

oooo
2P + 1 = 3(340340n + 236329)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q=2354499 0000
P = 510510n + 354499

2P 4+ 1 =2(510510n + 354499) + 1 = 10210201 + 708998 + 1 = 10210207 + 708999
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

708999 = 3 x 236333 x 1

oooo
2P + 1 = 3(340340n + 236333)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=13545030000
P = 5105100 + 354503

2P 4+ 1 =2(510510n + 354503) + 1 = 10210201 + 709006 + 1 = 10210207 4 709007

0000010210200 20 2003,5,7,11,13,17000000 10000000

709007 = 13 x 54539 x 1

oooo
2P + 1 = 13(78540n + 54539)

148



go0oOdo0obO0o3oooo0ooobo0obooOooU0ooUooooOOobDOoUoDOobDOoboooooog
goog

Q=354509 0000
P = 510510n + 354509

2P + 1 =2(510510n + 354509) + 1 = 1021020n + 709018 + 1 = 1021020n + 709019

0000010210200 20 2003,5,7,11,13,17000000 10000000

709019 =17 x 179 x 233 x 1

oooo
2P +1 = 17(60060n 4 41707)

o00o0ooO0oobo1vooob00o0ob0O0o0obOOoOoo0bO0oo0DbOO0o0obO0oOobUobDoOooDbOoboDbOoon
good

Q=3545110000
P = 510510n + 354511

2P + 1 =2(510510n + 354511) + 1 = 10210201 + 709022 + 1 = 10210201 + 709023

0000010210200 20 2003,5,7,11,13,17000000 10000000

709023 =3 x 7x 19 x 1777 x 1

oooo
2P + 1 = 21(48620n + 33763)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=3545170000
P = 510510n + 354517

2P + 1 = 2(510510n + 354517) + 1 = 10210201 + 709034 + 1 = 10210201 + 709035
0000010210200 20 2003,5,7,11,13,17000000 10000000

709035 = 3 x 5 x 47269 x 1

oooo
2P + 1 = 15(68068n + 47269)

obooboooolbooobooobooobobooobooobOooboobUobooooboOooboo
good

Q=354521 0000
P = 510510n + 354521

149



2P + 1 =2(510510n + 354521) + 1 = 1021020n + 709042 + 1 = 1021020n + 709043

0000010210200 20 2003,5,7,11,13,17000000 1000000

709043 = 709043 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 198533

gboboobogobogoboboobboobooobooooboon

Q=3545270000
P = 5105100 + 354527

2P + 1 = 2(510510n + 354527) 4+ 1 = 10210201 4 709054 + 1 = 10210201 + 709055
0000010210200 20 2003,5,7,11,13,17000000 10000000

709055 = 5 x 141811 x 1

oooo
2P + 1 = 5(204204n + 141811)

gooooooOosOoOoboOoOoboOoOobOo0bObOO0bO0obDOoOobDOoOobDbOODbOOoDbDbOUODOO
goo

Q=3545330000
P = 510510n + 354533

2P + 1 = 2(510510n + 354533) 4+ 1 = 10210201 4 709066 + 1 = 10210201 + 709067
0000010210200 20 2003,5,7,11,13,17000000 1000000
709067 = 23 x 30829 x 1
0000 10210200000000000000
2P + 1 = 510510m + 198557

gbooboobooobooboboobboobboooboooboon

Q=13545390000
P = 510510n + 354539

2P + 1 =2(510510n + 354539) + 1 = 1021020n + 709078 + 1 = 1021020n + 709079

0000010210200 20 2003,5,7,11,13,17000000 10000000

709079 =7 x 7 x 29 x 499 x 1

150



oooo
2P + 1 = 7(145860n + 101297)

oo0oooooOovyoUooOOoO0OOoO0OOo0OO0ODOO0DOO00ODOOO0ODOOUODOODOOUODOOOd
goo

Q=3545470000
P = 5105100 + 354547

2P 4+ 1 = 2(510510n + 354547) + 1 = 10210200 + 709094 + 1 = 10210201 + 709095
0000010210200 20 2003,5,7,11,13,17000000 10000000

709095 =3 x 5 x 41 x 1153 x 1

oooo
2P + 1 = 15(68068n + 47273)

ooooooOoolooooooooooooooobooooboooooOobooooobooooDoobOn
oooo

Q=3545510000
P = 5105100 + 354551

2P + 1 = 2(510510n + 354551) 4+ 1 = 10210201 4 709102 + 1 = 10210201 + 709103
0000010210200 20 2003,5,7,11,13,17000000 1000000
709103 = 131 x 5413 x 1
0000 10210200000000000000
2P + 1 = 510510m + 198593

gboboobogobogbooboobboobbooobuoooboon

Q=3545530000
P = 5105100 + 354553

2P + 1 =2(510510n + 354553) + 1 = 1021020n + 709106 + 1 = 1021020n + 709107

0000010210200 20 2003,5,7,11,13,17000000 10000000

709107 = 3 x 7 x 33767 x 1

oooo
2P + 1 = 21(48620n + 33767)

goooooboo21000b0000ob0booooobo0ooooDOobDOoOoDobDOoboboboOooboo
good

151



Q=354559 0000
P = 510510n + 354559

2P 4+ 1 =2(510510n + 354559) + 1 = 10210201 + 709118 + 1 = 10210201 + 709119

0000010210200 20 2003,5,7,11,13,17000000 10000000

709119 =3 x 3 x 78791 x 1

oooo
2P + 1 = 3(340340n + 236373)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=3545770000
P = 510510n + 354577

2P 4+ 1 =2(510510n + 354577) + 1 = 1021020n + 709154 + 1 = 1021020n + 709155

0000010210200 20 2003,5,7,11,13,17000000 10000000

709155 =3 x 3 x3x3xHx17x103 x1

oooo
2P + 1 = 255(4004n + 2781)

o0obOobOoo2s000b00o0o0boob0oboooooooobobUobobDooDOoobooo
good

Q=2354581 0000
P = 510510n + 354581

2P 4+ 1 =2(510510n + 354581) + 1 = 10210201 + 709162 + 1 = 10210201 + 709163

0000010210200 20 2003,5,7,11,13,17000000 10000000

709163 =7 x 13 x 7793 x 1

oooo
2P + 1 =91(11220n + 7793)

goodoOooboOo9lboobooO0oOoU0obO0bOOobOoU0oOUOoOOoDOoDbDUO0oDOobDOobDOobOboOobO
gogo

Q=354583 0000
P = 510510n + 354583

2P 4+ 1 =2(510510n + 354583) + 1 = 10210201 + 709166 + 1 = 1021020n + 709167

152



0000010210200 20 2003,5,7,11,13,17000000 10000000

709167 = 3 x 97 x 2437 x 1

oooo
2P + 1 = 3(340340n + 236389)

obooboobooo3oboboboooooboboooOobOobUoboDoboDobooobOobDoooo
goo

Q=1354587 0000
P = 5105100 + 354587

2P + 1 = 2(510510n + 354587) 4+ 1 = 10210201 4 709174 + 1 = 10210200 + 709175
0000010210200 20 2003,5,7,11,13,17000000 10000000

709175 =5 x 5 x 19 x 1493 x 1

oooo
2P + 1 = 5(204204n + 141835)

O000OO00O00S0000000D00000DO0DOO0ODODOODOODOODODOOODOODODOD
goo

Q=354530 0000
P = 5105100 + 354589

2P + 1 = 2(510510n + 354589) + 1 = 1021020n + 709178 + 1 = 1021020n + 709179
0000010210200 20 2003,5,7,11,13,17000000 10000000

709179 = 3 x 37 x 6389 x 1

oooo
2P + 1 = 3(340340n + 236393)

gooooooOo3soooooooUooboUooU0boOUDbDOoUobOoUbbOUDbDOoUObDboUDboOoO
goo

Q=3545930000
P = 510510n + 354593

2P + 1 =2(510510n + 354593) + 1 = 10210201 + 709186 + 1 = 1021020n + 709187

0000010210200 20 2003,5,7,11,13,17000000 1000000

709187 = 31 x 22877 x 1

oooo 10210200 000000000000

2P +1 =510510m + 198677

153



gboboobogobogoboboobboobooobooooboon

Q=3546110000
P = 510510n + 354611

2P 4+ 1 =2(510510n + 354611) + 1 = 1021020n + 709222 + 1 = 10210201 + 709223

0000010210200 20 2003,5,7,11,13,17000000 10000000

709223 = 17 x 41719 x 1

oooo
2P +1 = 17(60060n + 41719)

gooooooboowwooooooobobooooobooooDobOooDOobDOobobooboOooboo
good

Q=3546170000
P = 510510n + 354617

2P + 1 =2(510510n + 354617) + 1 = 1021020n + 709234 + 1 = 10210201 + 709235

0000010210200 20 2003,5,7,11,13,17000000 10000000

709235 =5 x 83 x 1709 x 1

oooo
2P + 1 = 5(204204n + 141847)

oboobobooosUObUobUobOOoOobo0obU0bDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=3546190000
P = 5105101 + 354619

2P 4+ 1 =2(510510n + 354619) + 1 = 1021020n + 709238 + 1 = 10210201 + 709239

0000010210200 20 2003,5,7,11,13,17000000 10000000

709239 = 3 x 59 x 4007 x 1

oooo
2P + 1 = 3(340340n + 236413)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=3546230000
P = 5105100 + 354623

2P 4+ 1 =2(510510n + 354623) + 1 = 10210201 + 709246 + 1 = 1021020n + 709247

154



0000010210200 20 2003,5,7,11,13,17000000 10000000

709247 =7 x 11 x 61 x 151 x 1

oooo
2P + 1 = 77(13260n + 9211)

gooOdooogrwoOoOooO0ooOOobO0obOOo0ooUOooOOooOooDOoDoOOoooDooDOoooooooog
good

Q=1354631 0000
P = 5105100 + 354631

2P + 1 = 2(510510n + 354631) 4+ 1 = 10210201 + 709262 + 1 = 10210201 + 709263
0000010210200 20 2003,5,7,11,13,17000000 10000000

709263 =3 x 3 x 3 x 109 x 241 x 1

oooo
2P + 1 = 3(340340n + 236421)

gooooooo3sooooooooboo0oOoOobOo0obDOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=3546430000
P = 510510n + 354643

2P 4+ 1 =2(510510n + 354643) + 1 = 10210201 + 709286 + 1 = 1021020n + 709287
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

709287 = 3 x 236429 x 1

oooo
2P + 1 = 3(340340n + 236429)

ooobOobooo3oboboboooooboboooobobobDobDobooobOobOobDoo
goo

Q=1354647 0000
P = 5105100 + 354647

2P + 1 =2(510510n + 354647) + 1 = 10210201 + 709294 + 1 = 1021020n + 709295

0000010210200 20 2003,5,7,11,13,17000000 10000000

709295 =5 x 127 x 1117 x 1

oooo
2P + 1 = 5(204204n + 141859)

155



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=354649 0000
P = 510510n + 354649

2P + 1 =2(510510n + 354649) + 1 = 10210201 + 709298 + 1 = 10210201 + 709299

0000010210200 20 2003,5,7,11,13,17000000 10000000

709299 = 3 x 3 x 53 x 1487 x 1

good
2P + 1 = 3(340340n + 236433)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=1354659 0000
P = 510510n + 354659

2P 4+ 1 =2(510510n + 354659) + 1 = 10210201 + 709318 + 1 = 10210201 + 709319

0000010210200 20 2003,5,7,11,13,17000000 10000000

709319 = 13 x 54563 x 1

oooo
2P + 1 = 13(78540n + 54563)

goodo0obo0oyoobooOooobOobooOooUOooOUoOoOoDOobDOoOoDOobDOobOoOooboOooo
good

Q=3546610000
P = 510510n + 354661

2P + 1 = 2(510510n + 354661) 4+ 1 = 10210201 + 709322 + 1 = 10210201 + 709323
0000010210200 20 2003,5,7,11,13,17000000 10000000

709323 = 3 x 101 x 2341 x 1

ogooo
2P + 1 = 3(340340n + 236441)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=354667 0000
P = 5105101 + 354667

156



2P + 1 =2(510510n + 354667) + 1 = 1021020n + 709334 + 1 = 1021020n + 709335

0000010210200 20 2003,5,7,11,13,17000000 10000000

709335 =3 x 3 x5Hx 11 x 1433 x 1

oooo
2P +1 = 165(6188n + 4299)

OOo0oOod0oboOoles0d0OO00OO0O0ODOO0ODOUODODOUODOODbDOOO0OOOUODOUODOO
goog

Q=13546770000
P = 510510n + 354677

2P + 1 = 2(510510n + 354677) + 1 = 10210201 + 709354 + 1 = 10210201 + 709355
0000010210200 20 2003,5,7,11,13,17000000 10000000

709355 = 5 x 141871 x 1

oooo
2P + 1 = 5(204204n + 141871)

o00ob0ooO0o0os0b00b0b00000bO0ODOO0DO0ObObO0ObO0ODOO0ObDObO0OODbDODbDODbDOn
goo

Q=1354680 000 O
P = 510510n + 354689

2P + 1 = 2(510510n + 354689) 4+ 1 = 10210201 + 709378 4+ 1 = 10210201 4 709379
0000010210200 20 2003,5,7,11,13,17000000 10000000

709379 = 11 x 64489 x 1

oooo
2P + 1 = 11(92820n + 64489)

goooooboOonooooOooobO0bOOobooU0oOoU0oOoOoDOobDUOOoDOobDOoboOoboOoooO
good

Q=13546910000
P = 510510n + 354691

2P 4+ 1 =2(510510n + 354691) + 1 = 10210201 + 709382 + 1 = 10210201 + 709383

0000010210200 20 2003,5,7,11,13,17000000 10000000

709383 = 3 x 236461 x 1

157



oooo
2P + 1 = 3(340340n + 236461)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=3547010000
P = 510510n + 354701

2P 4+ 1 = 2(510510n + 354701) 4+ 1 = 10210201 4 709402 + 1 = 1021020n + 709403
0000010210200 20 2003,5,7,11,13,17000000 1000000

709403 = 19 x 37337 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 198893

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=3547030000
P = 510510n + 354703

2P + 1 = 2(510510n + 354703) 4+ 1 = 10210201 4 709406 + 1 = 10210201 + 709407
0000010210200 20 2003,5,7,11,13,17000000 10000000

709407 = 3 x 3 x 78823 x 1

good
2P + 1 = 3(340340n + 236469)

o0obOobooo30bobooooooboobooDoOoboboboDobDobooobOobDOobDOoo
goo

Q=1354707 0000
P = 5105100 + 354707

2P 4+ 1 =2(510510n + 354707) + 1 = 1021020n + 709414 + 1 = 10210201 + 709415

0000010210200 20 2003,5,7,11,13,17000000 10000000

709415 =5 x 7 x 20269 x 1

oooo
2P + 1 = 35(29172n + 20269)

gooooooOosobooboboooobobooooobooooDoobDooDobDOobooboOooboo
good

158



Q=1354709 0000
P = 510510n + 354709

2P + 1 = 2(510510n + 354709) 4 1 = 10210201 4 709418 + 1 = 10210201 + 709419
0000010210200 20 2003,5,7,11,13,17000000 10000000

709419 = 3 x 89 x 2657 x 1

oooo
2P + 1 = 3(340340n + 236473)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=3547130000
P = 510510n + 354713

2P + 1 = 2(510510n + 354713) 4+ 1 = 10210201 + 709426 + 1 = 10210201 + 709427
0000010210200 20 2003,5,7,11,13,17000000 10000000

709427 =17 x 29 x 1439 x 1

oooo
2P + 1 = 17(60060n + 41731)

oboobOoobo1iToooboooO00oobOboOooObO0oo0bDO0o0obOoobUobDUoOobDbOobobOoo
good

Q=13547190000
P = 510510n + 354719

2P + 1 = 2(510510n + 354719) 4+ 1 = 10210201 + 709438 + 1 = 10210201 + 709439
0000010210200 20 2003,5,7,11,13,17000000 1000000
709439 = 397 x 1787 x 1
0000 10210200000000000000
2P + 1 = 510510m + 198929

gbobogobooobooboboobboobbooobuooooboon

Q=354721 0000
P = 510510n + 354721

2P 4+ 1 =2(510510n + 354721) + 1 = 1021020n + 709442 + 1 = 10210201 + 709443

159



0000010210200 20 2003,5,7,11,13,17000000 10000000

709443 =3 x 3 x 7 x 11261 x 1

oooo
2P + 1 = 21(48620n + 33783)

oboobooobo21000ob0bo0ob00oobobooobooo0b0o0obooboboooobOoobOoo
good

Q=1354727 0000
P = 5105100 + 354727

2P + 1 = 2(510510n + 354727) + 1 = 10210201 + 709454 + 1 = 10210201 + 709455
0000010210200 20 2003,5,7,11,13,17000000 10000000

709455 = 3 x 5 x 47297 x 1

oooo
2P + 1 = 15(68068n + 47297)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q=3547330000
P = 510510n + 354733

2P 4+ 1 =2(510510n + 354733) + 1 = 10210201 + 709466 + 1 = 1021020n + 709467
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P = 5105100 + 354737
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P = 510510n + 354743

2P + 1 = 2(510510n + 354743) 4+ 1 = 10210201 4 709486 + 1 = 10210201 + 709487
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P = 510510n + 354749

2P 4+ 1 = 2(510510n + 354749) + 1 = 1021020n + 709498 + 1 = 10210201 + 709499
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2P 4+ 1 =2(510510n + 354763) + 1 = 10210201 + 709526 + 1 = 1021020n + 709527
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Q=1354769 0000
P = 510510n + 354769

2P + 1 = 2(510510n + 354769) 4+ 1 = 10210201 4+ 709538 + 1 = 10210201 4 709539
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 2(510510n + 354779) 4+ 1 = 10210201 + 709558 + 1 = 10210201 + 709559
0000010210200 20 2003,5,7,11,13,17000000 1000000
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gooboobooobooboboobboobboobuooobooo

Q=3547870000
P = 510510n + 354787
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Q=13547910000
P = 510510n + 354791

2P 4+ 1 =2(510510n + 354791) + 1 = 1021020n + 709582 + 1 = 1021020n + 709583
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o0obOooOOoovy0oo00obO0oO0oO00o0obO0oDOOoOD0oO0bOOobOODOOobODOobO0oOobOobDOobDOn
goo

Q=13547930000
P = 510510n + 354793

2P 4+ 1 =2(510510n + 354793) + 1 = 10210201 + 709586 + 1 = 1021020n + 709587
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Q=3547970000
P = 510510n + 354797

2P + 1 = 2(510510n + 354797) + 1 = 10210201 + 709594 + 1 = 10210201 + 709595
0000010210200 20 2003,5,7,11,13,17000000 10000000

709595 =5 x 139 x 1021 x 1
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Q=23548110000
P = 510510n + 354811

2P + 1 = 2(510510n + 354811) 4+ 1 = 10210201 4 709622 + 1 = 10210201 + 709623
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=13548170000
P = 5105100 + 354817

2P 4+ 1 =2(510510n + 354817) + 1 = 1021020n + 709634 + 1 = 10210201 + 709635
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P = 510510n + 354821

2P + 1 = 2(510510n + 354821) + 1 = 1021020 + 709642 + 1 = 10210201 + 709643
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 11(92820n + 64513)
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Q=13548290000
P = 510510n + 354829

2P + 1 = 2(510510n + 354829) + 1 = 10210201 + 709658 + 1 = 10210201 + 709659
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 3(340340n + 236553)
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P = 510510n + 354833
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P = 510510n + 354839

2P + 1 = 2(510510n + 354839) 4+ 1 = 10210201 4 709678 + 1 = 10210201 + 709679
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709679 = 709679 x 1
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Q=3548470000
P = 5105100 + 354847

2P + 1 =2(510510n + 354847) + 1 = 1021020n + 709694 + 1 = 10210201 + 709695

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=354853 0000
P = 510510n + 354853

2P + 1 =2(510510n + 354853) + 1 = 10210201 + 709706 + 1 = 1021020n + 709707

0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 354857
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ooooooooboso0oooobobooooooobooooooobooOoboboooooobbOBbOoOn
ooo

Q=354859 0000
P = 5105100 + 354859

2P 4+ 1 = 2(510510n + 354859) + 1 = 10210201 4 709718 + 1 = 1021020n + 709719
0000010210200 20 2003,5,7,11,13,17000000 10000000

709719 = 3 x 236573 x 1
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Q=3548630000
P = 5105100 + 354863

2P + 1 = 2(510510n + 354863) + 1 = 10210201 4 709726 + 1 = 10210201 + 709727
0000010210200 20 2003,5,7,11,13,17000000 1000000
709727 = 101 x 7027 x 1
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2P + 1 = 510510m + 199217
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Q=354869 0000
P = 510510n + 354869

2P 4+ 1 =2(510510n + 354869) + 1 = 1021020n + 709738 + 1 = 1021020n + 709739
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Q=13548770000
P = 5105100 + 354877

2P + 1 = 2(510510n + 354877) 4+ 1 = 10210201 4 709754 + 1 = 10210200 + 709755
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=354881 0000
P = 510510n + 354881

2P + 1 = 2(510510n + 354881) 4 1 = 10210201 + 709762 + 1 = 10210201 + 709763
0000010210200 20 2003,5,7,11,13,17000000 1000000

709763 = 317 x 2239 x 1
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2P 4+ 1 =510510m + 199253
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Q=3548830000
P = 510510n + 354883

2P 4+ 1 =2(510510n + 354883) + 1 = 10210201 + 709766 + 1 = 1021020n + 709767

0000010210200 20 2003,5,7,11,13,17000000 10000000

709767 = 3 x 3 x 17 x 4639 x 1
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2P + 1 =51(20020n + 13917)
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Q=354880 0000
P = 510510n + 354889

2P + 1 =2(510510n + 354889) + 1 = 1021020n + 709778 + 1 = 1021020n + 709779
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Q=354809 0000
P = 5105100 + 354899

2P 4+ 1 = 2(510510n + 354899) + 1 = 10210201 4 709798 + 1 = 1021020n + 709799
0000010210200 20 2003,5,7,11,13,17000000 1000000

709799 = 709799 x 1
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2P 4+ 1 =510510m + 199289
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Q=3549010000
P = 510510n + 354901

2P + 1 = 2(510510n + 354901) 4+ 1 = 10210201 4+ 709802 + 1 = 10210201 4 709803
0000010210200 20 2003,5,7,11,13,17000000 10000000

709803 =3 x3x3x3x3x23x127x1
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2P + 1 = 3(340340n + 236601)
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Q=23549110000
P = 510510n + 354911

2P + 1 =2(510510n + 354911) + 1 = 1021020n + 709822 + 1 = 1021020n + 709823

0000010210200 20 2003,5,7,11,13,17000000 1000000

709823 = 709823 x 1
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2P 4+ 1 =510510m + 199313
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Q=3549170000
P = 5105100 + 354917

2P + 1 = 2(510510n + 354917) 4+ 1 = 10210201 4 709834 + 1 = 10210201 + 709835
0000010210200 20 2003,5,7,11,13,17000000 10000000

709835 =5 x 7 x 17 x 1193 x 1
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2P +1 =1595(1716n + 1193)
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Q=3549190000
P = 510510n + 354919

2P + 1 = 2(510510n + 354919) 4 1 = 10210201 + 709838 + 1 = 10210201 + 709839
0000010210200 20 2003,5,7,11,13,17000000 10000000

709839 = 3 x 3 x 13 x 6067 x 1
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Q=354923 0000
P = 510510n + 354923

2P 4+ 1 = 2(510510n + 354923) + 1 = 10210200 + 709846 + 1 = 10210200 + 709847
0000010210200 20 2003,5,7,11,13,17000000 1000000
709847 = 709847 x 1
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2P + 1 = 510510m + 199337
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Q=23549290000
P = 510510n + 354929
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Q=3549310000
P = 510510n + 354931

2P + 1 = 2(510510n + 354931) 4 1 = 10210201 4 709862 + 1 = 10210201 + 709863
0000010210200 20 2003,5,7,11,13,17000000 10000000

709863 =3 x 7T x7x11 x439 x 1
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Q=3549410000
P = 510510n + 354941
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2P + 1 =2(510510n + 354947) + 1 = 1021020n + 709894 + 1 = 10210201 + 709895
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P = 510510n + 354953

2P + 1 =2(510510n + 354953) + 1 = 10210201 + 709906 + 1 = 1021020n + 709907
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Q=13549610000
P = 510510n + 354961

2P + 1 =2(510510n + 354961) + 1 = 10210201 + 709922 + 1 = 10210201 + 709923
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oooo
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Q=3549670000
P = 510510n + 354967

2P + 1 = 2(510510n + 354967) + 1 = 10210201 + 709934 + 1 = 10210201 + 709935
0000010210200 20 2003,5,7,11,13,17000000 10000000

709935 =3 x5 x 19 x47x 53 x 1
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Q=3549730000
P = 510510n + 354973

2P + 1 = 2(510510n + 354973) + 1 = 10210201 + 709946 + 1 = 10210201 + 709947
0000010210200 20 2003,5,7,11,13,17000000 10000000

709947 =3 x 3 x 7TxH9 x 191 x 1
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Q=13549790000
P = 510510n + 354979

2P + 1 = 2(510510n + 354979) + 1 = 10210201 4+ 709958 + 1 = 10210201 4 709959
0000010210200 20 2003,5,7,11,13,17000000 10000000

709959 = 3 x 236653 x 1
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P = 510510n + 354983
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709995 =3 x 5 x 11 x 13 x 331 x 1

oooo
2P + 1 = 2145(476n + 331)

00000000245 000000000000000000000D000O00DO0O00ODO0ODOO
googn

Q=3550010000
P = 510510n + 355001

2P 4+ 1 =2(510510n + 355001) + 1 = 1021020n + 710002 + 1 = 1021020n + 710003

0000010210200 20 2003,5,7,11,13,17000000 10000000

710003 = 7 x 101429 x 1

oooo
2P + 1 = 7(145860n + 101429)

goooooogvyoUooOOoO0oOoO0OOoU0OOU0ODOOU0DODO0ODOOU0ODOOUODOODOOUODOO
goo

174
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P = 5105101 + 355007
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P = 510510n + 355009
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2P 4+ 1 = 2(510510n + 355639) + 1 = 10210201 4 711278 + 1 = 1021020n + 711279
0000010210200 20 2003,5,7,11,13,17000000 10000000

711279 = 3 x 3 x 79031 x 1

good
2P + 1 = 3(340340n + 237093)
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Q=3556430000
P = 510510n + 355643

2P + 1 = 2(510510n + 355643) 4+ 1 = 10210201 + 711286 + 1 = 10210200 + 711287
0000010210200 20 2003,5,7,11,13,17000000 1000000
711287 = 711287 x 1
0000 10210200000000000000
2P + 1 = 510510m + 200777
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Q=3556510000
P = 510510n + 355651

2P 4+ 1 =2(510510n + 355651) + 1 = 1021020n + 711302 + 1 = 1021020n + 711303
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711303 =3 x 19 x 12479 x 1

oooo
2P + 1 = 3(340340n + 237101)
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Q=13556610000
P = 510510n + 355661

2P + 1 = 2(510510n + 355661) 4+ 1 = 10210201 + 711322 4+ 1 = 10210201 + 711323
0000010210200 20 2003,5,7,11,13,17000000 1000000

711323 = 461 x 1543 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 200813
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Q =355669 0000
P = 510510n + 355669

2P + 1 = 2(510510n + 355669) 4+ 1 = 10210201 + 711338 4+ 1 = 10210201 + 711339
0000010210200 20 2003,5,7,11,13,17000000 10000000

711339 = 3 x 67 x 3539 x 1

oooo
2P + 1 = 3(340340n + 237113)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3556730000
P = 510510n + 355673

2P + 1 =2(510510n + 355673) + 1 = 1021020n + 711346 + 1 = 1021020n + 711347

0000010210200 20 2003,5,7,11,13,17000000 10000000

711347 =7 x 13 x 7817 x 1

oooo
2P + 1 = 91(11220n + 7817)
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Q=355679 0000
P = 510510n + 355679

2P + 1 =2(510510n + 355679) + 1 = 1021020n + 711358 + 1 = 1021020n + 711359

0000010210200 20 2003,5,7,11,13,17000000 10000000

711359 =11 x 11 x 5879 x 1

oooo
2P + 1 = 11(92820n + 64669)
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Q=3556810000
P = 510510n + 355681

2P + 1 =2(510510n + 355681) + 1 = 1021020n + 711362 + 1 = 10210201 + 711363

0000010210200 20 2003,5,7,11,13,17000000 10000000

711363 = 3 x 59 x 4019 x 1

oooo
2P + 1 = 3(340340n + 237121)
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Q=355687 0000
P = 510510n + 355687

2P + 1 = 2(510510n + 355687) + 1 = 10210201 + 711374 + 1 = 10210201 + 711375
0000010210200 20 2003,5,7,11,13,17000000 10000000

711375 =3 xH X b XxHxT7Tx271 x1

oooo
2P 4+ 1 =105(9724n + 6775)
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good

Q =355697 0000
P = 510510n + 355697
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2P + 1 =2(510510n 4 355697) + 1 = 1021020n + 711394 + 1 = 1021020n + 711395

0000010210200 20 2003,5,7,11,13,17000000 10000000

711395 =5 x 79 x 1801 x 1

oooo
2P + 1 = 5(204204n + 142279)
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Q=2355699 0000
P = 510510n + 355699

2P + 1 = 2(510510n + 355699) + 1 = 10210201 + 711398 + 1 = 10210201 + 711399
0000010210200 20 2003,5,7,11,13,17000000 10000000

711399 =3 x 13 x 17 x 29 x 37 x 1

good
2P +1 = 663(1540n + 1073)
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Q=13557030000
P = 510510n + 355703

2P + 1 = 2(510510n + 355703) 4+ 1 = 10210201 4 711406 + 1 = 10210200 + 711407
0000010210200 20 2003,5,7,11,13,17000000 1000000
711407 = 337 x 2111 x 1
0000 10210200000000000000
2P + 1 = 510510m + 200897
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Q=355709 0000
P = 510510 + 355709

2P 4+ 1 =2(510510n + 355709) + 1 = 1021020n + 711418 + 1 = 1021020n + 711419

0000010210200 20 2003,5,7,11,13,17000000 1000000

711419 = 31 x 53 x 433 x 1
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2P 4+ 1 = 510510m + 200909
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Q=3557110000
P = 510510n + 355711

2P + 1 = 2(510510n + 355711) 4+ 1 = 10210200 4 711422 + 1 = 10210201 + 711423
0000010210200 20 2003,5,7,11,13,17000000 10000000

711423 =3 x 3 x 3 x 3 x 8783 x 1

oooo
2P + 1 = 3(340340n + 237141)
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Q=3557170000
P = 510510n + 355717

2P + 1 = 2(510510n + 355717) 4+ 1 = 10210201 + 711434 + 1 = 10210200 + 711435
0000010210200 20 2003,5,7,11,13,17000000 10000000

711435 =3 x 5 x 43 x 1103 x 1

oooo
2P + 1 = 15(68068n + 47429)
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good

Q=355721 0000
P = 5105100 + 355721

2P 4+ 1 =2(510510n + 355721) + 1 = 1021020n + 711442 + 1 = 1021020n + 711443

0000010210200 20 2003,5,7,11,13,17000000 1000000

711443 = 61 x 107 x 109 x 1
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2P 4+ 1 = 510510m + 200933
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Q=3557230000
P = 510510n + 355723

2P + 1 = 2(510510n + 355723) 4+ 1 = 10210201 4 711446 + 1 = 10210200 + 711447
0000010210200 20 2003,5,7,11,13,17000000 10000000

711447 =3 x 11 x 21559 x 1

oooo
2P + 1 = 33(30940n + 21559)
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Q=3557270000
P = 510510n + 355727

2P + 1 = 2(510510n + 355727) + 1 = 10210201 + 711454 + 1 = 10210200 + 711455
0000010210200 20 2003,5,7,11,13,17000000 10000000

711455 =5 x 19 x 7489 x 1

oooo
2P + 1 = 5(204204n + 142291)
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Q=13557390000
P = 5105100 + 355739

2P + 1 = 2(510510n + 355739) 4+ 1 = 10210201 + 711478 4+ 1 = 10210201 + 711479
0000010210200 20 2003,5,7,11,13,17000000 1000000
711479 = 711479 x 1
0000 10210200000000000000
2P + 1 = 510510m + 200969
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Q=3557410000
P = 510510n + 355741

2P 4+ 1 =2(510510n + 355741) + 1 = 1021020n + 711482 + 1 = 1021020n + 711483
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0000010210200 20 2003,5,7,11,13,17000000 10000000

711483 = 3 x 237161 x 1

oooo
2P + 1 = 3(340340n + 237161)
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goo

Q =3557530000
P = 510510n + 355753

2P + 1 = 2(510510n + 355753) 4+ 1 = 10210201 4 711506 + 1 = 10210201 + 711507
0000010210200 20 2003,5,7,11,13,17000000 10000000

711507 = 3 x 487 x 487 x 1

oooo
2P + 1 = 3(340340n + 237169)
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goo

Q=3557570000
P = 510510n + 355757

2P + 1 = 2(510510n + 355757) + 1 = 1021020n + 711514 + 1 = 1021020n + 711515
0000010210200 20 2003,5,7,11,13,17000000 10000000

711515 =5 x 7 x 29 x 701 x 1

oooo
2P + 1 = 35(29172n + 20329)
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goodg

Q=3557630000
P = 510510n + 355763

2P 4+ 1 =2(510510n + 355763) + 1 = 10210201 + 711526 + 1 = 1021020n 4 711527

0000010210200 20 2003,5,7,11,13,17000000 1000000

711527 = 677 x 1051 x 1

oooo 10210200 000000000000

2P +1 =510510m 4+ 201017
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Q=355769 0000
P = 510510n + 355769

2P + 1 = 2(510510n + 355769) 4+ 1 = 10210201 + 711538 4+ 1 = 10210201 + 711539
0000010210200 20 2003,5,7,11,13,17000000 1000000

711539 = 711539 x 1

o000 10210200 000000000000

2P +1 = 510510m + 201029
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Q=3557770000
P = 510510n + 355777

2P + 1 = 2(510510n + 355777) + 1 = 10210201 + 711554 + 1 = 10210201 + 711555
0000010210200 20 2003,5,7,11,13,17000000 10000000

711555 =3 x H x 13 x 41 x 89 x 1

oooo
2P + 1 = 195(5236n + 3649)
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good

Q=3557810000
P = 510510n + 355781

2P + 1 = 2(510510n + 355781) 4+ 1 = 10210201 + 711562 + 1 = 10210201 + 711563
0000010210200 20 2003,5,7,11,13,17000000 1000000
711563 = 711563 x 1
0000 10210200000000000000
2P + 1 = 510510m + 201053

gbobogobooobooboboobboobbooobuooooboon

Q=3557830000
P = 510510n + 355783

2P 4+ 1 =2(510510n + 355783) + 1 = 10210201 + 711566 + 1 = 1021020n 4 711567
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0000010210200 20 2003,5,7,11,13,17000000 10000000

711567 = 3 x 3 x 79063 x 1

oooo
2P + 1 = 3(340340n + 237189)
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goo

Q =355787 0000
P = 510510n + 355787

2P + 1 = 2(510510n + 355787) + 1 = 10210201 + 711574 + 1 = 10210200 + 711575
0000010210200 20 2003,5,7,11,13,17000000 10000000

711575 =5 x 5 x 28463 x 1

oooo
2P + 1 = 5(204204n + 142315)
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goo

Q=355799 0000
P = 510510n + 355799

2P 4+ 1 =2(510510n + 355799) + 1 = 1021020n + 711598 + 1 = 1021020n + 711599
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

711599 =7 x 59 x 1723 x 1

oooo
2P + 1 = 7(145860n + 101657)
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Q=1355801 0000
P = 5105100 + 355801

2P 4+ 1 =2(510510n + 355801) + 1 = 1021020n + 711602 + 1 = 1021020n + 711603

0000010210200 20 2003,5,7,11,13,17000000 10000000

711603 = 3 x 3 x 17 x 4651 x 1

oooo
2P + 1 = 51(20020n + 13953)
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Q=355807 0000
P = 510510n + 355807

2P 4+ 1 =2(510510n + 355807) + 1 = 1021020n + 711614 + 1 = 1021020n + 711615

0000010210200 20 2003,5,7,11,13,17000000 10000000

711615 =3 x 5 x 47441 x 1

oooo
2P + 1 = 15(68068n + 47441)
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good

Q=23558110000
P = 510510n + 355811

2P + 1 =2(510510n + 355811) + 1 = 1021020n + 711622 + 1 = 10210201 + 711623

0000010210200 20 2003,5,7,11,13,17000000 10000000

711623 = 11 x 64693 x 1

oooo
2P + 1 = 11(92820n + 64693)

goooooboOolnoobooO0ooobO0bOobOoU0oOoU0oOoOoDOobDOoOoDOobDOobDobOoboOoooO
good

Q=3558130000
P = 510510n + 355813

2P + 1 = 2(510510n + 355813) + 1 = 10210201 + 711626 + 1 = 10210201 + 711627
0000010210200 20 2003,5,7,11,13,17000000 10000000

711627 =3 X 7T X 7 x 47 x 103 x 1

oooo
2P + 1 = 21(48620n + 33887)
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good

Q=13558190000
P = 510510n + 355819
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2P + 1 =2(510510n + 355819) + 1 = 1021020n + 711638 + 1 = 1021020n + 711639

0000010210200 20 2003,5,7,11,13,17000000 10000000

711639 = 3 x 3 x 3 x 26357 x 1

oooo
2P + 1 = 3(340340n + 237213)
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goo

Q=3558200000
P = 510510n + 355829

2P + 1 = 2(510510n + 355829) + 1 = 10210201 + 711658 + 1 = 10210201 + 711659
0000010210200 20 2003,5,7,11,13,17000000 10000000

711659 =13 x 13 x 4211 x 1

oooOo
2P + 1 = 13(78540n + 54743)

o00o0obO0o0ob013oooboooooooOoooobooobOOo0obooboboDoooDbOooDbOoo
good

Q=1355837 0000
P = 5105101 + 355837

2P + 1 = 2(510510n + 355837) 4+ 1 = 10210201 4 711674 + 1 = 10210200 + 711675
0000010210200 20 2003,5,7,11,13,17000000 10000000

711675 =3 x 3 x5 x 5 x 3163 x 1

oooo
2P + 1 = 15(68068n + 47445)

gooooOooOoboobooOooobOoboobooUooUoooDOobDOoOoDOobDOoboooboOooog
good

Q=13558410000
P = 510510n + 355841

2P 4+ 1 =2(510510n + 355841) + 1 = 1021020n + 711682 + 1 = 1021020n + 711683

0000010210200 20 2003,5,7,11,13,17000000 10000000

711683 =7 x 19 x 5351 x 1
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goo

Q=3558430000
P = 5105100 + 355843

2P 4+ 1 = 2(510510n + 355843) + 1 = 10210200 + 711686 + 1 = 10210200 + 711687
0000010210200 20 2003,5,7,11,13,17000000 10000000

711687 = 3 x 61 x 3889 x 1

oooo
2P + 1 = 3(340340n + 237229)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbBbOoOn
ooo

Q=3558470000
P = 5105100 + 355847

2P + 1 = 2(510510n + 355847) 4+ 1 = 10210201 4 711694 + 1 = 10210201 + 711695
0000010210200 20 2003,5,7,11,13,17000000 10000000

711695 = 5 x 37 x 3847 x 1

oooo
2P + 1 = 5(204204n + 142339)

gboobobooosObobobobooboboobobDoboobobOobUobDoboDoboboobOobDOobooo
goo

Q=3558530000
P = 510510n + 355853

2P + 1 =2(510510n + 355853) + 1 = 1021020n + 711706 + 1 = 1021020n + 711707

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

711707 = 711707 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 201197
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Q=355867 0000
P = 5105101 + 355867

2P + 1 = 2(510510n + 355867) 4+ 1 = 10210201 4 711734 + 1 = 10210200 + 711735
0000010210200 20 2003,5,7,11,13,17000000 10000000

711735 =3 x 5 x 23 x 2063 x 1

oooo
2P + 1 = 15(68068n + 47449)
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Q=13558710000
P = 510510n + 355871

2P + 1 = 2(510510n + 355871) 4+ 1 = 1021020n + 711742 + 1 = 10210200 + 711743
0000010210200 20 2003,5,7,11,13,17000000 1000000

711743 = 733 x 971 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 201233
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Q=3558770000
P = 510510n + 355877

2P 4+ 1 =2(510510n + 355877) + 1 = 1021020n + 711754 + 1 = 1021020n + 711755

0000010210200 20 2003,5,7,11,13,17000000 10000000

711755 =5 x 11 x 12941 x 1
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2P + 1 = 55(18564n + 12941)
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good

Q=355879 0000
P = 510510 + 355879

2P 4+ 1 =2(510510n + 355879) + 1 = 1021020n + 711758 + 1 = 1021020n + 711759
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711759 = 3 x 19 x 12487 x 1

good
2P + 1 = 3(340340n + 237253)
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goo

Q=13558890 0000
P = 5105100 + 355889

2P + 1 = 2(510510n + 355889) 4+ 1 = 10210201 + 711778 4+ 1 = 10210201 + 711779
0000010210200 20 2003,5,7,11,13,17000000 1000000

711779 = 43 x 16553 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 201269

gboboobogobooboboobboobbooobuoonooboon

Q=355891 0000
P =510510n + 355891

2P + 1 = 2(510510n + 355891) 4+ 1 = 10210201 + 711782 + 1 = 10210201 + 711783
0000010210200 20 2003,5,7,11,13,17000000 10000000

711783 = 3 x 3 x 79087 x 1

oooo
2P + 1 = 3(340340n + 237261)

oooooooo3sooooooooobooooboOobooboobDOoobboODoOobDboOoDboO
goo

Q=355897 0000
P = 510510n + 355897

2P + 1 =2(510510n + 355897) + 1 = 1021020n + 711794 + 1 = 1021020n + 711795

0000010210200 20 2003,5,7,11,13,17000000 10000000

711795 =3 X 5 X 7 x 6779 x 1

oooo
2P + 1 = 105(9724n + 6779)
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Q=3559030000
P = 510510n + 355903

2P + 1 =2(510510n + 355903) + 1 = 1021020n + 711806 + 1 = 1021020n + 711807

0000010210200 20 2003,5,7,11,13,17000000 10000000

711807 =3 x 17 x 17 x 821 x 1

oooo
2P + 1 = 51(20020n + 13957)
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good

Q=1355007 0000
P = 5105101 + 355907

2P 4+ 1 =2(510510n + 355907) + 1 = 1021020n + 711814 + 1 = 1021020n + 711815

0000010210200 20 2003,5,7,11,13,17000000 10000000

711815 =5 x 13 x 47 x 233 x 1

0ooo
2P + 1 = 65(15708n + 10951)
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good

Q=1355909 0000
P = 510510n + 355909

2P + 1 = 2(510510n + 355909) + 1 = 10210201 + 711818 + 1 = 10210201 + 711819
0000010210200 20 2003,5,7,11,13,17000000 10000000

711819 =3 x 3 x 139 x 569 x 1

good
2P + 1 = 3(340340n + 237273)
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Q=13559130000
P = 510510n + 355913
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2P + 1 =2(510510n + 355913) + 1 = 1021020n + 711826 + 1 = 1021020n + 711827

0000010210200 20 2003,5,7,11,13,17000000 1000000

711827 = 23 x 30949 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m 4+ 201317
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Q=13559190000
P = 5105100 + 355919

2P + 1 = 2(510510n + 355919) 4+ 1 = 10210201 + 711838 + 1 = 10210201 + 711839
0000010210200 20 2003,5,7,11,13,17000000 1000000

711839 = 711839 x 1

OOo0o0D 10210200 000000000000

2P + 1 = 510510m + 201329
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Q=3559210000
P = 510510n + 355921

2P + 1 =2(510510n + 355921) + 1 = 1021020n + 711842 + 1 = 1021020n + 711843
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

711843 =3 x 11 x 11 x 37 x b3 x 1

oooo
2P + 1 = 33(30940n + 21571)
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good

Q=13559310000
P = 510510n + 355931

2P 4+ 1 =2(510510n + 355931) + 1 = 1021020n + 711862 + 1 = 10210201 + 711863

0000010210200 20 2003,5,7,11,13,17000000 1000000

711863 = 29 x 24547 x 1
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Q=13559330000
P = 510510n + 355933

2P + 1 = 2(510510n + 355933) 4+ 1 = 10210201 4 711866 + 1 = 10210201 + 711867
0000010210200 20 2003,5,7,11,13,17000000 10000000

711867 =3 x 13 x 18253 x 1

oooo
2P + 1 = 39(26180n + 18253)

gooOooOooOo3ooooooob0oboobooUoboUoo0oDoOobDOooDOobDOoboooboOooo
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Q=2355937 0000
P = 510510n + 355937
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P = 510510n + 357143

2P + 1 = 2(510510n + 357143) 4+ 1 = 10210201 + 714286 + 1 = 10210201 + 714287
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2P + 1 =2(510510n + 357151) + 1 = 1021020n + 714302 + 1 = 1021020n + 714303
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Q=3571630000
P = 510510n + 357163

2P + 1 = 2(510510n + 357163) 4+ 1 = 10210201 + 714326 + 1 = 10210200 + 714327
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P = 510510n + 357167
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714335 = 5 x 142867 x 1
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Q=3571690000
P = 510510n + 357169

2P 4+ 1 = 2(510510n + 357169) + 1 = 10210201 4 714338 + 1 = 1021020n + 714339
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Q=3571730000
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2P + 1 =2(510510n + 357173) + 1 = 1021020n + 714346 + 1 = 1021020n + 714347
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Q=3571910000
P = 510510n + 357191

2P + 1 = 2(510510n + 357191) 4+ 1 = 10210201 + 714382 + 1 = 10210201 + 714383
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oooo
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gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=3571970000
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2P + 1 =2(510510n + 357197) + 1 = 1021020n + 714394 + 1 = 1021020n + 714395
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2P + 1 = 55(18564n + 12989)
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P = 510510 + 357199

2P 4+ 1 =2(510510n + 357199) + 1 = 1021020n + 714398 + 1 = 1021020n + 714399
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o00o0obO0oobo210000b00000obOb00oo0b00oo0bO0o0obo0obooDoooboOoobOoo
good
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P = 510510n + 357209

2P + 1 = 2(510510n + 357209) 4+ 1 = 10210201 + 714418 + 1 = 10210201 + 714419
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P = 510510n + 357223

2P + 1 =2(510510n + 357223) + 1 = 1021020n + 714446 + 1 = 1021020n + 714447
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2P + 1 = 3(340340n + 238149)
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P = 510510n + 357233

2P 4+ 1 = 2(510510n + 357233) + 1 = 10210200 + 714466 + 1 = 10210200 + 714467
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P = 510510n + 357239

2P + 1 = 2(510510n + 357239) 4+ 1 = 10210200 + 714478 + 1 = 10210201 + 714479
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2P 4+ 1 =2(510510n + 357241) + 1 = 1021020n + 714482 + 1 = 1021020n + 714483
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P = 510510n + 357251

2P + 1 = 2(510510n + 357251) 4+ 1 = 10210201 + 714502 + 1 = 10210201 + 714503
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o000 10210200 0000000000000
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P = 5105100 + 357257

2P + 1 = 2(510510n + 357257) + 1 = 10210201 4 714514 + 1 = 10210200 + 714515
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714515 = 5 x 142903 x 1

oooo
2P + 1 = 5(204204n + 142903)
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Q=3572630000
P = 510510n + 357263

2P + 1 =2(510510n + 357263) + 1 = 1021020n + 714526 + 1 = 1021020n + 714527
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714527 =11 x 17 x 3821 x 1
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2P + 1 = 187(5460n + 3821)
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P = 510510n + 357271

2P + 1 = 2(510510n + 357271) 4+ 1 = 10210200 + 714542 + 1 = 10210201 + 714543
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714543 = 3 x 238181 x 1
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2P + 1 = 3(340340n + 238181)
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Q=3572770000
P = 510510n + 357277

2P 4+ 1 = 2(510510n + 357277) + 1 = 10210200 + 714554 + 1 = 1021020n + 714555
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2P + 1 = 15(68068n + 47637)
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P = 510510n + 357281

2P + 1 = 2(510510n + 357281) 4+ 1 = 10210201 + 714562 + 1 = 10210201 + 714563
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0000 10210200000000000000
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P = 510510n + 357307
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 357311

2P + 1 =2(510510n + 357311) + 1 = 1021020n + 714622 + 1 = 1021020n + 714623
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P = 510510n + 357317

2P 4+ 1 =2(510510n + 357317) + 1 = 1021020n + 714634 + 1 = 1021020n + 714635
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P = 510510n + 357319

2P + 1 = 2(510510n + 357319) 4+ 1 = 10210201 + 714638 + 1 = 10210201 + 714639
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P = 510510n + 357337
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2P + 1 =2(510510n 4 357337) + 1 = 1021020n + 714674 + 1 = 1021020n + 714675
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P = 5105100 + 357341

2P + 1 = 2(510510n + 357341) 4+ 1 = 10210201 + 714682 + 1 = 10210201 + 714683
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714683 = 151 x 4733 x 1
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Q=13573470000
P = 510510n + 357347

2P + 1 = 2(510510n + 357347) 4+ 1 = 10210201 + 714694 + 1 = 10210201 + 714695
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714695 = 5 x 142939 x 1
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Q=13573490000
P = 5105100 + 357349

2P 4+ 1 =2(510510n + 357349) + 1 = 1021020n + 714698 + 1 = 1021020n + 714699
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714699 = 3 x 3 x 79411 x 1
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Q=3573530000
P = 510510n + 357353

2P 4+ 1 =2(510510n + 357353) + 1 = 1021020n + 714706 + 1 = 1021020n + 714707
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